Parts you can

See the full range
‘ I ng b ‘ i and oraer online at:
WWW.vapormatic.cont

(AP VAPORMATIC




VAPORMATIC

Drive Shafts
and Components
Suitable for Agricultural and Industrial applications

Welcome to the New Vapormatic PTO Catalogue

Recognised within the industry as one of the easiest to use, Vapormatic's PTO catalogue enables
you to find products quickly and efficiently. This new catalogue is no exception with updated
product, features and information.

The catalogue proudly presents over 790 Vapormatic solutions for your PTO shaft and
component needs. The parts included in this catalogue are direct replacements suitable for
Bondioli, Walterscheid and general applications. The range, developed with our manufacturing
partner Benzi and Di Terlizzi, is designed to meet the requirements of customers worldwide.

Benzi and Di Terlizzi was founded in 1955 to manufacture agricultural PTO shafts. Benzi continued
to develop their high quality product range and invest in an international distribution network to
compete on a world wide scale. Today, Benzi are among the world leaders for engineering and
manufacturing PTO drive shafts and have a certified status to many leading OEMs.

All Benzi yokes are steel forged, and are machined by Benzi using the latest technology to ensure
consistency and accuracy of sizes. This enables them to provide maximum performance in all
working environments. Benzi's unique “Quick Fit” safety guards have been designed and tested to
meet the strict European Safety Regulations, and are CE marked.

Divided into 9 sections, this catalogue provides information for the novice and professional alike.
Containing sections with technical support, a guide to identifying PTO shafts, trouble shooting,
safety and maintenance guides; this catalogue makes it easy to identify the replacement PTO
components needed.

Contact your Territory Sales Manager to review the products in this catalogue and discuss how
they can support your business.

“Parts you can TRUST” - the quality message from the Vapormatic brand is carried throughout
this range and backed up by our ISO9001:2015 accredited processes.

VTES5037 VTE1900 VTE1555



Contents

VTE7005

Information

Profile Tube Identification
PTO Series Identification
PTO Power Ratings
Evolution vs Energy
PTO Components

PTO Identification

PTO Safety

PTO Maintenance
Shortening a PTO Shaft
Safety Device Overview
Trouble Shooting
Conversion Chart

PTO Safety Guards
Safety Guard Identification
Safety Guard Kits

Safety Guard Retainers

Shaft Assemblies
Standard Shaft Assemblies

Safety Device Shaft
Assemblies

Wide Angle Shaft Assemblies

PTO - by shaft series
Lemon & Star
Triangular & Spline

PTO - by type
Lemon & Star
Triangular & Spline

1.2
1.3
1.4
1.6
1.7
1.8
1.10
1.1
1.12
1.13
1.14
1.16

2.2
23
2.4

3.4
3.5

PTO Component Parts

Yoke Parts 8.1
Shear Bolt Unit Parts 8.2
Over Run Clutch Parts 8.3
Shear Bolt with Over Run 8.3
Ratchet Clutch Parts 8.4
Friction Clutch Parts 8.5

Automatic Cam Clutch Parts 8.6
Universal Over Run Clutch 8.7
Universal Friction Clutch 8.8

PTO Accessories

Gearbox 9.1
Safety Device 9.2
PTO Equipment 9.3
Guard 9.4
Index

Index 10
Condition of sales 11




Profile Tube ldentification & Specification

706C3 LA Y0TZ3IA 0€S 91 Ei4
T06¢31A TETCALIA 0007 Gt 19 TOTCILIA 009 14 [0i%
006¢31A 0ETCILIA 000T € ¥S 00TC3LIA 009 ¢l G€

aA99|s paullds

Jeq punoy

wuw yibua)

ww § ww y
1210

Jeq paulds

ww yibua)

L00¢3IA  LOEC3IA 9'S 99 0¢0C¢3IN  0CECIIA 9 4]
8T0C3IA  8TECIIA 14 €9 9T0C3IA  9TECIIA 14 £
OTOZAIA  9TEZAUA v bS LT0C3IA  LTEC3IN §'S Ei4
PT0C3IN  PTECIIA € 9719 STocaln - STecaln v 5
¢T0C3IN  CTEcalA e §er ET0CIIN  ETECAIN iv %

0T0C3LA  0TEZ3IA 4 9¢
0TOC3IA  OTECILIA 48 9¢ TT0C3IA  TIEC3IA 14 6¢
800¢3LA  80EC3LA 9'¢ §'¢e 600¢3LA  60€C3IA Gt §'9¢

C¢E0ZALN  CEECZILA 9S S §'/S S'T.L - 920c3lA HSS Sy Ly 179
. - S¢0c3lA HYS - LE TS
TEOZALA  TEEZILA N Sy Ly 19 080ZalA  0SEZalA oS - I5 19

allyoid

allyoid

G00ZALA  S0EZaLA  (sP)ez 12 G'/S 8y 900Z3LA  90€Z3LA  (ST) QT Sv 6V 5'6€
€0023LA  €0£Z3LA 1 € 8Y 117 20023LA  Z0EZALA AQ 2 (0% Sve
T00Z3LA  TOEZALA €0 8 6 0 000Z3LA  00€ZALA €00 o€ 1€ gee

alyoid

alyoid

Jeinbuer|

N&@

@S
e

/m

JIETS

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

1.2


http://www.vapormatic.com/

PTO Series Identification

Use this page in conjunction with the identifying a PTO shaft section on page.....

PTO tube profiles

Lemon

Triangular Splined

4 Tooth

Free rotation

German type (WS)

Italian type (BP)

Standard yoke and UJ

Tube Product U] part : AxB : Product  UJ part
: Tube profile Series
profile range no. (mm) range no.
27x70 w1 VTE5001 4.2 22 x54 1 VTE5S011 5.2
22 x 55 W2100 VTE5000 4.12 ) 24 x 61 2 VTE5003 5.4
Lemon Triangular
24 x 61 W2200 VTE5003 4.14 27x70 3 VTE5001 5.6
27 x 74.6 W2300 VTE5004 4.16 27 x 74.6 4 VTE5004 5.8
34 x90 W11 VTE5002 4.4 30.2x 80 5 VTE5007 5.10
30x92 W220 Energy  VTE5005 4.6 30x92 6 VTE5005 5.12
Le"S“tO” 30.2x106.5  W230 VTES006 4.8 35x 94 7 EMeW \Teso12 514
or Star
35x106.5 W240 VTE5009 4.10 . 35x106.5 8 VTE5009 5.16
Triangular or
32x76 W2400 VTE5008 4.18 Splined 41 x 108 9 VTE5013 5.18
36 x 89 W2500 VTE5010 4.20 41x118 10 VTE5014 5.19
Star 42 x104 W2600 VTE5015 4.22 30.2 x106.5 A7 VTE5006 5.20
t‘:rgt‘;': 32x76 P400 VIES019  4.24 35x106.5 A8 VTE5009 5.2
36 x 89 P500  pyolution VTES029  4.26 4Toothor 24x61 s2 VTE5003  5.24
Star  42x 104 P600 VTE5030  4.28 Free rotation "7 74.6 sS4 VTE5004 5.25
50x 118 P700 VTE5031 4.30 4 Tooth S5 5.26
4Tooth,  302x80 VTE5007
Splined or S6 5.27
Free rotation
4Toothor 30x92 H7 SFT  VTE5005 5.28
35x94 VTE5012
4 Tooth H8 5.30
35x 106.5 S9 VTE5009 5.31
4Toothor " 1075 SH VTES034 5.32
Splined
42 x 130 SO VTE5035 5.33
Wide angle yoke and UJ
Tube AxB/CxD Seri Product UJ part Page Tube : Product UJ part Page
: eries . A (mm) Series
profile (mm) range no. no. profile range no. no.
L 24x61/22x76 W2280 431 22 x 86 4 VTE5037 5.8
emon
27x74.6/23.8x95 W2380 Evoluti VTE5017 4.32 Triangular 27 x 100 6 VTE5038 5.12
volution
Lemon 32x76/27x98 W2480 VTE5033 4.34 30.2 x 106 8 VTE5039 5.16
orstar  36x89/32x110 W2580 VTE2580 4.36 AToothor 22X 76 s2 VTE5036  5.24
Free 22 x 86 S4 VTE5037 5.25
rotation 6
27 x 100 VTE5038
H7 5.28
SFT
30.2x 106 VTE5039 —
4 Tooth
30.2x 122 S9 VTE5041 5.31
349x 112 SH VTE5040 5.32

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

1.3



PTO Power Ratings

Power ratings for standard shafts

Power ratings @ 540rpm Power ratings @ 1000rpm
o o P seres wisze e [ Menaly St eI o wisie Tpeproe
16 210 850 W2100 22x55 Lemon 24 175 850 W2100 22x55 Lemon
16 210 320 1 22x54  Triangle 25 172 320 1 22x54  Triangle
21 270 450 2 24x61  Triangle 31 220 450 2 24x61  Triangle
27 855 1550 W2200 24x61 Lemon 42 295 1550 W2200 24x61 Lemon
30 390 640 3 27x70  Triangle 47 330 640 3 27x70  Triangle
35 460 780 4 27x74.6 Triangle 55 380 780 4 27x74.6 Triangle
38 500 1550 W2300 27x74.6 Lemon 60 415 1550 W2300 27x74.6 Lemon
38 500 2300 W2300 27x74.6 Lemon 60 415 2300 W2300 27x74.6 Lemon
47 620 1050 5 30.2x80 Triangle 74 520 1050 5 30.2x80 Triangle
53 695 2300 W2400 32x76 Lemon 83 580 2300 W2400 32x76 Lemon
60 780 3000 W2400 32x76  Star 93 653 3000 W2400 32x76  Star
60 780 3000 P400  32x76  Star 93 653 3000 P400  32x76  Star
64 830 1450 6 30.2x92 Triangle 100 710 1450 6 30.2x92 Triangle
75 970 1800 7 35x94  Triangle 118 830 1800 7 35x94  Triangle
90 1175 2300 W2500 36x89 Lemon 139 975 2300 W2500 36x89 Lemon
90 1170 3000 W2500 36x89 Star 139 980 3000 W2500 36x89 Star
90 1170 3000 P500  36x89  Star 139 980 3000 P500  36x89  Star
95 1240 2250 8 35x106.5 Triangle 150 1050 2250 8 35x106.5 Triangle
120 1560 2900 9 41x108 Triangle 190 1340 2900 9 41x108 Triangle
125 1625 6000 W2600 42x104 Star 193 1360 6000 W2600 42x104 Star
125 1625 6000 P600  42x104 Star 193 1360 6000 P600  42x104 Star
145 1890 3800 10 41x118 Triangle 230 1630 3800 10 41x118 Triangle
165 2145 6000 P700 50x118 Star 255 1795 6000 P700 50x118 Star

Power ratings for wide angle shafts

Power ratings @ 540rpm Power ratings @ 1000rpm
Alternating Continuous  Peak ' ' . Alternating Continuous  Peak ' . .
Power (HP) Torque  Torque Series UJ Size Tube profile Power (HP) Torque  Torque Series UJ Size Tube profile
(Nm) (Nm) (Nm) (Nm)
27 355 1550 W2280 24x61/22x80 Lemon 42 295 1550 W2280 24x61/22x80 Lemon
38 500 1550  W2380 27x75/24x95 Lemon 60 415 1550  W2380 27x75/24x95 Lemon
38 500 2300 W2380 27x75/24x95 Lemon 60 415 2300 W2380 27x75/24x95 Lemon
53 695 2300 W2480 32x76/27x98 Lemon 83 580 2300 W2480 32x76/27x98 Lemon
53 695 3000 W2480 32x76/27x98 Star 83 580 3000 W2480 32x76/27x98 Star
90 1175 2300 W2580 36x89/32x110 Lemon 139 975 2300 W2580 36x89/32x110 Lemon
90 1175 3000 W2580 36x89/32x110 Star 139 975 3000 W2580 36x89/32x110 Star

Alternating power is defined as load that has large variations from the average load

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

1.4



Notes

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

15



Evolution vs Energy

sinoy 0§ 01 dn uoineoLgn| papuslxgy

dHO0S¢
=111

3 0A (108uu0dsip ¥ainb) ad
le||0d |991s

n__l_OO sdoj Buisojd agni Buidoosa|al

sa|iyouad 21do2sa|9) pauapieH

sa|youd Buigny 1oy uoneoslgn]
sinoy oG 01 dn uoneoLgn| papusix3y

uolrelado ui jou

uolre|nbuy .06 wa1sAs usawabebuasip 19s-ald

slaurelal Izuag prepuels

uoreolign| oy NNINTHd

SS90k Ase]

wayshs Bumy
uoleIqgIA-nuy

a|ddiu asealb ;
[eJ1U82 Y3m ulor N '

9304 (398uuo3asip 32inb) ad

Je|joo onse|d prepueis

pJenb Aajes

sax0A pabuoy jse1s plepuels ayl 10} SINOJ0D MBN

ddVvANV1Ss

ADHINIL

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

1.6


http://www.vapormatic.com/

ureyo Aajes ureyo Ajales

1uiof [esJeAlun

YINVAY

agny Jauu| agny JsinQ Jayons Buiuepy dipp Jsurejal pieng

PTO Components

201Aap Alojes 20K Jauy|

o Jauu) OA Ja)no
dipo Jauieyal preng adfy 10D
(Apoaq)
flqwasse a0k  uieyo Ajejes
ueyo Ajajes a|bue spip

uid [joy juof jesianiun

jutof [esianiun
agn} Jauu| \‘,
1.3)4 [ 3

ADANGER e
. E——

Joyans Buiuiep

agn Jaino dijo Jauejas prengy

ayoA Jano ud jjoy
ases|al yainb aY0A Jauu| a)oA Jauu| JouiEIs! piend
adAy uid _
AiBueagm 804 Jgyno
pienb s|6ue apipn adAy Jejjon

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

1.7


http://www.vapormatic.com/

PTO Identification

Identifying a PTO shaft

The following illustrations describe the steps needed to identify a PTO shaft, guard or component

1. When a repair is being assessed it is important to review the
condition of all the components of the shaft, including the guard
and the safety chain. You should also understand the application
the shaft will be used for to ensure that it will be suitable.

2. With the guard removed, check the condition of the telescoping
tubes and identify the profile. Common tube profiles are lemon and
star (German or WS type) and triangular and splined (ltalian or BP
type). The profile in this example is lemon (see page 1.2 for further
details).

3. Identify the types of yokes fitted to the shaft. They could be wide
angle (WA) shown on the left or standard, shown on the right. A
combination of both could be fitted to the same shaft.

4. Measure the diameter of the universal joint (UJ) cap with a
digital vernier caliper. The UJ cap in this example is 32mm.

5a. Measure the width of the UJ — Method 1:
Place two nuts either side of the UJ and measure the distance

6a. Measure the thickness of both nuts together and subtract from
the previous measurement to give you the width of the UJ (e.g.

across them, taking note of the measurement (e.g. 92.70mm).

92.7 - 16.7 = 76mm).

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

1.8


http://www.vapormatic.com/

PTO ldentification

5b. Measure the width of the UJ — Method 2: 6b. Measure the depth of the cap (avoiding the circlip), multiply by
Measure the width of the entire yoke and take note of the two and subtract from the previous measurement.
measurement (90.9mm). 90.9 - (7.45 x 2) = 76mm

7. This now gives you a UJ size of 32 x 76. Most WA UJ’s (shown
on the left) will have unequal pairs of end caps and widths. In this correct table for your tube profile and find your UJ size. In our
case you will need to measure both pairs of caps. Some caution example this will give you, Lemon, 32 x 76 = W2400.

may be needed when measuring the widths of the UJ'’s as the yoke
ears may have become deformed.

9. Turn to relevant pages in the catalogue to select the parts 10. There could also be a safety device fitted to the machine end.
required. Be aware there are different sizes, and spline It's important to fit the correct device, rated to the correct
configurations available when selecting an outer yoke. specification.

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

1.9



PTO Safety

Safety Guidelines
Always read and understand the machine and/or the PTO user manual before use.
Before approaching the implement to perform any task, ensure:

e The engine is off

¢ Handbrake has been applied

e All controls are in neutral or disengaged
¢ Keys have been removed

¢ Rotating parts have come to a standstill

Avoid wearing loose clothing, garments or accessories. Long hair should be tied back. These could get
caught in rotating components and cause serious injury or death.

Drive shafts and safety devices should be selected based on the implement manufacturer specifications.
If you are unsure on the type or size of shaft needed refer back to the implement manufacturer

Tractor end yokes should use quick release collars. Quick release pins
have a higher risk of entanglements.

Safety devices should be fitted to the implement end.

Before engaging the implement, ensure:

¢ Implement is connected correctly to the tractor

¢ Driveshaft is connected correctly to the tractor and implement. Safety stickers or shaft
markings indicate the “tractor end”

e PTO safety devices are in good condition

e PTO guard chains are installed correctly

e Guards on the implement and tractor are in place and correctly installed. All rotating parts
must be guarded

e Damaged or worn parts are replaced
e Safety labels are correctly attached

Warning: Under no circumstances should you touch any transmission or rotating components whilst the
implement is in operation.

During operation transmission components, such as UJ’'s and safety devices, can get hot, do not touch
until cool and keep nearby areas clear of debris to prevent fires.

Turn off engine before connecting PTO to your machinery

Guard condition
_‘ « Guard fitted securely with no damage or missing parts
+ Rotates independently + Retainer chains fitted

_‘/ Yoke retaining pins and collars

_J * Firmly holds shaft on tractor or machine + Pin or collar moves freely i :
Universal Joints TPl

_I » Greased + Rotate smoothly + No signs of wear <
Tubes

_J « Straight and slide easily « Greased * Tubes overlap sufficiently ¢« No signs of wear

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

1.10


http://www.vapormatic.com/

Maintenance guidelines

PTO Maintenance

Before carrying out any maintenance or repair, read and understand the safety guidelines on the
previous page.

Recommended Lubrication schedule:

Before first | Every 8 | Every 50 | Every 250 | After period
Component . -
use hours hours hours of inactivity
Centre greaser
Universal J yes yes
Joints End cap greaser yes
Overrun clutch or Freewheel clutch yes yes yes
Ratchet clutch or torque limiting es es es
clutch y y y
Shear bolt clutch yes yes yes
Shear bolt with overrun clutch yes Overrun | Shear bolt Both
clutch clutch
Cam type clutch Device requires service after 500 hours (see below)
Friction clutch or Slip clutch No lubrication required

The lubrication schedule listed above is for general working conditions. Lubrication intervals may vary in extreme operating conditions

Cam type clutch servicing

1.
2.

w

Friction Clutch Torque Settings - Spring Lengths:

Check that the cam clutch is in the locked/working position
Using a suitable tool remove the hub seal. This can result in damage to the seal and it may need

replacing (replacement part is VTE7811)

Remove the hub retaining circlip and back up washer

Carefully pull the clutch hub from the housing. The cams
and spring pack should be loose within the hub, and could

fall out.

If not already done so, remove the cams and spring pack
from the hub.
Clean and degrease all components. Inspect for damage or

wear and replace as required
Lubricate all moving components

Assembly is the reverse of disassembly

Two plate friction clutch

Four plate friction clutch

180mm @ 200mm @ 180mm @ 200mm @
Spring 6mm 6mm mm 6mm 7mm 6mm 7mm
length spring wire spring wire spring wire spring wire spring wire spring wire spring wire
28.5mm | 350 — 400Nm | 400 - 500Nm 600 - 700Nm 650 - 750Nm 1000 - 1200Nm 700 - 850Nm 1350 - 1550 Nm
28mm 450 — 500Nm | 500 - 600Nm 750 - 850Nm 850 - 950Nm 1450 - 1650Nm 850 - 1050Nm 1700 - 2000 Nm
27.5mm | 550 - 650Nm | 550 - 650Nm 850 - 1200Nm 950 - 1050Nm 1700 - 2000Nm 1000 - 1200Nm
27mm 650 - 750Nm | 650 - 750Nm 1150 - 1300Nm 1200 - 1400Nm
26.5mm | 750 - 900Nm | 750 - 900Nm 1300 - 1450Nm 1400 - 1600

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

1.11




Shorten a PTO Shaft

The following guide outlines the process for shortening a PTO shaft.

Check the minimum working length of the shaft (Lmin)
e This occurs when the tractor and machine is at maximum turning angle and the front of the
tractor is raised
e The inner and outer tubes should not contact the yokes in operation

Check the maximum working length of the shaft (Lmax)

e This occurs when the tractor and machine is driving straight and the front of the tractor is
lowered

Determine the length of tube to be cut

e Check that minimum tube overlap is observed — please see below

e Split the shaft and remove the safety guards

e Shorten both inner and outer tubes by the same amount

e Deburr the cut edges and clean the tubes — re-grease as
required

e Ensure a safety label (VTE2500, VTE2501) is attached to the
outer telescopic member, tight to the yoke. Please see the
image on the left

Determine the length of the safety guard to be cut
e Shorten the guard by the same amount as the steel tube
e The safety guard should be approximately 40mm shorter than
the steel tube, this will help with assembly.
e Deburr the cut edges and clean the tubes

Reassemble the PTO shaft, checking for correct operation before using

Minimum tube overlap for Triangle, Lemon and Star profiles shafts

Minimum length of shaft (Lmin) smaller than 720mm
e Minimum overlap must be greater than 250mm

Minimum length of shaft (Lmin) greater than 710mm
¢ Minimum overlap must be greater than %2 of L

Minimum tube overlap for Splined shaft with Sleeve

Minimum overlap should be greater than the length of the sleeve
Lmin

Lmax

1/2L

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

1.12


http://www.vapormatic.com/

Safety Device Overview

Friction clutch

Multiple slip clutches control torque for intermittent, continuous, or
overload slip. It will drive in both directions, slip when the torque setting
is reached and resume driving as the load is reduced. Adjusting
external spring sets the torque (see page 1.9).

The unit must be mounted at the implement end of the drive shaft.
Typical applications include rotavators and forage harvesters

Ratchet clutch

This type of clutch prevents overloading by slipping when a pre-set
torque is reached.

To prevent excessive wear the drive must be disengaged as soon as
slippage occurs.

The unit must be mounted on the implement end of the drive shaft
Typical applications include fertiliser distributors.

Over run clutch

This type of clutch will transmit power in one direction only. It is used where
the implement being driven has high inertia and allows the implement to
free wheel when the drive is disengaged.

The unit must be mounted on the implement end of the drive shaft

Typical applications include mowers and large square balers.

Shear bolt clutch

This unit uses a bolt to transmit the torque. If the torque exceeds a
certain value the bolt will shear to prevent overload. The two halves of
the unit are held together by a bearing, which allows them to rotate
independently

The unit must be mounted on the implement end of the drive shaft
Typical applications include vacuum slurry tankers, pasture toppers and
muck spreaders

Automatic cam clutch parts

This type of clutch prevents overloading by slipping when a pre-set
torque is reached. Once the overload has been removed the clutch will
automatically re-engage by decreasing the transmission operation
speed.

Cam type clutches only work in one direction.

The unit should be mounted on the implement end of the drive shaft.
Typical applications include round balers and power harrow

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

1.13



Trouble Shooting

Problem

Possible cause

Solution

PTO shaft is vibrating

PTO shaft has become damaged or worn

Remove PTO shaft and inspect for damage

Yoke ears becoming excessively
worn

Maximum working angle has been
exceeded

Replace yoke, do not exceed maximum
operating angles*

Yoke ears have become
deformed

Excessive torque or shock load causing
damage to the yoke

Replace yoke and avoid overloading
implement

Replace yoke and avoid engaging drive
under load

Faulty safety device causing shock loads
or overloading of the shaft

Service, repair or replace safety device

Yoke ears have become
discoloured

Excessive heat due to overloading,
incorrect operating angle, over speeding or
insufficient lubrication

Replace yoke, do not exceed maximum
operating angles*

Replace yoke and avoid overloading
implement

Replace yoke and avoid exceeded
maximum rated PTO Speed

Replace yoke and refer to the lubrication
schedule

Universal joint ears broken

Excessive torque or shock load causing
damage to the universal joint

Replace yoke and avoid overloading
implement

Replace yoke and avoid engaging drive
under load

Maximum working angle has been
exceeded

Replace yoke, do not exceed maximum
operating angles*

Universal joint becoming
excessively worn

Excessive torque or shock load causing
wear to the universal joint

Replace UJ and avoid overloading
implement

Replace yoke and do not exceed the rated
speed of the implement

Insufficient lubrication

Replace yoke and refer to the lubrication
schedule

Universal joint does not move
freely

Partial seizure due to insufficient lubrication

Replace yoke and refer to the lubrication
schedule

Joint has become seized due to excessive
heat, caused by overloading, operating the
shaft at the incorrect angle or insufficient
lubrication

Replace yoke, do not exceed maximum
operating angles*

Replace yoke and avoid overloading
implement

Replace yoke and do not exceed the rated
speed of the implement

Partial seizing of joint due to inactivity

Grease yoke after use and store in a dry
location

Yoke has become damaged and is out of
square

Replace yoke and avoid engaging drive
under load

Replace yoke and avoid overloading
implement

Replace yoke, do not exceed maximum
operating angles*

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

1.14

www.vaporm atic.com


http://www.vapormatic.com/

Problem

Possible cause

Trouble Shooting

Solution

PTO tubes have become
separated

PTO shaft is too short for the application

Replace PTO tube/shaft and respect the
minimum overlap values — please see how
to shorten a PTO shaft section

PTO tubes have become
deformed

Excessive torque or shock load causing
damage to the PTO shaft

Replace tube, do not exceed maximum
operating angles*

Replace tube and avoid overloading
implement

Replace tube and avoid engaging drive
under load

Damaged caused by contact with tractor or

implement

Avoid contact with tractor or implement

Tubes becoming excessively
worn

Insufficient lubrication

Refer to the lubrication schedule

Safety guard bearing has
become excessively worn

Insufficient lubrication

Refer to the lubrication schedule

Safety guard chain has broken

Chain has been incorrectly fitted

Attach the chain to allow sufficient
movement of the shaft during operation

Safety guard has become
damaged

Damaged caused by contact with Tractor
or implement

Avoid contact with tractor or implement

Safety guard is difficult to slide
apart

Damaged caused by contact with Tractor
or implement

Avoid contact with tractor or implement

*For standard shafts max working angle is 15° @ 540rpm and 8° @ 1000rpm, for wide angle shafts max working angle is 25° for
continuous operation or 80° for short durations

Please note, that operating the PTO shaft at excessive angles will result in shortened life of the PTO shaft assembly

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

1.15


http://www.vapormatic.com/

Unit Conversions

Power Length
1] 1.341 11 0.745 1| 254 11 0.039 11 0.304 1| 3.281
10| 1341 10| 7.45 10| 254 10| 0.39 10| 3.04 10| 32.81
20 | 26.82 20 | 149 20 | 508 20| 0.78 20 | 6.08 20 | 65.62
30 | 40.23 30 | 22.35 30| 762 30| 1.17 30| 9.12 30| 98.43
40 | 53.64 40 | 29.8 40 | 1016 40| 1.56 40 | 12.16 40 | 131.24
50 | 67.05 50 | 37.25 50 | 1270 50 | 1.95 50 | 15.2 50 | 164.05
60 | 80.46 60 | 44.7 60 | 1524 60 | 2.34 60 | 18.24 60 | 196.86
70 | 93.87 70 | 52.15 70 | 1778 70 | 2.73 70 | 21.28 70 | 229.67
80 | 107.28 80| 59.6 80 | 2032 80| 3.12 80 | 24.32 80 | 262.48
90 | 120.69 90 | 67.05 90 | 2286 90 | 351 90 | 27.36 90 | 295.29
100 | 134.1 10| 7.45 100 | 2540 100 3.9 100 | 30.4 100 | 328.1
110 | 147.51 110 | 81.95 110 | 2794 110 | 4.29 110 | 33.44 110 | 360.91
120 | 160.92 120 | 89.4 120 | 3048 120 | 4.68 120 | 36.48 120 | 393.72
Torque
1] 1.355 11]0.138 11]0.738 110.102 1] 7.23 1| 9.807

10 | 13.55 10| 1.38 10| 7.38 10| 1.02 10| 72.3 10 | 98.07
20 27.1 20| 2.76 20 | 14.76 20| 2.04 20 | 144.6 20 | 196.14
30 | 40.65 30| 4.14 30 | 22.14 30| 3.06 30 | 216.9 30 | 294.21
40 54.2 40| 552 40 | 29.52 40| 4.08 40 | 289.2 40 | 392.28
50| 67.75 50 6.9 50| 36.9 50 5.1 50 | 361.5 50 | 490.35
60 81.3 60 | 8.28 60 | 44.28 60 | 6.12 60 | 433.8 60 | 588.42
70 | 94.85 70| 9.66 70 | 51.66 70| 7.14 70 | 506.1 70 | 686.49
80 | 108.4 80 | 11.04 80 | 59.04 80| 8.16 80 | 578.4 80 | 784.56
90 | 121.95 90 | 12.42 90 | 66.42 90| 9.18 90 | 650.7 90 | 882.63
100 | 1355 100 | 13.8 100 | 73.8 100 | 10.2 100 | 723 100 | 980.7
110 | 149.05 110 | 15.18 110 | 81.18 110 | 11.22 110 | 795.3 110 | 1078.8
120 | 162.6 120 | 16.56 120 | 88.56 120 | 12.24 120 | 867.6 120 | 1176.8

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

1.16


http://www.vapormatic.com/

PTO Safety Guards

PTO safety guards 2.2

PTO safety guard kits 2.3

PTO guard retainers 2.4

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

2.1



Safety Guard ldentifier

siaurelas yum 818|dwod paijddns are sprenfi uonnjoa3y “spenf suod 6uoT, "s8yaIN|o UOIDLIS 10} B|CBINS,,

TIOTIIA  TT9TIA  TT9TIA  TT9TAIA TIST3IA 0TST3LA
{T9STIIN
909TILIA  909TILA  909TILA  SO9TILA 22STAIN #TESTAIA  pOSTAIA
SOSTILA
{09ST3IA
¥09TILA  ¥O9TILA TZSTAIA #0ESTALA  Z0STAIA
€0ST3LA
€09T3LA  ZO9TILA | 0ZGTAIA  TOSTILA 00ST3LA

X X i X i X 1 XZ X X XZ ‘YL X X X X
8TTXTy 08I XTP G'90T X G€ G'90T X G€ S'90T X ¢'0E 76 X GE ¢6X0€ 08X¢0€ 9¥.X/[Zc 0LX/C T9Xve vSxce 09T 0TZ1 09TT

0T 6 8Y 8 A L 9 S 14 © @ T
271 [ / S8118s (ww) yrbua
Jaguwinu pred preng

syeys pauljds pue Jejnbuel] 1oy spiend A1ayes

YT9T31IA «VEGTILIA  xEESTAIA *6TSTIIA
PT9TIIA  GI9TAIA *6CSTILA  »BCSTAIA *8TSTIIA
STOTAIA «LCSTIIN  x9¢STAIA *LTST3IA
ST9T3IA G¢STILA  veSTAIA 9TST3LA
¢T9T3IA TTST3LA 0TST3LA
T9ST3IA

ol coomin cosmin CFA goeriin  zosmain coomin | A g, PSS wostan

9S-HSS 95-HSS §S-¥S GS-vS SS-¥S 9S-HSS SS-¥S GS-vS GS-vS GS-7S 09T 0T¢T 09TT

8TTX0S Y01 X2v 68X 9¢ 9L X¢e YoT X2y 68 X9¢ 9. X¢e G90TXGE  G'90TXZ0E  ¢6X0E 06 X e (ww) ybus
004d 009d 00Sd 00vd 009ZM 00SZM 007ZM 0vZM 0E€CM 0¢cM M

Jaquinu ued paens

a|iyoad aqn 7 dzis 1 / Sa1S

syeys ajijoid Je1s 1oj spaenh A1ajes

GTITALA GZSTALA  b2ZSTALA 9TSTALA
0T9T3IA  OT9TALA  OT9TIIA 0T9TIA 0T9T3IA  OT9TALA 4T9STAIA
TESTALA
209TALA  ZO9TILA  2O09TALA L =R 209T3LA 209T3LA  209TILA At ER cosTaIA ¢ AIES
MWMM% 809T3LA MWMMW» 1zsTain ¢t 408STAIA  ZOSTALA
T09TaLA £0STALA
009T3LA  009TILA  009TILA 0ZSTALA  TOSTILA 00ST3LA
ez-qT B0-B00 ) ©0-200 ez-qT 1-A0 09.T 012T 09TT
9/X28 63X 9E 9/X2¢ 9vLX /T 19X ¥Z 66X 22 G'90TXGE  S90TXZ0S  2Z6X0E  06XYE  OLX/Z (W) 26us)
00vd 00SZM 007ZM 00£ZM 002ZM 00TZM OrZM 0£ZM 02ZM TIM M

a|iyoid aqny / 8zis (N / Sa18S Jagquinu Led pseng

syeys aj1joid uowa Joj spaenh A1ajes

www.vaporm atic.com

2.2

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment



http://www.vapormatic.com/

Safety Guard Kits

a|qe|ieA. Os[e 11} PJend W9, T PUB W08

X | X SYSTALA
X 6ESTALA
X | X 8ESTALA
X | X LESTALA
X | x| x 9€STAIA
X £SSTAIN X | X GTSTALA
X GVSTIIN X | X | YISTAIA
X 8YSTALA X | X X €TSTALA
X X X X | x ZISTALA
X | X LYSTALA
X | X 9YSTALA
X | X GYSTIIA aqny ajiyo.ad paulds pue Jenbuell] 1oy ajgeuns sipy pienb A1ajes
X | X YPSTALA
X *EESTAIN
agn ajiy0.4d paulds pue Jejnbuel] 1o} ajqe1ns sy psenb Alajes X *8ZGTALA
X *92STAIA
X «PZSTAIN
s)eys a|bue apIm UIM] 10} 3|0eUNS, ” e
GGSTAIA X 7LSTALA X X X X X X ZISTALA
WMMHH» X X MMM% 00Pd  009ZM 00¥ZM  OveM TIM
JGSTIIN X T— agm aj1jo.d Je1s oy ajgens sy paenb A1ages
¥SSTALA X 0LSTALA
85STILA X 4GEGTILA X *PZSTILA

3u03 (sez 1 X X X STSTILA
a|bue apim 08EZM X X YTSTALA
agn a|yo.d Je1s pue uowa Joy a|gelns siy prenb A1ayes X X X X X X X ZTSTAIA

00vZM  00EZM  00ZZM ovZM  0€ZM
agn1 ajiyoad uowsa 10} 8|qeUNS SHY psend Aayes

WwQTZT spJenb ajbue apipn

wwQTZT Sptenb prepuels

2.3

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com




Safety Guard Retainers

Square groove retainer kits

Part no.

ID (mm)

Measured with gap closed

To fit guards

860 (mm)

1160 (mm)

1210 (mm)

1760 (mm)

VTE1600 40.5 Both retainers of equal ID VTE1500 VTE1501 VTE1520
VTE1503
. VTE1560t VTE1521
VTE1601 46. Both retainers of I 1D VTE1502 #
60 6.5 oth retainers of equa 50 VTE1530 VTE1570%
VTE1571%
VTE1505
VTE1561t
VTE1602 62 Both retainers of equal ID VTE1504 VTE1531% VTE1572% VTE1522
VTE1573%
VTE1574%
VTE1603 47 405 VTE1500 VTE1501 VTE1520
VTE1503
#

VTE1604 52 45 VTE1502 VTE1530 VTEL560" VTE1521
VTE1605 615 52 VTE1504 VTE1531# VTELS05 VTE1522
‘ VTE1561t

VTE1505

VTE1606 67 59 VTE1504 # VTE1522
VTELS3L VTE1561!

VTE1607 41 33 VTE1500 VTE1501 VTE1520
VTE1611 795 67 VTE1510 VTE1511
VTE1612 80 Both retainers of equal ID VTE1510 VTE1511

. VTE1518* VTE1528* VTE1529*

VTE1614 95 Both retainers of equal ID VTEL519* VTEL533* VTEL534*

. VTE1516* VTE1524* VTE1525*

VTE1615 63 Both retainers of equal ID VTEL517* VTE1526% VTE1527*

Round groove retainer kits

To fit guards
860 (mm) 1160 (mm) 1210 (mm) 1760 (mm)
VTE1608 50.5 Both retainers of equal ID VTE1502 VTE1503 VIELS21
VTE1609 55 Both retainers of equal ID VTE1502 VTE1530% VTELS03 VTE1521
! VTE1560t
VTE1505
VTE1610 66.5 Both retainers of equal ID VTE1504 VTE1531% VTE1561¢ VTE1522

#Suitable for Friction clutches.
$Wide angle guards.

tLong cone guards.
*Evolution guards are supplied complete with retainers

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

2.4


http://www.vapormatic.com/

Shaft Assemblies

Standard shaft assemblies 3.2
Safety device shaft assemblies 3.4
Wide angle shaft assemblies 3.5

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

3.1



Standard Shaft Assemblies

utd 40 S808ILA HEII0D  5c o7 09TT3LA
TISTAIA OTSTAIA  2T9TAIA  GBOEILA SWIdSOZ ggogdlA - we  ZZEEAIA  EZEEAIN . STOGALA 009ZM
WET  ZeSZAIA 920ZAIA WL S80E3IA udyd P/ET 090T3IA 6SOTAIA
6STALA BZSTALA STSTAA  PISTAIA  GTOBIA SOSEILA  VOBEAIA STOBIA - 62TT3LA 8ZTTILA SZTTILA 0E0SILA  009d
uid y
: 0T083LA auyds 8STTALA /STTAIA
SOSTAIA VOSTAA - ZO9TIIA ey OISO TEOZAIA OEOZEIA WE  proey)y goees)n ToropaLn UdED w._\m H@ BSOTLA Jg0raln Oroo 005
W8/ET  TEEZALA 0€ETALA WI . "
LTSTILA 92GT3LA LTSTAIA  STOTAIA 0T083LA Jello) LTTT3LA 92TTILA $ZTTILA 62053LA  00Sd

wwoTST WwoTeT

pJenb f1ajes

wwo9s

Jaurelal
pJenb f1ajes

pua Juaws|dwi|

agm
1910

agm
Jauuj

9Qgny J81no  agn} Jsuul

10§ OA

10§ BOA

pus 1019€e1]

SaI|qWassy 1yeys a|10id Jels

wwotst

sal|quiasse 1eys

WwQTZT  wwo9s fn SEIRER)

0TOE3IA
GOST3IA  ¥OST3LA  CO9TALA
S00€3LA
€0ST3IA  COSTIIA €00€31A
TO9TAIA
TOOE3LIA

TOST3LA  00STALA
009T4IA  000€3LIA

wwo ww9s Jaurelal
pJenb f1ajes pJenb A1ajes

uld 40
aulds 9
W8/ET

pus Juswsa|dw|

0TOS3LA 1elI0) 0ZTT3ALA 6TTTILA
6TTEILA  60TEILA 0TOS3LA 00SZM
GO0Z3LA 900Z3LA WgE 0TOEILIA ud ¥d 0Z0T3LA BTOTILA
SOECIIA 90€CALA  WT G00S3ALA  J1BI10) 8TTTALA LTTTILA
OTTEIIA  90TEILA 800S3LA 00VZM
G00S3LA uid 4O 8TOTILA LTOTALA
€00Z3LA Z200Z3LA wg €0083LA JBlI0D aundsg 9TTTILA STTTALA 67TTALA
C0STALN Z0s7aLn wp  PPTEAA  VOTEILA S00E3LN U0 +8/ET 901N STOTAIN ¥00S3LA 00SZM
TO0S3LA  1B|I0D YTTTALA ETTTILA
TTTEILA  TOTEILA €00S3LA 00ZZM
T00Z3LA 000ZILA Wg T00€3LA uid 4O ¥TOT3LA ETOTILA
TOEZ3LA 00€CILA  WT 00083LA JB||0D ZTTTALA TTTTILA LOTTIIA
OTTEILA  00TEILA 000S3LA 00TZM
000€3IA uid ¥ ZTOT3LA TTOTALA

aqny
181N0

agm
Jauu|

agny Ja1no

10} OA

agny Jauul
10} OA

pua J013el |

wwotet

wwo98

WwE9s  WWQTS REITE

sal|quuasse Jeys

SaI|qIassy 1eys aj1J01d uowan

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

3.2


http://www.vapormatic.com/

Standard Shaft Assemblies

TTST3LA OTSTILA  TTI9TALA  600€3LA
909T3LA  900€3LA
¢C¢STALA GOSTALA POSTALA
G09T3LA  P00ETLA
uld 40
aulds 9
WB/ET
€0GT3LA ¢CO0STILA  ¥09TALA  €00E€ILA
€09TaLA  TOOEILA
TOST3LA 00STILA
L09T3LA TTOE3LA

Wwo9/T WWOTZT Wwo98
pJenb f1ages

= EY]
pJenb A1ages

pusa juswsa|dw

- 60083LA Je||0D LOTTALA
Mmm% Nﬁmw% Em ougsl | Lvgesla 600SIA 8
600EILA Uld HO €90TaLA LOOT3LA
w 90083LA Je|j0D PSTTALA 90TTILA SOTTALA
me% meﬂ» em TIZedlA | vOZEIA S00S3A 9
900€3LA Uld 8O ¥SOTALA 900TILA SOOTILA
- ¥0083LA Je|[0D 9ETTALA
HMMS Mmmw EM ezl | ezl L00S3IA G
POOEALA UIdHO ouyds g 9E0TaLA
w €0083LA Jeoy  +8/ET YOTTALA €OTTALA Z0TTALA
MmM% mmww» em 602€3LA | 202EalA ¥00S3A ¥
€00€3LA uid ¥O POOTILA €00TILA Z00T3LA
- T0083LA Je|0D TOTTALA 00TTILA
TN TN e L0Z83IA 00ZEAIA £00S3A 2
T00EALA uid ¥O TOOT3LA 000TILA
w TT083LA Je|0D 60TTILA 80TTILA
Mwmww% Mwmww» Em pTZ€LA  STZEALA TT0S3IA T
TT0€aLA uid 4O 600TILA 800TILA 060TLA 680T3LA

agny
18I0

agqm
Jsuu|

agny Jano
10§ OA

agny Jauul
} SH0A

pus Jo1oel]

wwotet

wuwo9g Wwwo9. WWOT9 WWOTS
Sal|qIBsse eyS

Sal|qIassy 1eys a|1jo.d rejnbuer

rn

EEITES

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

3.3



Safety Device Shaft Assemblies

aulds oz Z20831A aulds Tz PSOTALA
0052 jjoqJeays WV/ET .8/ET
90€/3LA €50T3LA  690TILA 0SOT3LA
9T0Z3LA STOZALA wWg ud 40
909T3LA ~00pZ3UA OTEZAIA Slezain wp FOCEIA TIZEAA oo G00G3LA 90T
ZZGTIIA  WWO9.T + 0002 20V 0v0TILA
GOSTILA WWOQTZT LT6L3IA 4
YOSTILA  WIWQ98 90€/3IA  00SZ  MoqJeays 90083LA Jejoy  BUNGS9  egTTIIA 0STTALA
0£2/3LA  098T 04O 7% €S | -8/€T 8EOTALA
aulids 9 v00E3LA uId HD
GO9TIIA e O |t el . VIO STOCIIA WE  opeq)n or2€aIA LEOTILA L00G3LA  SOT
0ezz3lA  098T  owowmas S/ET  yrezalA sTezalA wr 8ETTALA
¥0083LA Je|j0)
G0€L3IA 0012 LETTALA
v0€L3LA  00LT Y0EL3LA W8/ET G80TILA
TZSTILA WWQ9LT T o ] ]
0262  10q feays w uid 4o 880TALA
€0STIIA WWOTZT +vO9TIN ———————————— CIO3LN ETOCIIN WE  opeq) \ Gozealn £00E3LA aulds 9 ¥00S3LIA  ¥OT
ZTETALN €TECAN  WT 6E0TILA
COSTAIA  WW98 $0S/3LA  00LT W8/€T
€0083LA 1e]j0) 6ETTILA

Jaurejal (wN) agny agnm
pJens Aages psenb Buney

sal9
agn agny 1910 Jsuul pus Jooel] WWOTST WWOQTZT | WWOTTT WWQTOT  WwWQ98 n [EEN
181N0 Jauuj

fayes pus uswa|dw| 10} OA 10} BIOA sal|quiasse eys

SaI|qUasSY URYS 921A8Q A181eS 9]1104d Jejnbuel|

. e . ot €00€3LA uid 4O 0TOT3LA SSOTALA 006 o0t
2S2/3LA  WN 4aINa UNnLIaA PITEILA  POTEILA $00S3LA 00EZM
— — aunds9  €00Z3LA 200Z3LA  WE €0083LA JBIIOD 5yyds g OTTTALA
W8/ET  €0€ZILA ZOEZALA W T00€3IA ud¥d .8/€T 9G0TAIA
TITZ3LA WNOOL  YaInjalayorey ZITEALA  ZOTEILA €00S3LA 00ZZM
TOOS3LA 1el10D 9GTTALA

el adfy
pus jusws|dw

wwotet
prenf f1ayes

Jaureyal n

pJenb Aayes

MOA azIs WWQE9ET WWOTeT Wwo9s

S31|qUIBsSe WeyS

agny salas

18I0

agm
Jauu|

aqgn1 J31no
10} 8YOA

agny Jauu
10} OA

pus J03%el |

Sal|quassy UrYS 801Aaq A18JeS 8]1101d UoWaT

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

3.4


http://www.vapormatic.com/

Wide Angle Shaft Assemblies

aulds Tz aulds Tz
920€31A G60831AN IVTTILA
€/GTaIN  C09TAIN ——————— Hid 80 E 62¢0S31A TE0Z31A | OEOCALA | WeE CTEEILIN  €G0€3LA  ¢0SSILN —  JgJ|0) B/ T C¢E0S3LA 08SZM
0TOEILA aulds 9 TEEZALA  0EECILN  WT 26083LA aulds 9 SYTTILA
jjoqJlesys .8/€T W8/ET 89TTALA

wwoTZT  Jaurelal
pJens prenb
JSETCS JNETIEN

wwoTeT
pus Joyoel] soljquiasse

Heys

n

agny JaIno  agny Jauul Apoq S9L9s
agm JaINnQ  agnl Jsuu| :

pusa juawa|dw 10} 904 10} 05  9|bue apip

sa1|quIassy Jeys a]6uy apIM a]yoid Jels

€/GTALN 0TOSILA 620G3LA <o0zalA | soozai |we 6TTEALA 20GGALA  26083LA 8yTTALA  ZE0SILA 08SZTM
GESTALA  ZO9T3LA  06083LA  uid 4O 09TE€3LA 8LTTALA
—_— _— 6T0S3LA  GOECILA  90€C3LA  WT —————— 0GT€ILA  00SS3LA  06083LA  rego) —————— €€0SILA 08YZM
2LSTALA G00EILA auyds 9 9TTEILA auds g YPTTALA

TYELALA HogJeays .8/ET ' TSTTALA
T/GTALA — ¥00SILA  €00Z3LA  200Z3aLA we PITEIUA — TOSGILA  T6083LA -8/ET — /TOGILA 08EZM
— et ANENTTT T} — €08ZaIA  Z0£Z3LA WT
0/GTALA T00E3LA €00G3LA ZTTEALA ZHTTALA 08ZZM

wwoTeT Jauelal rn e e 00 wwoTzZT ETVEIS
pIeng pienb o sl agnyJ8INO  8gnl Jauy| M.o,_amv_w> wo,_amv_o>. m_mcmm_w_g pus J030e1] sal|quiasse
Aiayes Ksyes P o : yeys

sal|quiassy 1eys a|6uy apIA 8]1J0id UowaT

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

3.5






PTO German Type

Lemon

German type (WS)

Standard yoke and UJ

Tube AxB : Product  UJpart Page
. Series
profile (mm) range no. no.
27x70 wi VTE5001 4.2
22 x55 W2100 VTE5000 4.12
Lemon S
24x61 W2200 VTE5003  4.14
27x74.6 W2300 VTE5004 4.16
34 %90 wil VTE5002 4.4
30x 92 W220 Energy  VTE5005 4.6
Lemon 302x1065  W230 VTE5006 4.8
or Star -
35x106.5 W240 VTE5009  4.10
32x76 W2400 VTE5008  4.18
36 x 89 W2500 VTE5010  4.20
Star 42 x 104 W2600 VTE5015  4.22
Lemon 4, » 76 P400 VTE5019  4.24
or Star _|
36 x 89 P500  Eyolution VTES029  4.26
Star 42 x 104 P600 VTE5030  4.28
50x 118 P700 VTE5031  4.30

Wide angle yoke and UJ

Tube AxB/CxD : Product UJ part Page
: Series
profile (mm) range no. no.
24x61/22x76 W2280 4.31
Lemon S ——
27x74.6/23.8x95 W2380 X VTE5017 4.32
Evolution ———
Lemon 32x76/27x98 W2480 VTE5033 4.34
orstar 36x89/32x110 W2580 VTE2580 4.36

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

4.1



W1 PTO German Type

27mm x 70mm VTES001 type 11

T Profile A (mm) B (mm) S (mm) Length (mm)

: /j % VTE2002 Inner lemon Ov 40 345 4 3000
|7 VTE2003 Outer lemon 1 48 41 3 3000
A VTE2302  Inner lemon ov 40 345 4 1000

zz%{r /z,{;’ VTE2303 Outer lemon 1 48 41 3 1000

Ay

Profile  Tube end Profile  Tube end
1 58

VTE3103 Ov 58 VTE3113

ya

VTE3002 13/8",6 VTEB002 13/8",6 VTE4002 13/8",6 VTE4102 13/8", 6

VTE3030 13/8", 21

Bore Keyway Thread Bore Keyway Bolt Bore Keyway Bolt

VTE3508 30mm 10mm VTE3604 25mm  8mm M10 VTE3804 25mm 8mm M12 VTE3708 30mm 8mm M12
VTE3608 30mm  8mm M10 VTE3808 30mm 8mm M12 VTE3712 35mm 10mm M12

VTE3641 1"1/4  5/16" 3/8"
VTE3646 1"3/8 5/16" 3/8"

<5 T

Shaft Length Torque Shaft Bolt Torque Shaft Rotation Torque
RH

VTE7114 13/8",6 57 600 VTE7303 13/8",6M8x50 1300 VTE7213 13/8",6 3000

Shaft size

Bore Pin hole

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
4.2 www.vapormatic.com



PTO German Type W1

27mm x 70mm VTES001 type 11

b

Profile  Shaft size

VTE1823 Ov 13/8", 6

i

B
VTE1502 860 VTE1530 1160 Friction clutch VTE1515 1210 VTE1601 both 49.5 Square
VTE1503 1210 VTE1560 1210 long cone VTE1609 both 55.0 Round

VTE1521 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.3



W11l PTO German Type

34mm x 90mm VTES002 type 12

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
VTE2006 Inner lemon 1b (1s) 49 39.5 45 3000
VTE2030 Inner star S4 51 37 - 3000
VTE2031 Outer star S5 61 47 4.5 3000
VTE2305 Outer lemon 2a (2s) 57.5 48 4 1000
VTE2306 Inner lemon 1b (1s) 49 39.5 45 1000
VTE2330 Inner star S4 51 37 - 1000
VTE2331 Outer star S5 61 47 45 1000

Profile  Tube end Profile  Tube end Profile  Tube end Profile  Tube end

VTE3108 70 VTE3118 2a 70 VTE3300 s4 70 VTE3310 s5 70

%

VTE3007 13/8",6 VTE3628 40mm 12mm M12
VTE3023 13/8", 21

b

Profile  Shaft size

VTE1828 1b (1s) 13/8",6

\
.
&S

Length (mm) Length Note

Qo

id (mm) Groove type

°o°c>¢

Length (mm)

VTE1504 860 VTE1531 1160 Friction clutch VTE1512 1210 VTE1602 both 62.0 Square
VTE1505 1210 VTE1561 1210 long cone VTE1610 both 66.5 Round
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
4.4 P



Notes

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 45



W220 PTO German Type

30mm x 92mm VTES005 type 22

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
VTE2006 Inner lemon 1b (1s) 49 39.5 45 3000
VTE2030 Inner star S4 51 37 - 3000
VTE2031 Outer star S5 61 47 4.5 3000
VTE2305 Outer lemon 2a (2s) 57.5 48 4 1000
VTE2306 Inner lemon 1b (1s) 49 39.5 45 1000
VTE2330 Inner star S4 51 37 - 1000
VTE2331 Outer star S5 61 47 45 1000

Ay <

Profile  Tube end Profile  Tube end Profile  Tube end Profile  Tube end

VTE3107 1b 70 VTE3117 2a 70 VTE3127 s4 70 VTE3128 s5 70

ya

*

VTE3006 13/8",6 VTEB006 13/8",6 VTE4005 13/8",6 VTE4105 13/8", 6
VTE3022 13/8",21 VTE8022 13/8",21 VTE4025 13/8", 21
VTE3060 13/4",6 VTEB060 13/4",6 VTE4060 13/4", 6
VTE3080 13/4",20 VTEB8080 13/4",20 VTE4072 13/4", 20

&

LR

Bore Keyway Thread Bore Keyway Bolt Bore Keyway Bolt

VTE3619 35mm 10mm M12 VTE3816 35mm 10mm M12 VTE3715 35mm 10mm M12 VTE4805 130 4 x 90°

VTE3626 40mm 12mm  Mi2 VTE3819 40mm 12mm  Mi12 VTE3718 40mm 12mm  Mi2
VTE3644 1'1/4 5/16" 3/8" VTE3834 1'1/4 516" M12 VTE3722 45mm 14mm M6
VTE3649 1"3/8 516" 3/8° VTE3839 1'3/8 516" MI12 VTE3740 1.3/8" 12mm  Mi2

VTE3742 1.3/4"  3/8° Mi6

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
4.6 www.vapormatic.com



PTO German Type W220

30mm x 92mm VTES005 type 22

Shaft size Torque Nm Shaft Length Torque Shaft Bolt Torque Shaft oIt Torque

VTE7013  13/8%6 900 VTE7174 13/8'6 76 900 VTE7306 13/8"6 MI0x60 2500 VTE7344 13/4,6 M10Xx60 2500
VTE7050 13/8", 6 1450 VTE732413/8",21 M10x 60 2500

VTE7026 il 1200 VTE7316 13/4",6 M10x60 2500

VTE7052  13/8'6 1450

VTE7071 13/8", 21 1450

VTE7051 13/4", 6 1450

VTE7066 13/4",6 1200

VTE7086 13/4", 6 1500

VTE7008  13/4",20 1200

VTE7072 13/4",20 1450

Shaft Rotation Torque

VTE7226 13/8",6 RH 3000
VTE7260 3/8" 21 RH 3000

B N

Profile  Shaft size Profile  Shaft size

VTE1827 1b(ls) 13/8"6 VTE1837 2a(2s) 13/8",6

\
N
-

Length (mm)

Length Note Length (mm) id (mm) Groove type

VTE1504 860 VTE1531 1160 Friction clutch VVTE1512 1210 VTE1602 both 62.0 Square
VTE1505 1210 VTE1561 1210 long cone VTE1610 both 66.5 Round
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 4.7



PTO German Type W230

30.2mm x 106.5mm VTES5006 type 23

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
VTE2006 Inner lemon 1b (1s) 49 39.5 45 3000
VTE2030 Inner star S4 51 37 - 3000
VTE2031 Outer star S5 61 47 4.5 3000
VTE2305 Outer lemon 2a (2s) 57.5 48 4 1000
VTE2306 Inner lemon 1b (1s) 49 39.5 45 1000
VTE2330 Inner star S4 51 37 - 1000
VTE2331 Outer star S5 61 47 45 1000

Profile  Tube end Profile  Tube end Profile  Tube end Profile  Tube end
1b

VTE3122 70 VTE3123 2a 70 VTE3130 s4 70 VTE3129 s5 70

*

VTE3008 13/8",6
VTE3084 13/4", 20

\
il

.4

orsh )
VTE1504 860 VTE1531 1160 Friction clutch VTE1512 1210 VTE1602 both 62.0 Square
VTE1505 1210 VTE1561 1210 long cone VTE1610 both 66.5 Round
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
4.8 P



Notes

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 4.9



W240 PTO German Type

35mm x 106.5mm VTES5009 type 24

S sz % 1
?a..
%

VTE3121 70 VTE3301

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
VTE2006 Inner lemon 1b (1s) 49 39.5 45 3000
VTE2030 Inner star S4 51 37 - 3000
VTE2031 Outer star S5 61 47 4.5 3000
VTE2305 Outer lemon 2a (2s) 57.5 48 4 1000
VTE2306 Inner lemon 1b (1s) 49 39.5 45 1000
VTE2330 Inner star S4 51 37 - 1000
VTE2331 Outer star S5 61 47 45 1000

L

ile  Tube end
s4

Profile  Tube end Profile  Tube end
2a

70 VTE3311 sb 70

*

VTE3009 13/8",6 VTEB009 13/8",6 VTE4007 13/8",6 VTE4162 13/4", 6
VTE3025 13/8",21 VTE8025 13/8",21 VTE4062 13/4", 6

VTE3062 13/4",6 VTEB062 13/4",6 VTE4074 13/4", 20

VTE3082 13/4",20 VTEB082 13/4", 20

VTE3622 35mm 10mm  MI12 VTE3818

35mm  10mm

M12 VTE3724

TLReR

Bore Keyway Thread Bore Keyway Bolt Bore Keyway Bolt

45mm  14mm M16

VTE3824

45mm  14mm

M12

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

4.10



PTO German Type W240

35mm x 106.5mm VTES5009 type 24

i S

Shaft size Torque Nm Shaft Bolt Torque Shaft Bolt Torque Shaft Rotation Torque

VTE7054 13/8", 6 1500 VTE7308 13/8",6 M12x70 3500 V\TE7345 13/8",6 M12x70 3500 \TE7228 13/8" 6 3000
VTE7028 13/8",6 1200 VTE732713/8",21 M12x70 3500 VTE7271 138" 6 RH 3000
VTE7048 13/8", 6 2000 VTE7318 13/4",6 M12x70 3500

VTE7075  13/8"21 2000

VTE7056 13/4", 6 1500

VTE7070 13/4", 6 1200

VTE7088 13/4",6 2000

VTE7076 13/4", 20 2000

\
o
N

¥
VTE1504 VTE1531 1160 Friction clutch VVTE1512 1210 VTE1610 both 66.5 Round
VTE1505 1210 VTE1561 1210 long cone
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.11



W2100 PTO German Type

22mm x 55mm VTES000 type 10

L

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2000 Inner lemon 00a 31 235 3.6 3000
VTE2001 Outer lemon Oa 39 30 2.8 3000
VTE2002 Inner lemon Ov 40 34.5 4 3000
VTE2003 Outer lemon 1 48 41 3 3000
VTE2300 Inner lemon 00a 31 235 3.6 1000
VTE2301 Outer lemon Oa 39 30 2.8 1000
VTE2302 Inner lemon Oov 40 34.5 4 1000
VTE2303 Outer lemon 1 48 41 3 1000

Profile  Tube end Profile  Tube end

VTE3100 00a 47 VTE3110 0Oa 47

*

VTE3054 11/8",6 VTEB000 13/8",6 VTE3557 25mm 8mm VTE3653 25mm 8mm  MI10
VTE3000 13/8",6 VTEB044 13/8",21 VTE3482 30mm 10mm VTE3654 30mm  8mm  M10
VTE3044 13/8", 21

e R

Bore Keyway Bolt Bore Keyway

Bolt
VTE3845 30mm 8mm M12 VTE3764 25mm  8mm M12
VTE3765 30mm 8mm M12

Tho

Shaft Length Torque Shaft Rotation Torque
RH

VTE7150 13/8",6 38 300 VTE7250 13/8",6 3000
VTE7160 13/8",6 57 600

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

412



13/8",6 VTE1830

PTO German Type W2100

22mm x 55mm VTES000 type 10

B B

Profile  Shaft size Profile  Shaft size

VTE1820 00a

13/8", 6

M,
~

o

Length (mm) Length (mm) id (mm) Groove type

VTE1500

860 VTE1514

1210 VTE1600 both 40.5 Square

VTE1501

VTE1520

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

4.13



W2200 PTO German Type

24mm x 61mm VTES003 type 20

Profile A (mm) B (mm) S (mm) Length (mm)

VTE2000 Inner lemon 00a 31 235 3.6 3000

VTE2001 Outer lemon Oa 39 30 2.8 3000

# VTE2002 Inner lemon ov 40 34.5 4 3000

VTE2003 Outer lemon 1 48 41 3 3000

VTE2300 Inner lemon 00a 31 235 3.6 1000

B VTE2301 Outer lemon Oa 39 30 2.8 1000
VTE2302 Inner lemon Oov 40 34.5 4 1000

VTE2303 Outer lemon 1 48 41 3 1000

Ay

VTES3101 00a 47 VTE3111 0Oa

Profile  Tube end Profile  Tube end

a7

VTE3102 Ov 58 VTE3112 1

58

e

VTE3041 11/8",6 VTEB001 13/8",6 VTE4221 13/8",21 VTE4001 13/8", 6
VTE3001 13/8",6 VTEB029 13/8", 21
VTE3029 13/8",21

L

Bore Pin hole

TR

Bore Keyway Thread Bore Keyway Bolt

Bore Keyway

Bolt

VTE3503 25mm 8mm VTE3601 20mm  6mm M8 VTE3803 25mm  8mm M12 VTE3703 25mm  8mm M12
VTE3507 30mm 10mm VTE3603 25mm 8mm  M10 VTE3807 30mm 8mm  M12 VTE3707 30mm 8mm  Mi12
VTE3537 1" 3/8" VTE3607 30mm 8mm  M10 VTE3828 1" 1/4"  M12 VTE3766 3/4"  3/16"  M12
VTE3538 1" 1/4 3/8" VTE3640 1"1/4 5/16" 3/8"

&

Diameter Fixing

VTE4801 90 4 x90°

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

4.14



PTO German Type W2200

24mm x 61mm VTES003 type 20

Lo

Shaft Length Torque Shaft Bolt Torque Shaft Rotation Torque

VTE7101 13/8",6 300 VTE7340 13/8", 6 M6x50 780 VTE7251 13/8",6 3000
VTE7161 13/8".6 57 600 VTE7302 13/8",6M6Xx50 900
VTE7171 13/8".6 76 900 VTE732013/8" 21 M6Xx50 900

B %

Profile  Shaft size Profile  Shaft size

VTE1821 0a  13/8",6 VTE1831 O0a  13/8".6
VTE1822 Ov 1386 VTE1832 1 13/8".6

SN D

Length (mm) Length Note Length (mm)

o

id (mm) Groove type

VTE1500 860 VTE1530 1160 Friction clutch VTE1514 1210 VTE1601 both 49.5 Square
VTE1501 1210 VTE1560 1210 long cone  VTE1515 1210 VTE1609 both 55.0 Round
VTE1520 1760 VTE1600 both 40.5 Square
VTE1502 860 VTE1608 both 50.5 Round
VTE1503 1210
VTE1521 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.15



W2300 PTO German Type

27mm x 74.6mm VTE5004 type 21

VTE3104

L

Ov

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2002 Inner lemon Ov 40 345 4 3000
VTE2003 Outer lemon 1 48 41 3 3000
VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
VTE2006 Inner lemon 1b (1s) 49 39.5 45 3000
VTE2302 Inner lemon Oov 40 34.5 4 1000
VTE2303 Outer lemon 1 48 41 3 1000
VTE2305 Outer lemon 2a (2s) 57.5 48 4 1000
VTE2306 Inner lemon 1b (1s) 49 39.5 45 1000

Profile  Tube end Profile  Tube end

58 VTE3114

1

58

VTE3105

1b

70 VTE3115

2a

70

VTE3003 13/8",6 VTE8003 13/8",6 VTE4203 13/8",6 VTE4003 13/8", 6
VTE3031 13/8",21 VTE8031 13/8", 21

®

VTE4103 13/8",6 VTE3505 25mm 8mm VTE3605 25mm  8mm M12 VTE3805 25mm  8mm M12
VTE3509 30mm 10mm VTE3609 30mm  8mm M12 VTE3809 30mm  8mm M12
VTE3516 35mm 13mm VTE3616 35mm 10mm  M12 VTE3814 35mm 10mm  Mi2
VTE3540 1" 1/4 3/8" VTE3683 1'1/8 1/4" 3/8" VTE3850 L 1/4" M12
VTE3545 1" 3/8 3/8" VTE3642 1"1/4 1/4" 3/8" VTE3832 1"1/4 516" Mi12
VTE3574 1" 3/8 1/2" VTE3647 1"3/8 5/16" 3/8"

Bolt
M12

Bore Keyway

VTE3713 35mm 10mm

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

4.16



PTO German Type W2300

27mm x 74.6mm VTES5004 type 21

Diameter Fixing
VTE4803 100 4 x 90°
VTEA4823 100 6 x 60°

Tt

Shaft Length Torque Shaft Bolt Torque Shaft Rotation Torque
RH

VTE7014 13/8", 6 900 VTE7162 13/8",6 57 600 VTE7346 13/8",6M8x50 1600 VTE7252 13/8",6 3000
VTE7172 13/8",6 76 900 VTE7304 13/8",6M8x50 1700
VTE7182 13/8",6 95 1200 VTE7347 13/8",6 M8x50 1730

VTE7341 13/8", 6 M8x50 1860

Shaft size Torque Profile  Shaft size Profile  Shaft size
1

Shaft size Torque Nm

VTE732213/8",21 M8x50 1700

.

VTE7400 13/8,6 2000 VTE1824 Ov 13/8",6 VTE1834 13/8",6
VTE7401 13/8,6 2500 VTE1825 1b(ls) 13/8"6 VTE1835 2a(2s) 13/8",6
VTE7402  13/8,21 2000
VTE7403 13/4,6 2000
VTE7404 13/4,6 2500
VTE7405  13/4,20 2500

S

Length (mm) Length Note
86!

VTE1502 0 VTE1530 1160 Friction clutch VTE1515 1210 VTE1601 both 49.5 Square
VTE1503 1210 VTE1560 1210 long cone VTE1512 1210 VTE1609 both 55.0 Round
VTE1521 1760 VTE1531 1160 Friction clutch VTE1602 both 62.0 Square
VTE1504 860 VTE1561 1210 long cone VTE1610 both 66.5 Round
VTE1505 1210
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.17



W2400 PTO German Type

32mm x 76mm VTES008 type 35

T Profile A (mm) B (mm) S (mm) Length (mm)

S, ‘///ﬁj VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
f“'- VTE2006 Inner lemon 1b (1s) 49 39.5 45 3000

4 A VTE2030 Inner star sS4 51 37 - 3000
%zz%r f’{;’ VTE2031 Outer star S5 61 47 4.5 3000

- - — VTE2305 OQuter lemon 2a (2s) 57.5 48 4 1000
VTE2306 Inner lemon 1b (1s) 49 39.5 45 1000

VTE2330 Inner star S4 51 37 - 1000

VTE2331 Outer star S5 61 47 45 1000

L

VTE3106 1b 70 VTE3116 2a 70 VTE3303 s4 70 VTE3313 s5 70

*

ya

VTE3005 13/8",6 VTES005 13/8",6 VTE4033 13/8",6 VTE4128 13/8",6
VTE3021 13/8",21 VTES8021 13/8",21 VTE4012 13/4",6

VTE3047 13/4",6 VTE8047 13/4", 6

VTE3048 13/4",20 VTE8048 13/4", 20

Bore Pin hole

®

Bore Keyway Thread Bore Keyway Bo

It
VTE3523 40mm 13mm VTE3611 30mm  8mm M12 VTE3858 35mm 10mm M12

VTE3617 35mm 10mm M12 VTE3770 1"1/2  3/8° M12

B N

Profile  Shaft size Profile  Shaft size

VTE1826 1b(ls) 138”6 VTE1836 2a(2s) 13/8",6

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
4.18 P



PTO German Type W2400

32mm x 76mm VTE5008 type 35

Shaft size Torque Nm Shaft Length Torque

Shaft

Lo

Bolt Torque Shaft Rotation Torque

VTE7022 13/8", 6 900 VTE7173 13/8"6 76 900 VTE7348 1 3/8" 6 M8x50 1600 VTE7203 13/8"6 3000
VTE7091 13/8", 6 1200 VTE7183 13/8".6 95 1200 VTE7310 13/8".6 M8x50 1860 VTE7254 13/8".6 RH 3000
VTE7092 13/8" 6 1450 VTE7193 13/8".6 114 1500 VTE7331 13/8",6 MI0OX60 2500 VTE72021 3/8",21 LH 3000
VTE7342 13/8",6 M10x60 2920
VTE7309 1 3/8", 21 M10x60 2920

S,
S

Length (mm) Length Note

0000

VTE1504 860 VTE1531 1160 Friction clutch VTE1512 1210 VTE1602 both 62.0 Square
VTE1505 1210 VTE1561 1210 long cone VTE1610 both 66.5 Round
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.19



W2500 PTO German Type

36mm x 89mm VTES010 type 36

VTE3109

70 VTE3119

VTE3302

Profile  Tube end Profile  Tube end Profile  Tube end Profile  Tube end

2a 70

s4

' j 2 3 — Profile A (mm) B (mm) S (mm) Length (mm)
a uter lemon 2a (2s) 57.5 48 4 3000
f“'- VTE2006 Inner lemon 1b (1s) 49 39.5 45 3000

A I VTE2030 Inner star sS4 51 37 - 3000
%Z%zr f’{;’ VTE2031 Outer star S5 61 47 45 3000

- - = VTE2305 OQuter lemon 2a (2s) 57.5 48 4 1000
VTE2306 Inner lemon 1b (1s) 49 39.5 45 1000

VTE2330 Inner star S4 51 37 - 1000

VTE2331 Outer star S5 61 47 45 1000

<

70 VTE3312 s5 70

*

R

VTE3010 13/8",6 VTEB010 13/8",6 VTE4008 13/8",6 VTE3623 35mm 10mm  Mi4
VTE3026 13/8",21 VTE8026 13/8",21 VTE4028 13/8", 21
VTE3063 13/4",6 VTEB063 13/4",6 VTE4063 13/4", 6
VTE3049 13/4",20 VTE8049 13/4",20 VTE4031 13/4", 20

&

ter
VTE4810 160 6 x 60°

‘s,

Profile  Shaft size Profile  Shaft size
4

VTE1863 S 13/8".6 VTE1873 s5 13/8", 6

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
4.20 P



PTO German Type W2500

36mm x 89mm VTE5010 type 36

Lo

Shaft Bolt Torque Shaft Rotation Torque

Shaft size Torque Nm Shaft Length Torque

VTE7024 13/8", 6 1700 VTE7103 13/8", 6 76 900 VTE7349 1 3/8" 6 M8x50 2130 VTE7207 13/8"6 3000
VTE7029 13/4", 6 1700 VTE7104 13/8".6 95 1200 VTE7312 13/8"6 MIOX60 2500 VTE7209 13/8.6 RH 3000
VTE7090 13/8" 6 1700 VTE7300 13/8",6 MI0X60 2920 VTE720413/8" 21 LH 3000
VTE7096  13/8" 21 1700 VTE733813/8", 21 M10Xx 60 2500
VTE7093 13/4" 6 1700 VTE7313 13/4",6 M1I0x60 2920

VTE7314 13/4",6 M10x60 3330

Shaft size
VTE7400 13/8,6 2000
VTE7401 13/8,6 2500
VTE7402 13/8,21 2000
VTE7403 13/4,6 2000
VTE7404 13/4,6 2500
VTE7405 13/4,20 2500

\
5

¥
VTE1504 VTE1531 1160 Friction clutch VTE1512 1210 VTE1602 both 62.0 Square
VTE1505 1210 VTE1561 1210 long cone VTE1610 both 66.5 Round

VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.21



W2600 PTO German Type

42mm x 104mm VTE5015 type 26

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2026 Inner star S5H 61 47 45 1025
VTE2030 Inner star S4 51 37 - 3000
VTE2031 Outer star S5 61 47 45 3000
VTE2032 Outer star S6 715 57.5 5 3000
VTE2330 Inner star S4 51 37 - 1000
VTE2331 Outer star S5 61 47 45 1000
VTE2332 Outer star S6 715 57.5 5 1000

)

Profile  Tube end Profile  Tube end
s4 70

VTES3321 VTES3305 s5 104
VTE3323 s5h 90 VTE3320 s5 70
VTE3322 s6h 90

*

Shaft size Shaft size

VTE3015 13/8",6 VTES015 13/8",6 VTE4046 13/4" 6

VTE3034 13/8",21 VTE8034 13/8", 21 VTE4047 13/4", 20
VTE3085 13/4",20 VTE4300 13/4", 6
VTE8085 13/4", 20

@

Shaft size Torque Nm Shaft Bolt Torque

VTE7094 13/8", 6 2000 VTE7350 13/4".6 M12x70 4800
VTE7098 13/8", 21 2000 VTE734313/4",20 M12x70 4800
VTE7095 13/4", 6 2000
VTE7099 13/4", 20 2000

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

4.22



PTO German Type W2600

42mm x 104mm VTES5015 type 26

Length (mm) Length Note Length (mm) id (mm) Groove type

VTE1504 860 VTE1531 1160 Friction clutch VTE1513 1210 VTE1602 both 62.0 Square
VTE1505 1210 VTE1561 1210 long cone VTE1610 both 66.5 Round
VTE1522 1760 VTE1612 both 80.0 Square
VTE1510 860
VTE1511 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.23



P400 PTO German Type

32mm x 76mm VTES019 type 35

Tk
// % VTE2005 Outer lemon

o VTE2030 Inner star

Zz%{r /z,{;’ VTE2305 Outer lemon

<

Profile  Tube end Profile  Tube end
s5 70

VTES3303 s4 70 VTE3313

o

Profile A (mm) B (mm) S (mm) Length (mm)

2a (2s) 57.5 48 4 3000

S4 51 37 - 3000

VTE2031 Outer star S5 61 47 45 3000

2a (2s) 57.5 48 4 1000

- VTE2330 Inner star S4 51 37 - 1000
VTE2331 Outer star S5 61 47 45 1000

MIES0> 13/8".6 VTE8005 13/8,6 VTE4033 13/8"6 VTE4128 138", 6
VTE3021 13/8",21 VTES8021 13/8",21 VTE4012 13/4", 6

VTE3047 13/4",6 VTE8047 13/4", 6

VTE3048 13/4",20 VTES048 13/4", 20

Bore Pin hole Bore Keyway Thread

VTE3523 40mm 13mm VTE3611 30mm 8mm  M12 VTE3858

Bore Keyway

35mm  10mm

M12  VTE7800

e e o

Bolt Diameter Fixing

160 6 x 60°

VTE3617 35mm 10mm  MI12 VTE3770

1"1/2 3/8"

M12

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

4.24

www.vaporm atic.com



PTO German Type P400

32mm x 76mm VTE5019 type 35

Lo

Shaft Bolt Torque Shaft Rotatio Torque

@

Shaft size Torque Nm Shaft Length Torque

VTE7022 13/8", 6 900 VTE7173 13/8" 76 900 VTE7348 13/8" 6 M8x50 1600 V\TE7203 13/8"6 3000
VTE7091 13/8", 6 1200 VTE7183 13/8",6 95 1200 VTE7310 13/8",6 M8x50 1860 V\TE7254 13/8.6 RH 3000
VTE7092 13/8", 6 1450 VTE7193 13/8',6 114 1500 VTE7331 13/8",6 MIOX60 2500 VTE720213/8" 21 LH 3000

VTE7342 13/8",6 M10x60 2920
VTE7309 13/8",21 M10x 60 2920

Shaft size Torque

VTE7400 13/8,6 2000
VTE7401 13/8,6 2500
VTE7402 13/8,21 2000
VTE7403 13/4,6 2000
VTE7404 13/4,6 2500
VTE7405 13/4,20 2500

)
SaCs

id (mm) Groove type

VTE1516 810 VTE1615 both 63 Square
VTE1524 1210
VTE1525 1510

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.25



P500 PTO German Type

36mm x 89mm VTES029 type 36

Profile A (mm) B (mm) S (mm) Length (mm)

VTE2030 Inner star S4 51 37 - 3000

VTE2031 Outer star S5 61 47 45 3000

A VTE2330 Inner star sS4 51 37 - 1000
VTE2331 Outer star S5 61 47 4.5 1000

L

L

Profile  Tube end Profile  Tube end
s5 70

VTES3302 s4 70 VTE3312

*

VTE3010 13/8",6 VTE8010 13/8",6 VTE4008 13/8",6 VTE3623 35mm 10mm  M14
VTE3026 13/8",21 VTE8026 13/8",21 VTE4028 13/8" 21
VTE3063 13/4",6 VTE8063 13/4",6 VTE4063 13/4",6
VTE3049 13/4",20 VTE8049 13/4",20 VTE4031 13/4", 20

&

Diameter Fixing

VTE4810 160 6 x 60°

@

Shaft Rotatio Torque

Shaft size Torque Nm Shaft Length Torque Shaft Bolt Torque

VTE7024 13/8", 6 1700 VTE7103 13/8", 6 76 900 VTE7349 13/8',6 M8x50 2130 VTE7207 13/8"6 LH 3000
VTE7029 13/4", 6 1700 VTE7104 13/8", 6 95 1200 VTE7312 13/8",6 M10x60 2500 VTE7209 13/8.6 RH 3000
VTE7090 13/8", 6 1700 VTE7300 13/8",6 M10x60 2920 VTE7204 13/8" 21 LH 3000
VTE7096  13/8" 21 1700 VTE733813/8", 21 M10x60 2500
VTE7093 13/4", 6 1700 VTE7313 13/4",6 M10x60 2920

VTE7314 13/4",6 M10x60 3330
Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
4.26 P




Shaft size Torque

VTE7400 13/8, 6 2000
VTE7401 13/8, 6 2500
VTE7402 13/8, 21 2000
VTE7403 13/4,6 2000
VTE7404 13/4, 6 2500
VTE7405 13/4, 20 2500

S
SaCy

PTO German Type P500

id (mm) Groove type

VTE1517 810 VTE1615 both 63 Square
VTE1526 1210
VTE1527 1510

36mm x 89mm VTE5S029 type 36

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

4.27



P600 PTO German Type

42mm x 104mm VTE5030 type 26

VTE3304 s5h 104 VTE3305

<

ile  Tube end
s5 104

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2026 Inner star S5H 61 47 45 1025
VTE2032 Outer star S6 715 575 5 3000
VTE2332 Outer star S6 715 57.5 5 1000

e

VTE3015 13/8",6 VTE8015 13/8", 6 VTE4046 13/4",6 VTE7801 160 12x30°
VTE3034 13/8",21 VTES8034 13/8",21 VTE4047 13/4", 20
VTE3085 13/4",20 VTE4300 13/4",6

VTEB8085 13/4", 20

“ &

Shaft size Torque Nm Shaft size Torque

VTE7094 13/8",6 2000 VTE7350 13/4",6 M12x70 4800 VTE7400 13/8,6 2000
VTE7098 13/8", 21 2000 VTE734313/4",20 M12x70 4800 VTE7401 13/8,6 2500
VTE7095 13/4",6 2000 VTE7402 13/8,21 2000
VTE7099 13/4", 20 2000 VTE7403 13/4,6 2000
VTE7404 13/4,6 2500

VTE7405 13/4,20 2500

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

4.28

www.vaporm atic.com



PTO German Type P600

42mm x 104mm VTES5030 type 26

Oy

s OO
Bt

Length (mm) id (mm) Groove type

VTE1518 810 VTE1614 both 95 Square
VTE1528 1210
VTE1529 1510

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.29



P700 PTO German Type

50mm x 118mm VTES031 type 26

TR

Profile  Tube end Profile  Tube end

VTE3307 s5h 105 VTE3306 s6h

°c:°‘o

VTE1519 810 VTE1614 both 95 Square
VTE1533 1210
VTE1534 1510

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2026 Inner star S5H 61 47 45 1025
VTE2032 Outer star S6 715 575 5 3000
VTE2332 Outer star S6 715 57.5 5 1000

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

4.30

www.vaporm atic.com



PTO German Type W2280

24mm X 61mm - 22mm x 76mm type 20

- Profile A (mm) B (mm) S (mm)
P
S /// %_—% Inner lemon 00aGA 235 31
4 Z,? Inner lemon 00cGA 235 31
;if A
) Outer lemon 0aG 30 39 2.6
%aa% i Inner lemon OVGA 40 345 4
e Outer lemon 1G a1 48 2.7

Qo

VTE1601 both 49.5 Square VTE1570 1210 VTE1554

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.31



W2380 PTO German Type

27mm x 75mm - 24mm x 95mm VTES5017 type 21

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2002 Inner lemon Ov 40 345 4 3000
VTE2003 Outer lemon 1 48 41 3 3000
VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
VTE2302 Inner lemon Oov 40 345 4 1000
VTE2303 Outer lemon 1 48 41 3 1000
VTE2305 Outer lemon 2a (2s) 57.5 48 4 1000

VTE3161 1

@

Length  Diameter
95 155

VTES501

VTE8091 13/8",6
VTE8093 13/8", 21

Sh Bolt T

VTE7339 13/8",6 M8x50 1860

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
4.32 P



PTO German Type W2380

27mm x 75mm - 24mm x 95mm VTES017 type 21

Profile  Shaft size Profile  Shaft size

VTE1901 Ov 1386 VTE1911 13/8",6
VTE1958 b 1386 VTE1959 2a  13/8",6

Qo

id (mm) Groove type Length (mm)

VTE1601 both 49.5 Square VTE1571 1210 VTE1557 188
VTE1602 both 62.0 Square VTE1572 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.33



W2480 PTO German Type

32mm x 76mm - 27mm x 98mm VTES5020 type 35

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
VTE2025 Inner star S4H 51 37 - 930
VTE2030 Inner star S4 51 37 - 3000
VTE2031 Outer star S5 61 47 4.5 3000
VTE2305 Outer lemon 2a (2s) 57.5 48 4 1000
VTE2330 Inner star S4 51 37 - 1000
VTE2331 Outer star S5 61 47 45 1000

S

VTE3150 1b  VTE3160

@

Length  Diameter

VTES500

VTE8090 13/8",6
VTE8094 13/8", 21

Shaft Bolt T
VTE7335 13/8",6 M8x50 2130

VTE7315 13/8",6 M10x60 2920

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
4.34 P



PTO German Type W2480

32mm x 76mm - 27mm x 98mm VTE5020 type 35

Profile  Shaft size Profile  Shaft size Profile  Shaft size

VTE1900 13/8",6 VTE1910 2a 13/8",6 VTE1962 s4 1386

00

VTE1602 both 62.0 Square  VTE1535 1210 VTE1558
VTE1573 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.35



W2580 PTO German Type

36mm x 89mm - 32mm x 110mm VTE5018 type 36

Profile A (mm) B (mm) S (mm) Length (mm)
VTE2005 Outer lemon 2a (2s) 57.5 48 4 3000
VTE2025 Inner star S4H 51 37 - 930
VTE2030 Inner star S4 51 37 - 3000
VTE2031 Outer star S5 61 47 4.5 3000
VTE2305 Outer lemon 2a (2s) 57.5 48 4 1000
VTE2330 Inner star S4 51 37 - 1000
VTE2331 Outer star S5 61 47 45 1000

ile
VTE3053 s4

@

Length  Diameter
118 180

VTES502

VTE8092 13/8",6
VTE8095 13/8", 21

Shaft Bolt T

VTE7336 13/8",6 M10x60 2500
VTE7337 13/8",6 M10x60 2920

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
4.36 P



PTO German Type W2580

36mm x 89mm - 32mm x 110mm VTE5018 type 36

Profile  Shaft size Profile  Shaft size

VTE1908 b 1386 VTE1963 s4  13/8"6

Qo

VTE1602 both 62.0 Square VTE1574 1210 VTE1555

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 4.37






PTO Italian Type

Triangular

Splined 4 Tooth Free rotation

Italian type (BP)

Standard yoke and UJ

Tube profile A Series POt LUt
(mm) range no.
22 x 54 1 VTE5011 5.2
_ 24 x 61 2 VTE5003 5.4
Triangular
27x70 3 VTE5001 5.6
27x74.6 4 VTE5004 5.8
30.2x 80 5 VTE5007 5.10
30x92 6 VTE5005 5.12
35x 94 7 EMeY \Teso12 514
. 35x106.5 8 VTE5009 5.16
Triangular or
Splined 41 x 108 9 VTE5013 5.18
41x118 10 VTE5014 5.19
30.2 x106.5 A7 VTE5006 5.20
35x106.5 A8 VTE5009 5.2
4Toothor 24x61 S2 VTES003 5.24
Free rotation "37x74.6 s4 VTE5004 5.25
4 Tooth S5 5.26
4Tooth,  302x80 VTE5007
Splined or S6 5.27
Free rotation
4Toothor 30x92 H7 SFT  VTE5005 5.28
Splined S8 5.29
35x94 VTES012
4 Tooth H8 5.30
35x106.5 S9 VTE5009 5.31
aToothor " 1075 oH VTES034 5.32
Splined
42 x130 S0 VTE5035 5.33
Wide angle yoke and UJ
Tub_e A (mm) Series Product UJ part Page
profile range no. no.
22 x 86 4 VTE5037 5.8
Triangular 27 x 100 6 VTE5038 5.12
30.2x 106 8 VTE5039 5.16
4Toothor 22X76 $2 VTE5036 5.4
Free 22 x 86 S4 VTE5037 5.25
rotation S6
27 x 100 VTE5038
H7
SFT
30.2x 106 VTE5039 —
4 Tooth
30.2x122 S9 VTE5041 5.31
34.9x112 SH VTE5040 5.32

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

5.1



1 PTO lItalian Type

22mm x 54mm VTES011 type 1.41

: o A (mm) S (mm) Length (mm)

:: :/%% 1 VTE2008 Outer triangular 32.5 2.6 3000

B f/ 2 VTE2009 Inner triangular 26.5 35 3000

% ,é VTE2308 Outer triangular 325 2.6 1000

@; /V VTE2309  Inner triangular 26.5 35 1000
gy

Tube size (mm) Tube size (mm)

VTE3215 26.5 VTE3214 325

@

Bore Keyway Thread

VTE3040 11/8",6 VTES011l 13/8",6 VTE3500 20mm 6mm VTE3602 25mm 8mm  MI10

VTE3011 13/8",6 VTE3502 25mm 8mm VTE3606 30mm 8mm  MI0

VTE3027 13/8% 21 VTE3506 30mm 10mm VTE3637 1 a3
VTE3536 1" 3/8"

7a

Bore Keyway Bolt Bore Keyway Bolt

VTE3802 25mm  8mm M12 VTE3702 25mm  8mm M12

VTE3806 30mm  8mm M12

VTE3827 1 1/4" M12
Shaft Length Torque Shaft Rotatio Torque

VTE7150 13/8",6 38 300 VTE7250 13/8",6 RH 3000
VTE7160 13/8",6 57 600

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
5.2 www.vapormatic.com



PTO ltalian Type 1

22mm x 54mm VTES011 type 1.41

.

Shaft Tube Width

VTE1810 13/8",6 32.5

id (mm) Groove type

Length (mm) Length (mm)

VTE1500 860 VTE1514 1210 VTE1607 33.0&41.0 Square
VTE1501 1210
VTE1520 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 5.3



2 PTO ltalian Type

24mm x 61mm VTES003 type 2.41

aYy

~ %
| /
%///@%_

VTE3200

29

VTE3207

A (mm) S (mm) Length (mm)
VTE2010 Outer triangular 36 3.2 3000
VTE2011 Inner triangular 29 4 3000
VTE2310 Outer triangular 36 3.2 1000
VTE2311 Inner triangular 29 4 1000

36 VTE2921

&

h  Diameter
78 82

Shaft size

TR

VTE3041 11/8",6 VTEB001 13/8",6 VTE4221 13/8",21 VTE4001 13/8", 6
VTE3001 13/8",6 VTE8029 13/8", 21
VTE3029 13/8",21

Bore

Pin hole

Bore Keyway Thread Bore Keyway Bolt

Bore Keyway

%

Bolt

VTE3503 25mm 8mm VTE3601 20mm  6mm M8 VTE3803 25mm  8mm M12 VTE3703 25mm  8mm M12
VTE3507 30mm 10mm VTE3603 25mm 8mm  M10 VTE3807 30mm 8mm  Mi12 VTE3707 30mm 8mm  Mi12
VTE3537 1 3/8" VTE3607 30mm  8mm M10 VTE3828 1" 1/4" M12 VTE3766 3/4"  3/16" M12
VTE3538 1" 1/4 3/8" VTE3640 1"1/4 5/16" 3/8"

&

Diameter Fixing

VTE4801 90

4 x 90°

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

5.4



PTO Italian Type 2

24mm x 61mm VTES003 type 2.41

Shaft Length Torque Shaft Bolt Torque Shaft Rotatio Torque

VTE7101 13/8",6 38 300 VTE7340 13/8",6 M6x50 780 VTE7251 13/8.6 RH 3000
VTE7161 13/8".6 57 600 VTE7302 13/8",6M6Xx50 900
VTE7171 13/8".6 76 900 VTE7320 3/8",21M6Xx50 900

Shaft Tube Width Shaft Tube Width
6 36

VTE1801 13/8" 6 29 VTE1811 13/8",

Sy

Length (mm) Length (mm) id (mm) Groove type

VTE1500 860 VTE1514 1210 VTE1603 40.5&47.0 Square
VTE1501 1210
VTE1520 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 55



3 PTO ltalian Type

27mm x 70mm VTES001 type 3.41

g _ A (mm) S (mm) Length (mm)

;’/%% 1 VTE2010 Inner triangular 36 3.2 3000

B /’/ < 2 VTE2012 Outer triangular 43.5 34 3000

"/ﬁ\ % VTE2310 Inner triangular 36 32 1000

% /V VTE2312 Outer triangular 435 34 1000
/2//////4/% 7 v Y

L

Tube size (mm) Tube size (mm)

VTE3201 36 VTE3208 43.5

@

o

VTE3002 13/8",6 VTEB002 13/8",6 VTE4002 13/8",6 VTE4102 13/8", 6

VTE3030 13/8", 21

Bore Keyway Bolt Bore Keyway Bolt

Bore Pin hole Bore Keyway Thread
8mm M10

VTE3508 30mm 10mm VTE3604 25mm VTE3804 25mm 8mm M12 VTE3708 30mm 8mm M12
VTE3608 30mm  8mm M10 VTE3808 30mm 8mm M12 VTE3712 35mm 10mm M12

VTE3641 1"1/4  5/16" 3/8"
VTE3646 1"3/8 5/16" 3/8"

& W

Shaft Length Torque Shaft Bolt Torque Shaft Rotatio Torque
RH

VTE7114 13/8",6 57 600 VTE7303 13/8",6M8x50 1300 VTE7213 13/8",6 3000

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
56 www.vapormatic.com



PTO Italian Type 3

27mm x 70mm VTES001 type 3.41

.

Shaft Tube Width

VTE1812 13/8",6 43.5

N,
~

Length (mm)

Length Note Length (mm)

id (mm) Groove type
VTE1502 860 VTE1560 1210 longcone VTE1515 1210 VTE1604 45.0&52.0 Square
VTE1503 1210

VTE1521 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 5.7



4 PTO ltalian Type

27mm x 74.6mm VTE5004 type 4.41 (standard) 22mm x 86mm VTE5037 (wide angle)

g _ A (mm) S (mm) Length (mm)

//% . VTE2012 Outer triangular 435 3.4 3000

B /’/ 2 VTE2013 Inner triangular 36 45 3000

% @ VTE2312 Outer triangular 435 3.4 1000

% /V VTE2313 Inner triangular 36 45 1000
/2//////4/% 7 v v

Tube size (mm) Tube size (mm) Length  Diameter

VTE3202 36 VTE3209 43.5

VTE2923

90

96

VTE3003 13/8",6 VTEB003 13/8", 6

VTE4203

13/8",6

VTE4003

13/8",6

VTE3031 13/8",21 VTES8031 13/8", 21

ya

Bore Keyway Thread

2

Bore Keyway Bolt

VTE4103 13/8",6 VTE3505 25mm 8mm VTE3605 25mm  8mm M12 VYTE3805 25mm  8mm M12
VTE3509 30mm 10mm VTE3609 30mm 8mm M12 VTE3809 30mm  8mm M12
VTE3516 35mm 13mm VTE3616 35mm 10mm  M12 VTE3814 35mm 10mm  Mi2
VTE3540 1"1/4 3/8" VTE3683 1"1/8 1/4" 3/8" VTE3850 1" 1/4" M12
VTE3545 1" 3/8 3/8" VTE3642 1"1/4 1/4" 3/8" VTE3832 1"1/4 5/16" Mi12
VTE3574 1" 3/8 1/2" VTE3647 1"3/8 5/16" 3/8"

N &

Bore Keyway Bolt Diameter Fixing

VTE3713 35mm 10mm M12 VTE4803 100 4 x 90°
VTE4823 100 6 x 60°
VTE7915 180 4 pairs x 90°

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

5.8

www.vaporm atic.com



PTO ltalian Type 4

27mm x 74.6mm VTE5004 type 4.41 (standard) 22mm x 86mm VTE5037 (wide angle)

@

Shaft size Torque Nm Shaft Length Torque Shaft Bolt Torque Shaft size Torque

VTE7014 13/8", 6 900 VTE7162 1 3/8 6 57 600 \TE7346 13/8".6M8x50 1600 VTE7400 13/8,6 2000
VTE7172 13/8".6 76 900 VTE7304 13/8",6M8x50 1700 VTE7401 13/8,6 2500

VTE7182 13/8".6 95 1200 VTE7347 13/8", 6 M8x50 1730 VTE7402 13/8, 21 2000

VTE7341 13/8",6 M8x50 1860 VTE7403 13/4, 6 2000

VTE7322 3/8",21 M8x50 1700 VTE7404 13/4, 6 2500

VTE7405 13/4, 20 2500

L

Shaft Rotatio Torque

VTE7252 13/8",6 RH 3000

o

Shaft Tube Width Shaft Tube Width

VTE1803 13/8" 36 VTE1813 13/8" 43.5

*? - 8500

Length (mm) Length Note Length (mm)

)

id (mm) Groove type

VTE1502 860 VTE1560 1210  long cone VTE1515 1210 VTE1604 450&520 Square
VTE1503 1210
VTE1521 1760

e

Length (mm)

VTE1548 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 5.9



5 PTO ltalian Type

30.2mm x 80mm VTE5007 type 5.41

: o A (mm) S (mm) Length (mm)
//% 1 VTE2014  Outer triangular 516 3 3000

B / < 2, VTE2015 Inner triangular 45 4 3000
%\ ¢ VTE2100  Splined bar 35 12 600

/ /V VTE2130 Round Tube 54 3 1000
'/2//////%/% e % Y VTE2314 Outer triangular 51.6 3 1000
VTE2315 Inner triangular 45 4 1000

VTE2900 Splined sleeve

Tube size (mm) Tube size (mm) Tube size (mm) Splines Sleeve Length

VTE3203 45 VTES3210 51.6 VTE3400 35-712 VTE2154 1235-712 280

@

R

VTE3004 13/8",6 VTES004 13/8",6 VTE4004 13/8",6 VTE3610 30mm 8mm  MI10
VTE3020 13/8",21 VTES020 13/8",21 VTE4024 13/8",21 VTE3624 40mm 12mm M12
VTE3068 13/4",6 VTE8068 13/4",6 VTE3648 1"3/8 5/16"  3/8"
VTE3083 13/4",20 VTE8083 13/4", 20

e

Bore Keyway Bolt
VTE3698 40mm 12mm M12

Shaft size Torque Nm Shaft Length Torque Shaft Bolt Torque Shaft Bolt Torque

VTE7015 13/8", 6 900 VTE7102 13/8",6 57 600 VTE7305 13/8",6410x60 2100 \TE7230 13/8",6M8x50 3000
VTE7049 13/8", 6 1200 VTE7138 13/8",6 76 900
VTE7025 13/8", 6 1200 VTE7139 13/8',6 114 1500

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
5.10 P



PTO Italian Type 5

30.2mm x 80mm VTES5007 type 5.41

Shaft Rotatio Torque
VTE7201 13/8",6 LH 3000
VTE7225 13/8",6 RH 3000
VTE7205 3/8",21 LH 3000

Shaft Tube Width Shaft Tube Width

VTE1804 13/8",6 45 VTE1814 13/8".6 51.6

Bas

Length (mm) Length (mm) id (mm) Groove type

VTE1504 860 VTE1561 1210 long cone VTE1512 1210 VTE1605 52.0&61.5 Square
VTE1505 1210
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.11



6 PTO ltalian Type

30mm x 92mm VTES005 type 6.41 (standard), 27mm x 100mm VTE5038 (wide angle)

/‘/ ¥
B/ g 2

/?//%M_

VTE3204

45 VTE3211

A (mm) S (mm) Length (mm)
VTE2015 Inner triangular 45 4 3000
VTE2016 Outer triangular 54 4 3000
VTE2100 Splined bar 35 12 600
VTE2130 Round Tube 54 3 1000
VTE2316 Outer triangular 54 4 1000
VTE2900 Splined sleeve

54 VTE3401

Tube size (mm) Length  Diameter
108 103

&

35-712 VTE2925

Shaft size

Q

VTE3006 13/8",6 VTEB006 13/8",6 VTE4005 13/8",6 VTE4105 13/8", 6
VTE3022 13/8",21 VTE8022 13/8",21 VTE4025 13/8" 21
VTE3060 13/4",6 VTEB060 13/4",6 VTE4060 13/4",6
VTE3080 13/4",20 VTE8080 13/4",20 VTE4072 13/4", 20

Q

Bore Keyway Thread Bore Keyway Bolt

Bore Keyway

&

Bolt ter
130

VTE3619 35mm 10mm  M12 VTE3816 35mm 10mm  Mi12 VTE3715 35mm 10mm  M12 VTE4805 4 x 90°
VTE3626 40mm 12mm M12 VYTE3819 40mm 12mm M12 VTE3718 40mm 12mm M12 VTE7917 200 4 pairs x 90°
VTE3644 1"1/4 5/16" 3/8" VTE3834 1"1/4 5/16" M12 VTE3722 45mm 14mm M16
VTE3649 1"3/8 5/16" 3/8" VTE3839 1"3/8 5/16" M12 VTE3740  1.3/8" 12mm M12

VTE3742  1.3/4" 3/8" M16

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

5.12

www.vaporm atic.com



PTO Italian Type 6

30mm x 92mm VTES005 type 6.41 (standard), 27mm x 100mm VTE5038 (wide angle)

Shaft size Torque Nm

Shaft Length Torque Shaft Bolt Torque Shaft Bolt Torque

VTE7174 13/8",6 76 900 VTE7306 13/8"6410x60 2500 \TE7344 13/4",6410Xx60 2500

VTE7013 13/8", 6 900
VTE7050 13/8",6 1450
VTE7026 13/8", 6 1200
VTE7052 13/8", 6 1450
VTE7071 13/8", 21 1450
VTE7051 13/4", 6 1450
VTE7066 13/4", 6 1200
VTE7086 13/4", 6 1500
VTE7008 13/4",20 1200
VTE7072 13/4",20 1450

Shaft Rotatio Torque

VTE7208 13/8"6 LH 3000

VTE7324 3/8",21410x60 2500
VTE7316 13/4",6410x60 2500

Shaft Tube Width Shaft Tube Wid:

th
VTE1805 13/8",6 45 VTE1815 13/8",6 54

VTE7226 13/8".6 RH 3000
VTE7206 3/8" 21 LH 3000
VTE7260 3/8" 21 RH 3000

\
e,
N

Length (mm)

Sas

Length Note Length (mm) id (mm) Groove type

VTE1504 860 VTE1561 1210 longcone VTE1512 1210 VTE1606 59.0& 67.0 Square
VTE1505 1210
VTE1522 1760

N

Length (mm)

VTE1549 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

5.13



7 PTO ltalian Type

35mm x 94mm VTES012 type 7.81

VTE3216

0
/?///////A%L

A (mm) S (mm) Length (mm)
VTE2016 Outer triangular 54 4 3000
VTE2017 Inner triangular 45 55 3000
VTE2101 Splined bar 40 14 530
VTE2131 Round Tube 61 35 1000
VTE2316 Outer triangular 54 4 1000
VTE2317 Inner triangular 45 55 1000

VTE2901

Splined sleeve

e

Tube size (mm) Tube size (mm) Tube size (mm)

45 VTE3218

54 VTE3402

40-714 VTE3412

Tube size (mm)

61x3.5

R %R

Bore Keyway Bolt

VTE3012 13/8",6 VTEB012 13/8",6 VTE4006 13/8",6 VTE3840 1"3/8 5/16" MI2
VTE3028 13/8",21 VTE8028 13/8", 21
VTE3061 13/4",6 VTE8061 13/4", 6

® & W

Shaft size Torque Nm Shaft Bolt Torque
VTE7047 13/8", 6 1700 VTE7311 13/8",6412x70 3000 VTE7258 13/8",6 RH 3000
VTE7073 13/8", 21 1700 VTE7326 3/8",21412x70 3000
VTE7055 13/4", 6 1500 VTE7325 13/4",6412x70 3000
VTE7067 13/4", 6 1200
VTE7087 13/4", 6 1700

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

5.14



PTO Italian Type 7

35mm x 94mm VTES5012 type 7.81

Shaft Tube Width Shaft Tube Width

VTE1806 13/8",6 45 VTE1816 13/8",6

SaCs

Length (mm) Length Note Length (mm)

id (mm) Groove type

VTE1504 860 VTE1561 1210 longcone VTE1512 1210 VTE1606 59.0& 67.0 Square
VTE1505 1210
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.15



8 PTO ltalian Type

35mm x 106.5mm VTE5009 type 8.81 (standard) 30.2mm x 106mm VTE5039 (wide angle)

: = A (mm) S (mm) Length (mm)

//% 1 VTE2016  Inner triangular 54 4 3000

B // < 2 VTE2018 Outer triangular 63 4 3000
%\ 0 VTE2101  Splined bar 40 14 530

% /V VTE2131 Round Tube 61 35 1000
'/2//////%/% T % \ VTE2316 Inner triangular 54 4 1000
VTE2318 Outer triangular 63 4 1000

e

VTE2901 Splined sleeve

Tube size (mm) Tube size (mm)

Tube size (mm) Tube size (mm)

VTE3217 54 VTE3219 63 VTE3403 40-714 VTE3413 61x3.5

T

VTE3009 13/8",6 VTES009 13/8",6 VTE4007 13/8",6 VTE4162 13/4",6
VTE3025 13/8",21 VTE8025 13/8",21 VTE4062 13/4",6

VTE3062 13/4",6 VTE8062 13/4",6 VTE4074 13/4", 20

VTE3082 13/4",20 VTE8082 13/4", 20

<%

Bore Keyway Thread Bore Keyway Bolt

&

Bore Keyway Bolt Diameter Fixing

VTE3622 35mm 10mm M12 VTE3818 35mm 10mm M12 VTE3724 45mm 14mm M16 VTE7919 200 4 pairs x 90°

VTE3824 45mm 14mm M12

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
5.16 P



PTO Italian Type 8

35mm x 106.5mm VTE5009 type 8.81 (standard) 30.2mm x 106mm VTE5039 (wide angle)

Shaft size Torque Nm Shaft Bolt Torque Shaft Bolt Torque Shaft Rotatio Torque

VTE7054 13/8",6 1500 VTE7308 13/8",6412x70 3500 VTE7345 13/8",6412x70 3500 VTE7228 13/8"6 RH 3000
VTE7028 13/8",6 1200 VTE7327 3/8",21412x70 3500 VTE7271 138" 6 RH 3000
VTE7048 13/8",6 2000 VTE7318 13/4",6/12x70 3500

VTE7075  13/8"21 2000

VTE7056 13/4",6 1500

VTE7070 13/4", 6 1200

VTE7088 13/4",6 2000

VTE7076 13/4", 20 2000

Shaft Tube Width Shaft Tube Width

VTE1841 13/8"6 54 VTE1868 13/8",6

O

VTE1510 860 VTE1513 1210 VTE1611 67.0&79.5 Square VTE1553 1210
VTE1511 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.17



9 PTO ltalian Type

41mm x 108mm VTE5013 type 9.41

: o A (mm) S (mm) Length (mm)

//% 1 VTE2018  Outer triangular 63 4 3000

B ?/ % VTE2104 Splined bar 45 16 500

//‘“ % VTE2318 Outer triangular 63 4 1000

@/ /9 VTE2320 Inner triangular 54 6 1000
@/@/%,/% Y VTE2904  Splined sleeve

Tube size (mm) Tube size (mm)

VTE3220 54 VTE3222 63

VTE3013 13/8",6 VTEB013 13/8",6
VTE3017 13/8",21 VTE8017 13/8", 21
VTE3065 13/4",6 VTE8065 13/4", 6
VTE3087 13/4", 20

Shaft size Torque Nm

VTE7059 13/4", 6 2000
VTE7060 13/4", 20 2000

Sas O‘

Length (mm) Length (mm) id (mm) Groove type

VTE1510 860 VTE1513 1210 VTE1611 67.0&79.5 Square
VTE1511 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
5.18 P



PTO Italian Type 10

41mm x 118mm VTES5014 type 10.41

: o A (mm) S (mm) Length (mm)

//% 1 VTE2007 Outer triangular 66 56 3000

B ?/ % _ VTE2020 Inner triangular 54 6 3000
//‘N ¢ | '|A VTE2104 Splined bar 45 16 500
@/ /9 ' VTE2307 Outer triangular 66 5.6 1000
@/@/%,/% Y VTE2320 Inner triangular 54 6 1000

VTE2904 Splined sleeve

L

VTE3221 54 VTE3223 66

VTE3014 13/8",6 VTE8014 13/8", 6
VTE3018 13/8", 21
VTE3088 13/4", 20

Shaft size Torque Nm

VTE7023 13/8", 6 2000
VTE7062 13/8", 21 2000
VTE7063 13/4", 6 2000
VTE7064 13/4", 20 2000

\
e,
S

Length (mm) Length (mm) id (mm) Groove type
VTE1510 860 VTE1513 1210 VTE1611 67.0&79.5 Square
VTE1511 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.19




A7 PTO ltalian Type

30.2mm x 106.5mm VTES5006 type 7.41

: = A (mm) S (mm) Length (mm)

//% 1 VTE2016 Outer triangular 54 4 3000

B ?/ % VTE2017 Inner triangular 45 55 3000
%““ % VTE2020 Inner triangular 54 6 3000

%/( / VTE2101 Splined bar 40 14 530
‘/&///////%/ / Y VTE2316 Outer triangular 54 4 1000
VTE2317 Inner triangular 45 55 1000

VTE2901 Splined sleeve

Ll

Tube size (mm Tube size (mm

VTE3205 45 VTE3212 54

VTE3008 13/8",6
VTE3084 13/4", 20

Shaft Tube Width

VTE1840 13/8" 6

\
o
~

Length (mm) Length (mm) id (mm) Groove type

VTE1504 860 VTE1561 1210 longcone VTE1512 1210 VTE1606 59.0&67.0 Square
VTE1505 1210
VTE1522 1760

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

5.20



Notes

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.21



A8 PTO ltalian Type

35mm x 106.5mm VTE5009 type 8.41

: = A (mm) S (mm) Length (mm)

//% 1 VTE2016 Outer triangular 54 4 3000

B // 2 VTE2017 Inner triangular 45 55 3000

% @ VTE2101 Splined bar 40 14 530

% /V VTE2316 Outer triangular 54 4 1000

'/2//////%/% T % \ VTE2317 Inner triangular 45 5.5 1000
VTE2901 Splined sleeve

VTE3206

45 VTE3213

54

°

VTE3009 13/8",6 VTES009 13/8",6 VTE4007 13/8",6 VTE4162 13/4",6
VTE3025 13/8",21 VTE8025 13/8",21 VTE4062 13/4",6

VTE3062 13/4",6 VTES8062 13/4",6 VTE4074 13/4", 20

VTE3082 13/4",20 VTE8082 13/4", 20

T w

Bore Keyway Thread Bore Keyway Bolt Bore Keyway Bolt

VTE3622 35mm 10mm M12 VTE3818 35mm 10mm M12 VTE3724 45mm 14mm M16
VTE3824 45mm 14mm M12

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
5.22 P



PTO Italian Type A8

35mm x 106.5mm VTES5009 type 8.41

Shaft size Torque Nm Shaft Bolt Torque Shaft Bolt Torque Shaft Rotatio Torque

VTE7054 13/8",6 1500 VTE7308 13/8",6412x70 3500 VTE7345 13/8",6412x70 3500 VTE7228 13/8"6 RH 3000
VTE7028 13/8",6 1200 VTE7327 3/8",21412x70 3500 VTE7271 138" 6 RH 3000
VTE7048 13/8",6 2000 VTE7318 13/4",6/12x70 3500

VTE7075  13/8"21 2000

VTE7056 13/4",6 1500

VTE7088 13/4", 6 2000

VTE7076  13/4",20 2000

=

Shaft Tube Width

VTE1818 13/8",6
\
S
CaCs

VTE1510 VTE1561 1210  long cone VTE1512 1210 VTE1611 67 0&795 Square
VTE1511 1210

)

id (mm) Groove type

Length (mm)

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.23



S2 PTO ltalian Type

24mm x 61mm VTES5003 (standard), 22mm x 76mm VTE5036 (wide angle)

VTE3041 11/8",6 VTEB001 13/8",6 VTE4221 13/8",21 VTE4001 13/8", 6
VTE3001 13/8",6 VTEB029 13/8", 21
VTE3029 13/8",21

" A

Bore Pin hole Bore Keyway Bolt Bore Keyway Bolt
VTE3503 25mm 8mm VTE3601 20mm  6mm M8 VTE3803 25mm  8mm M12 VTE3703 25mm  8mm M12
VTE3507 30mm 10mm VTE3603 25mm 8mm  M10 VTE3807 30mm 8mm  M12 VTE3707 30mm 8mm  Mi2
VTE3537 1" 3/8" VTE3607 30mm 8mm  M10 VTE3828 1" 1/4"  M12 VTE3766 3/4"  3/16"  M12
VTE3538 1" 1/4 3/8" VTE3640 1"1/4 5/16" 3/8"

&

Diameter Fixing

VTE4801 90 4 x90°

\
S\‘ -.-

e
Sas

d

Length (mm)

Length (mm)

VTE1536 1210 VTE1544 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
5.24 P



PTO Italian Type S4

27mm x 74.6mm VTE5004 (standard), 22mm x 86mm VTE5037 (wide angle)

@

VTE3003 13/8",6 VTEB003 13/8",6 VTE4203 13/8",6 VTE4003 13/8", 6

VTE3031 13/8",21 VTE8031 13/8",21

VTE4103 13/8",6 VTE3505 25mm 8mm VTE3605 25mm  8mm M12 VTE3805 25mm  8mm M12
VTE3509 30mm 10mm VTE3609 30mm 8mm M12 VTE3809 30mm 8mm M12
VTE3516 35mm 13mm VTE3616 35mm 10mm  M12 VTE3814 35mm 10mm  Mi2
VTE3540 1" 1/4 3/8" VTE3683 1"1/8  1/4"  3/8" VTE3850 1" 14 MI12
VTE3545 1" 3/8 3/8" VTE3642 1"1/4 1/4" 3/8" VTE3832 1"1/4 5/16" Mi12
VTE3574 1" 3/8 1/2" \VTE3647 1"3/8 5/16" 3/8"

O

Bore Keyway Bolt Diameter Fixing

VTE3713 35mm 10mm M12 VTE4803 100 4 x 90°
VTE4823 100 6 x 60°
VTE7915 180 4 pairs x 90°

Length (mm) Length (mm)

VTE1536 1210 VTE1544 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.25



S5 PTO ltalian Type

30.2mm x 80mm VTE5007 type

@

VTE3004 13/8",6 VTES8004 13/8",6 VTE4004 13/8",6 VTE3610 30mm 8mm  MI10
VTE3020 13/8",21 VTES020 13/8",21 VTE4024 13/8",21 VTE3624 40mm 12mm M12
VTE3068 13/4",6 VTES068 13/4",6 VTE3648 1'3/8 516"  3/8"
VTE3083 13/4",20 VTE8083 13/4", 20

.

Bore Keyway Bolt

VTE3698 40mm 12mm

EY
00‘30 3
Length (mm)
VTE1536 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
5.26 P



PTO Italian Type S6

30.2mm x 80mm VTE5007 (standard), 27mm x 100mm VTES5038 (wide angle)

-~

Sy

VTE1537 1210 VTE1545 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.27



H7 PTO ltalian Type

30mm x 92mm VTES005 (standard), 27mm x 100mm VTE5038 (wide angle)

@

nas

VTE3006 138" 6 VTE8006 13/8",6 VTE4005 138" 6 VTEA4105 138" 6
VTE3022 138" 21 VTES022 138,21 VTE4025 138", 21
VTE3060 13/4",6 VTES060 13/4",6 VTE4060 13/4",6
VTE3080 13/4",20 VTE8080 13/4",20 VTE4072 13/4", 20

Q

Bore Keyway Thr Bore Keyway Bolt

ead
VTE3619 35mm 10mm M12 VTE3816 35mm 10mm M12

Bore Keyway Bolt Diameter Fixing

&

VTE3715 35mm 10mm  M12 V/TE4805 130 4 x 90°
VTE3626 40mm 12mm M12 VTE3819 40mm 12mm M12 VYTE3718 40mm 12mm M12 VTE7917 200 4 pairs x 90°
VTE3644 1"1/4 5/16" 3/8" VTE3834 1"1/4 5/16" M12 VTE3722 45mm 14mm M16
VTE3649 1"3/8 5/16" 3/8" VTE3839 1"3/8 5/16" M12 VTE3740  1.3/8" 12mm M12

VTE3742  1.3/4" 3/8" M16

Sas

VTE1537 1210 VTE1545 1210

Length (mm) Length (mm)

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

5.28

www.vaporm atic.com



PTO Italian Type S8

35mm x 94mm VTES012 (standard), 30.2mm x 106mm VTES5039 (wide angle)

VTE3012 13/8",6 VTEB012 13/8",6 VTE4006 13/8",6 VTE3840 1"3/8 5/16" MI2
VTE3028 13/8",21 VTE8028 13/8",21
VTE3061 13/4",6 VTE8061 13/4", 6

~

=

VTE1538 1210 VTE1546 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

Www.vapormatic.com 5.29



H8 PTO ltalian Type

35mm x 94mm VTES012 (standard), 30.2mm x 106mm VTES5039 (wide angle)

13/8",6 VTE3840

1"3/8  5/16" M12

VTE3012 13/8",6 VTEB012 13/8",6 VTE4006
VTE3028 13/8",21 VTE8028 13/8" 21
VTE3061 13/4",6 VTE8061 13/4", 6

~

=

VTE1538 1210 VTE1546 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

5.30

www.vaporm atic.com



PTO Italian Type S9

35mm x 106.5mm VTE5009 (standard), 30.2mm x 122mm VTE5041 (wide angle)

= s

VTE3009 13/8",6 VTES009 13/8",6 VTE4007 13/8",6 VTE4162 13/4",6
VTE3025 13/8",21 VTE8025 13/8",21 VTE4062 13/4",6

VTE3062 13/4",6 VTE8062 13/4",6 VTE4074 13/4",20

VTE3082 13/4",20 VTE8082 13/4", 20

T w N

Bore Keyway Thread Bore Keyway Bolt Bore Keyway Bolt

VTE3622 35mm 10mm  M12 VTE3818 35mm 10mm  M12 VTE3724 45mm 14mm  M16 VTE7919 200 4 pairs x 90°

VTE3824 45mm 14mm M12
\
S“ -

NG N

Sy

VTE1539 1210 VTE1547 1210

Diameter Fixing

Length (mm)

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.31



SH PTO ltalian Type

42mm x 107.5mm VTES5034 (standard), 34.9mm x 112mm VTE5040 (wide angle)

-~

Sy

VTE1543 1210 VTE1547 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
5.32 P



PTO Italian Type SO

42mm x 130mm VTE5035 type

SaCs

VTE1543 1210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com
P 5.33






PTO German Type

Cross journal
Energy cross journal 6.1
Evolution cross journal 6.1
Wide angle cross journal 6.1
Inner yoke
Inner lemon tube 6.2
Outer lemon tube 6.2
Inner star tube 6.3
Outer star tube 6.3
Wide angle inner yoke
Inner lemon tube 6.4
Outer lemon tube 6.4
Inner star tube 6.4
Profile tube
Inner lemon 6.5
Outer lemon 6.5
Inner star 6.6
Outer star 6.6
Guar missing safety sticker 6.7
Wide angle joint body
Wide angle joint body 6.7
Outer yoke
Quick release 6.8
Retractable collar 6.9
Splined only 6.10
Splined yoke with interfering bolt 6.10
Splined yoke with non interfering bolt 6.11
Plain bore with pin hole 6.11
Plain bore with keyway & threaded hole 6.12
Plain bore with keyway & non interfering bolt 6.13
Plain bore with keyway & interfering bolt 6.14
Flange yoke 6.14

Continued over page...

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com



PTO German Type

Wide angle outer yoke
Retractable collar 6.15
Safety device
Friction clutch 6.16
Ratchet clutch 6.17
Shear bolt unit 6.18
Wide angle shear bolt unit 6.19
Shear bolt unit with over run 6.19
Automatic cam clutch 6.20
Over run clutch 6.21
Yoke assembly
Quick release inner lemon tube 6.22
Quick release outer lemon tube 6.22
Quick release inner star tube 6.22
Quick release outer star tube 6.23
Wide angle assembly
Quick release inner lemon tube 6.24
Quick release outer lemon tube 6.24
Quick release inner star tube 6.24
Guards
Guard assembly 6.25
Safety device guard assembly 6.26
Guard kit 6.27
Guard retainer 6.28
Wide angle guard kit 6.29
Wide angle guard cone 6.29
Guard chain 6.30
Shaft assembly
Quick release shaft assembly 6.31 sq
Retractable collar shaft 6.32 a
Ratchet clutch shaft 6.32 -
Over run clutch shaft 6.33
Wide angle shaft 6.33
Double wide angle shaft 6.33
Wide angle shear bolt shaft 6.34

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com


http://www.vapormatic.com/

PTO German Type

Part no. Series Information Part no. Series Information
Endcap  Width (mm) Greaser Product Endcap  Width (mm) Greaser Product
Location Range Location Range
VTE5001 w1 27 70 Centre Energy VTES5019 P400 32 76 End cap Evolution
VTES5002 w11 34 90 Centre Energy VTES5019 w2400 32 76 End cap Evolution
VTES5005 w220 30 92 Centre Energy VTES5029 P500 36 89 End cap Evolution
VTES5006 w230 30.2 106.5 Centre Energy VTE5029 w2500 36 89 End cap Evolution
VTES5009 w240 35 106.5 Centre Energy VTES5030 P600 42 104 End cap Evolution
VTES5000 w2100 22 55 Centre Energy VTE5030 W2600 42 104 End cap Evolution
VTES5003 w2200 24 61 Centre Energy VTES5031 P700 50 118 End cap Evolution
VTES5004 w2300 27 74.6 Centre Energy
VTES5008 w2400 32 76 Centre Energy
VTES5010 w2500 36 89 Centre Energy
VTES5015 w2600 42 104 Centre Energy

Part no. Series Information
End cap 1 Width 1 End cap 2 Width2  Greaser

(mm) (mm) (mm) (mm) loaction
VTES5017 w2380 27 74.6 23.8 95 Centre
VTES5033 w2480 32 76 27 98  Endcap
VTES5032 w2580 36 89 32 110 End cap

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.1



PTO German Type

Part no. Series Information
UJ size (mm) Tube profile A xB (mm)

VTE3103 w1 27x70 Ov 34.5x40 58 85 10 80
VTE3108 w11 34 x90 1b 39.5x49 70 96 10 89
VTE3107 w220 30x92 1b 39.5x49 70 105 10 106
VTE3122 w230 30.2 x 106.5 1b 39.5x49 70 120 10 106
VTE3100 w2100 22 x55 00a 2315pdsill 47 79 65
VTE3101 w2200 24 x 61 00a 235x31 47 82 71
VTE3102 w2200 24 x 61 Oov 34.5x40 58 82 10 71
VTE3104 w2300 27 x74.6 Oov 34.5x40 58 98 10 85
VTE3105 w2300 27 x74.6 1b 39.5x49 70 98 10 85
VTE3106 W2400 32x76 1b 39.5x49 70 96 10 89
VTE3109 w2500 36 x 89 1b 39.5x49 70 105 10 106

Part no. Series Information
UJ size (mm) Tube profile A xB (mm)

VTE3113 wi 27 x70 1 41 x48 58 85 10 80
VTE3118 w11 34 x90 2a 48 x57.5 70 96 10 89
VTE3117 w220 30x92 2a 48 x57.5 70 105 10 106
VTE3123 w230 30.2 x 106.5 2a 48 x57.5 70 120 10 106
VTE3121 w240 35 x 106.5 2a 48 x57.5 70 120 10 117
VTE3110 w2100 22 x55 Oa 30 x 39 47 79 65
VTE3111 w2200 24 x 61 Oa 30 x 39 47 82 71
VTE3112 w2200 24 x 61 1 41 x48 58 82 10 71
VTE3114 w2300 27 x74.6 1 41 x48 58 98 10 85
VTE3115 w2300 27 x74.6 2a 48 x57.5 70 98 10 85
VTE3116 w2400 32x76 2a 48 x57.5 70 96 10 89
VTE3119 w2500 36 x 89 2a 48 x57.5 70 105 10 106

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

6.2

www.vaporm atic.com



j@

PTO German Type

Part no. Series Information

UJ size (mm) Tube profile A xB (mm)
VTE3300 wi1i 34 x90 s4 51x37
VTE3127 w220 30 x92 s4 51 x37 70 105 10 106
VTE3130 w230 30.2 x 106.5 s4 51 x37 70 120 10 106
VTE3301 w240 35 x106.5 s4 51 x37 70 120 10 117
VTES3303 w2400 32x76 s4 51 x37 70 96 10 89
VTE3303 P400 32x76 s4 51x37 70 96 10 89
VTES3302 w2500 36 x 89 s4 51x37 70 105 10 106
VTES3302 P500 36 x 89 s4 51 x37 70 105 10 106
VTES3321 w2600 42 x 104 s4 51 x37 70 130 10 121
VTE3323 w2600 42 x 104 s5h 61 x 47 90 130 13 121
VTE3304 P600 42 x 104 s5h 51 x37 104 137 13 126
VTE3307 P700 50x118 s5h 61 x 47 105 140 13 137

Part no. Series Information
UJ size (mm)

Tube profile

A x B (mm)

L (mm)

S (mm)

VTE3310 w11 34 x90 s5 61 x 47 70 96 10 89
VTE3128 w220 30x92 s5 61 x 47 70 105 10 106
VTE3129 w230 30.2x106.5 s5 61 x 47 70 120 10 106
VTE3311 w240 35x106.5 s5 61 x 47 70 120 10 117
VTES3313 w2400 32x76 s5 61 x 47 70 96 10 89
VTES3313 P400 32x76 s5 61 x 47 70 96 10 89
VTE3312 w2500 36 x89 s5 61 x 47 70 105 10 106
VTES3312 P500 36 x89 s5 61 x 47 70 105 10 106
VTE3305 w2600 42 x 104 s5 61 x 47 104 137 13 126
VTE3305 P600 42 x 104 s5 61 x 47 104 137 13 126
VTE3320 w2600 42 x 104 s5 61 x 47 70 130 10 121
VTE3322 W2600 42 x 104 s6h 71.5x57.5 90 130 13 121
VTE3306 P700 50 x 118 s6h 71.5x575 105 138 14 136

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

6.3



PTO German Type

L
R B
x A
/|
L P

Part no. Series Information
UJ size (mm) Tube Profile A xB (mm) D (mm) L (mm) S (mm) X (mm)
VTE3150 W2480 32x76/27x98 1b 49 x 39.5 70 108 10 85 27

L
— B
x A
/|
P P

Part no. Series Information

UJ size (mm) Tube Profile AxB (mm)
VTE3161 w2380 27x74.6/23.8 1 48 x 41 58 98 10 85 24
x 95
VTE3160 W2480 32x76/27 x98 2a 57.5x48 70 108 10 85 27

x

o o

Part no. Series Information

UJ size (mm) Tube Profile A x B (mm)
VTE3053 w2580 36x 89/32x s4 51 x37 70 105 10 106 30
110

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.4 www.vapormatic.com



PTO German Type

Part no. Series Information Part no. Series Information

Profile A (mm) S (mm) Length Profile A (mm) S (mm) Length
(mm)

VTE2000 w2100 00a 31 235 3.6 3000 VTE2001 w2200 Oa 39 30 2.8 3000
VTE2000 w2200 00a 31 235 3.6 3000 VTE2001 w2100 Oa 39 30 2.8 3000
VTE2002 w2380 Ov 40 345 4 3000 VTE2003 w2300 1 48 41 3 3000
VTE2002 w1 Ov 40 345 4 3000 VTE2003 w2100 1 48 41 3 3000
VTE2002 w2100 Ov 40 345 4 3000 VTE2003 w1 1 48 41 3 3000
VTE2002 w2200 Ov 40 345 4 3000 VTE2003 w2380 1 48 41 3 3000
VTE2002 w2300 Ov 40 345 4 3000 VTE2003 w2200 1 48 41 3 3000
VTE2006 W240 1b (1s) 49 39.5 45 3000 VTE2005 w220 2a (2s) 57.5 48 4 3000
VTE2006 w11 1b (1s) 49 39.5 45 3000 VTE2005 w230 2a (2s) 57.5 48 4 3000
VTE2006 w220 1b (1s) 49 39.5 45 3000 VTE2005 w2480 2a (2s) 57.5 48 4 3000
VTE2006 w230 1b (1s) 49 39.5 45 3000 VTE2005 w240 2a (2s) 57.5 48 4 3000
VTE2006 W2400 1b (1s) 49 39.5 45 3000 VTE2005 w2380 2a (2s) 57.5 48 4 3000
VTE2006 W2300 1b (1s) 49 39.5 45 3000 VTE2005 wi1 2a (2s) 57.5 48 4 3000
VTE2006 W2500 1b (1s) 49 39.5 45 3000 VTE2005 w2580 2a (2s) 57.5 48 4 3000
VTE2300 w2100 00a 31 235 3.6 1000 VTE2005 w2500 2a (2s) 57.5 48 4 3000
VTE2300 w2200 00a 31 235 3.6 1000 VTE2005 w2400 2a (2s) 57.5 48 4 3000
VTE2302 w2200 Ov 40 345 4 1000 VTE2005 w2300 2a (2s) 57.5 48 4 3000
VTE2302 wi Ov 40 345 4 1000 VTE2005 P400 2a (2s) 57.5 48 4 3000
VTE2302 w2300 Ov 40 345 4 1000 VTE2301 w2200 Oa 39 30 2.8 1000
VTE2302 w2380 Ov 40 345 4 1000 VTE2301 w2100 Oa 39 30 2.8 1000
VTE2302 w2100 Ov 40 345 4 1000 VTE2303 w2300 1 48 41 3 1000
VTE2306 W2500 1b (1s) 49 395 45 1000 VTE2303 w1 1 48 41 3 1000
VTE2306 w240 1b (1s) 49 395 45 1000 VTE2303 w2200 1 48 41 3 1000
VTE2306 W2400 1b (1s) 49 395 45 1000 VTE2303 w2380 1 48 41 3 1000
VTE2306 w230 1b (1s) 49 395 45 1000 VTE2303 w2100 1 48 41 3 1000
VTE2306 w220 1b (1s) 49 395 45 1000 VTE2305 w2300 2a (2s) 57.5 48 4 1000
VTE2306 W2300 1b (1s) 49 395 45 1000 VTE2305 w2400 2a (2s) 57.5 48 4 1000
VTE2306 w11 1b (1s) 49 395 45 1000 VTE2305 w2500 2a (2s) 57.5 48 4 1000
VTE2305 P400 2a (2s) 57.5 48 4 1000
VTE2305 w2480 2a (2s) 57.5 48 4 1000
VTE2305 W240 2a (2s) 57.5 48 4 1000
VTE2305 W2580 2a (2s) 57.5 48 4 1000
VTE2305 w230 2a (2s) 57.5 48 4 1000
VTE2305 w220 2a (2s) 575 48 4 1000
VTE2305 wi1 2a (2s) 57.5 48 4 1000
VTE2305 W2380 2a (2s) 57.5 48 4 1000

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.5



PTO German Type

Part no. Series Information Part no. Series [nformation
Profile A (mm) Profile A (mm)
VTE2025 w2580 S4H 51 37 - 930 VTE2031 P500 S5 61 47 45 3000
VTE2025 w2480 S4H 51 37 - 930 VTE2031 w2500 S5 61 47 45 3000
VTE2026 P700 S5H 61 47 45 1025 VTE2031 w2600 S5 61 47 45 3000
VTE2026 P600 S5H 61 47 45 1025 VTE2031 w240 S5 61 47 45 3000
VTE2026 W2600 S5H 61 47 4.5 1025 VTE2031 w2400 S5 61 47 4.5 3000
VTE2030 w11 S4 51 37 - 3000 VTE2031 w230 S5 61 47 45 3000
VTE2030 w220 sS4 51 37 - 3000 VTE2031 w2580 S5 61 47 4.5 3000
VTE2030 w230 sS4 51 37 - 3000 VTE2031 w220 S5 61 47 4.5 3000
VTE2030 w240 sS4 51 37 - 3000 VTE2031 w2480 S5 61 47 45 3000
VTE2030 w2400 sS4 51 37 - 3000 VTE2031 wi1 S5 61 47 45 3000
VTE2030 w2500 sS4 51 37 - 3000 VTE2031 P400 S5 61 47 4.5 3000
VTE2030 w2600 sS4 51 37 - 3000 VTE2032 P600 S6 71.5 57.5 5 3000
VTE2030 P400 S4 51 37 - 3000 VTE2032 P700 S6 71.5 57.5 5 3000
VTE2030 P500 S4 51 37 - 3000 VTE2032 w2600 S6 71.5 57.5 5 3000
VTE2030 w2480 S4 51 37 - 3000 VTE2331 w230 S5 61 47 4.5 1000
VTE2030 w2580 S4 51 37 - 3000 VTE2331 w240 S5 61 47 4.5 1000
VTE2330 w2600 S4 51 37 - 1000 VTE2331 w220 S5 61 47 4.5 1000
VTE2330 P400 sS4 51 37 - 1000 VTE2331 w2400 S5 61 47 4.5 1000
VTE2330 P500 S4 51 37 - 1000 VTE2331 w2500 S5 61 47 4.5 1000
VTE2330 w2500 S4 51 37 - 1000 VTE2331 w11 S5 61 47 4.5 1000
VTE2330 w2400 S4 51 37 - 1000 VTE2331 w2600 S5 61 47 4.5 1000
VTE2330 w2480 S4 51 37 - 1000 VTE2331 P400 S5 61 47 4.5 1000
VTE2330 w240 S4 51 37 - 1000 VTE2331 P500 S5 61 47 4.5 1000
VTE2330 w230 S4 51 37 - 1000 VTE2331 w2480 S5 61 47 4.5 1000
VTE2330 w2580 S4 51 37 - 1000 VTE2331 w2580 S5 61 47 4.5 1000
VTE2330 w220 S4 51 37 - 1000 VTE2332 P600 S6 71.5 57.5 5 1000
VTE2330 wi1 S4 51 37 - 1000 VTE2332 P700 S6 71.5 57.5 5 1000
VTE2332 W2600 S6 71.5 57.5 5 1000

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.6 www.vapormatic.com



PTO German Type

Part no. Series Information

VTE2500 w1 Safety sticker
VTE2500 w2380 Safety sticker
VTE2500 w2280 Safety sticker
VTE2500 w2100 Safety sticker
VTE2500 w2200 Safety sticker
VTE2500 w2400 Safety sticker
VTE2500 w2300 Safety sticker
VTE2501 wi1  Safety sticker
VTE2501 w220 Safety sticker
VTE2501 w230 Safety sticker
VTE2501 w240 Safety sticker
VTE2501 w2300 Safety sticker
VTE2501 w2500 Safety sticker
VTE2501 w2580 Safety sticker
VTE2501 w2600 Safety sticker
VTE2501 P400 Safety sticker
VTE2501 pPs500 Safety sticker
VTE2501 Pe600 Safety sticker
VTE2501 p700 Safety sticker
VTE2501 w2480 Safety sticker
VTE2501 w2400 Safety sticker

Series Information

UJ size (mm)
VTES5501 w2380 27 x74.6 /23.8 x 95 155 95
VTES500 w2480 32x76/27x98 165 104
VTES5502 w2580 36 x89/32x110 180 118

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.7



PTO German Type

UJ size (mm)

VTE3002 w1 27x70 13/8", 6 102 18 80
VTE3030 w1 27x70 13/8", 21 102 18 80
VTE3007 w11 34 x90 13/8", 6 112 20 89
VTE3023 wi1 34 x90 13/8" 21 112 20 89
VTE3006 w220 30x92 13/8", 6 122 24 109
VTE3022 w220 30x92 13/8" 21 122 24 109
VTE3060 w220 30x92 13/4", 6 122 24 109
VTE3080 w220 30x92 13/4", 20 122 24 109
VTE3008 w230 30.2 x106.5 13/8", 6 125 20 117
VTE3084 w230 30.2 x106.5 13/4", 20 125 20 117
VTE3009 w240 35x106.5 13/8", 6 125 20 117
VTE3025 w240 35x106.5 13/8", 21 125 20 117
VTE3062 w240 35x106.5 13/4", 6 125 20 117
VTE3082 w240 35x106.5 13/4", 20 125 20 117
VTE3054 w2100 22 x55 11/8", 6 95 17 66
VTE3000 w2100 22 x55 13/8", 6 95 17 66
VTE3044 w2100 22 x55 13/8", 21 95 17 66
VTE3041 w2200 24 x61 11/8", 6 98 75 73
VTE3001 w2200 24 x61 13/8", 6 98 75 73
VTE3029 w2200 24 x61 13/8", 21 98 75 73
VTE3003 W2300 27 x74.6 13/8", 6 109 18 85
VTE3031 w2300 27 x74.6 13/8", 21 109 18 85
VTE3005 w2400 32x76 13/8", 6 112 20 89
VTE3005 P400 32x76 13/8", 6 112 20 89
VTE3021 P400 32x76 13/8", 21 112 20 89
VTE3021 w2400 32x76 13/8", 21 112 20 89
VTE3047 w2400 32x76 13/4", 6 112 20 89
VTE3047 P400 32x76 13/4", 6 112 20 89
VTE3048 P400 32x76 13/4", 20 112 20 89
VTE3048 w2400 32x76 13/4", 20 112 20 89
VTE3010 P500 36 x89 13/8", 6 122 24 103
VTE3010 w2500 36 x89 13/8", 6 122 24 103
VTE3026 W2500 36 x89 13/8", 21 122 24 103
VTE3026 P500 36 x89 13/8", 21 122 24 103
VTE3063 W2500 36 x89 13/4", 6 122 24 103
VTE3063 P500 36 x89 13/4", 6 122 24 103
VTE3049 P500 36 x89 13/4", 20 122 24 103
VTE3049 w2500 36 x89 13/4", 20 122 24 103
VTE3015 w2600 42 x 104 13/8", 6 137 30 122
VTE3015 P600 42 x 104 13/8", 6 137 30 122
VTE3034 W2600 42 x 104 13/8", 21 137 35 122
VTE3034 P600 42 x 104 13/8", 21 137 35 122
VTE3085 w2600 42 x 104 13/4", 20 137 30 122
VTE3085 P600 42 x 104 13/4", 20 137 30 122

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.8 www.vapormatic.com



Series Information

PTO German Type

UJ size
VTE8002 w1 27 x70 13/8", 6 107 225 88
VTE8006 w220 30 x92 13/8", 6 124 235 106
VTE8022 w220 30 x92 13/8", 21 130 36.5 106
VTE8060 w220 30 x92 13/4", 6 130 32 106
VTE8080 w220 30 x92 13/4", 20 130 32 106
VTE8009 w240 35 x 106.5 13/8", 6 132.5 235 121
VTE8025 w240 35 x 106.5 13/8", 21 146 375 121
VTE8062 w240 35 x 106.5 13/4", 6 145 32 121
VTE8082 w240 35 x 106.5 13/4", 20 145 32 121
VTE8000 w2100 22 x 55 13/8", 6 99 225 65
VTE8044 w2100 22 x 55 13/8", 21 99 225 65
VTE8001 w2200 24 x 61 13/8", 6 103 225 71
VTE8029 w2200 24 x 61 13/8", 21 103 225 71
VTE8003 w2300 27 x74.6 13/8", 6 112 235 85
VTE8031 w2300 27 x74.6 13/8", 21 112 235 85
VTE8005 w2400 32x76 13/8", 6 115 235 94
VTES8005 P400 32x76 13/8", 6 115 235 94
VTE8021 P400 32x76 13/8", 21 115 235 94
VTE8021 w2400 32x76 13/8", 21 115 235 94
VTE8047 w2400 32x76 13/4", 6 115 235 94
VTE8047 P400 32x76 13/4", 6 115 235 94
VTES8048 P400 32x76 13/4", 20 115 235 94
VTE8048 w2400 32x76 13/4", 20 115 235 94
VTE8010 w2500 36 x 89 13/8", 6 124 235 106
VTE8010 P500 36 x 89 13/8", 6 124 235 106
VTE8026 W2500 36 x 89 13/8", 21 124 235 106
VTE8026 P500 36 x 89 13/8", 21 124 235 106
VTE8063 P500 36 x 89 13/4", 6 124 235 106
VTE8063 W2500 36 x 89 13/4", 6 124 235 106
VTE8049 P500 36 x 89 13/4", 20 124 235 106
VTE8049 w2500 36 x 89 13/4", 20 124 235 106
VTE8015 P600 42 x 104 13/8", 6 148 36 126
VTE8015 w2600 42 x 104 13/8", 6 148 36 126
VTE8034 w2600 42 x 104 13/8", 21 148 36 126
VTE8034 P600 42 x 104 13/8", 21 148 36 126
VTE4300 P600 42 x 104 13/4", 6 148 32 126
VTE4300 W2600 42 x 104 13/4", 6 148 32 126
VTE8085 P600 42 x 104 13/4", 20 148 345 122
VTE8085 w2600 42 x 104 13/4", 20 148 345 122

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

6.9



PTO German Type

e

Part no. Series Information

UJ size (mm) A
VTE4221 w2200 24 x 61 13/8" 21
VTE4203 w2300 27 x74.6 13/8", 6

Series Information
UJ size (mm)

VTE4002 w1 27 x70 13/8", 6 102 18 80 Mi12
VTE4005 w220 30x92 13/8", 6 122 20 106 M12
VTE4025 w220 30x92 13/8" 21 122 20 106 M12
VTE4060 w220 30x92 13/4", 6 122 20 106 M16
VTE4072 w220 30x92 13/4", 20 122 20 106 M16
VTE4007 w240 35x106.5 13/8", 6 125 20 117 M12
VTE4062 w240 35x106.5 13/4", 6 125 20 117 M16
VTE4074 w240 35x106.5 13/4", 20 125 20 117 M16
VTE4001 w2200 24 x61 13/8", 6 97 18 71 M12
VTE4003 w2300 27 x74.6 13/8", 6 109 18 85 M12
VTE4033 P400 32x76 13/8", 6 112 20 89 M12
VTE4033 w2400 32x76 13/8", 6 112 20 89 M12
VTE4012 P400 32x76 13/4", 6 112 20 89 M16
VTE4012 w2400 32x76 13/4", 6 112 20 89 M16
VTE4008 w2500 36 x89 13/8", 6 122 20 106 M12
VTE4008 P500 36 x 89 13/8", 6 122 20 106 Mi12
VTE4028 w2500 36 x 89 13/8", 21 122 20 106 Mi12
VTE4028 P500 36 x 89 13/8", 21 122 20 106 M12
VTE4063 W2500 36 x 89 13/4", 6 122 20 106 M16
VTE4063 P500 36 x 89 13/4", 6 122 20 106 M16
VTE4031 w2500 36 x 89 13/4", 20 122 20 106 M16
VTE4031 P500 36 x 89 13/4", 20 122 20 106 M16
VTE4046 w2600 42 x 104 13/4", 6 132 30 121 M16
VTE4046 P600 42 x 104 13/4", 6 132 30 121 M16
VTE4047 W2600 42 x 104 13/4", 20 132 30 121 M16
VTE4047 P600 42 x 104 13/4", 20 132 30 121 M16

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.10 www.vapormatic.com



PTO German Type

Part no. Series Information

UJ size (mm) A L (mm) Bolt size
VTE4102 w1 27x70 13/8", 6 102 18 80 M12
VTE4105 w220 30x92 13/8", 6 122 20 106 M12
VTE4162 w240 35 x 106.5 13/4", 6 125 20 117 M12
VTE4103 w2300 27 x74.6 13/8", 6 109 18 85 M12
VTE4128 w2400 32x76 13/8", 6 112 20 89 M12
VTE4128 P400 32x76 13/8", 6 112 20 89 M12

Part no. Series Information

UJ size (mm) A
VTE3508 w1 27 x70 30mm 85 20 10mm 80
VTE3557 w2100 22 x 55 25mm 79 15 8mm 65
VTE3482 w2100 22 x 55 30mm 79 15 10mm 65
VTE3503 w2200 24 x 61 25mm 82 15 8mm 71
VTE3507 W2200 24 x 61 30mm 82 15 10mm 71
VTE3537 w2200 24 x 61 1" 82 15 3/8" 71
VTES3538 w2200 24 x 61 1"1/4 82 15 3/8" 71
VTE3505 w2300 27 x74.6 25mm 98 20 8mm 85
VTE3509 w2300 27 x74.6 30mm 98 20 10mm 85
VTE3516 W2300 27 x74.6 35mm 98 20 13mm 85
VTE3540 w2300 27 x74.6 1"1/4 98 20 3/8" 85
VTE3545 w2300 27 x74.6 1"3/8 98 20 3/8" 85
VTE3574 w2300 27 x74.6 1"3/8 98 20 1/2" 85
VTES3523 W2400 32x76 40mm 96 20 13mm 89
VTES3523 P400 32x76 40mm 96 20 13mm 89

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.11



PTO German Type

Part no. Series Information

UJ size (mm) C
VTE3604 w1 27 x70 25mm 8mm 85 20 M10 80
VTE3608 w1 27 x70 30mm 8mm 85 20 M10 80
VTE3641 w1 27 x70 1"1/4 5/16" 85 20 3/8" 80
VTE3646 w1 27 x70 1"3/8 5/16" 85 20 3/8" 80
VTE3628 w11 34 x90 40mm 12mm 96 20 M12 89
VTE3619 w220 30 x92 35mm 10mm 105 20 M12 106
VTE3626 W220 30 x92 40mm 12mm 105 20 M12 106
VTE3644 w220 30 x92 1"1/4 5/16" 105 20 3/8" 106
VTE3649 w220 30 x92 1"3/8 5/16" 105 20 3/8" 106
VTE3622 w240 35 x106.5 35mm 10mm 120 25 M12 117
VTE3653 w2100 22 x55 25mm 8mm 79 15 M10 65
VTE3654 w2100 22 x55 30mm 8mm 79 15 M10 65
VTE3601 w2200 24 x61 20mm 6mm 82 20 M8 71
VTE3603 w2200 24 x61 25mm 8mm 82 20 M10 71
VTE3607 w2200 24 x61 30mm 8mm 82 20 M10 71
VTE3640 w2200 24 x 61 1"1/4 5/16" 82 20 3/8" 71
VTE3605 w2300 27 x74.6 25mm 8mm 98 20 M12 85
VTE3609 w2300 27 x74.6 30mm 8mm 98 20 M12 85
VTE3616 W2300 27 x74.6 35mm 10mm 98 20 M12 85
VTE3642 w2300 27 x74.6 1"1/4 1/4" 98 20 3/8" 85
VTE3647 w2300 27 x74.6 1"3/8 5/16" 98 20 3/8" 85
VTE3683 w2300 27 x74.6 1"1/8 1/4" 98 20 3/8" 85
VTE3611 w2400 32x76 30mm 8mm 96 20 M12 89
VTE3611 P400 32x76 30mm 8mm 96 20 M12 89
VTE3617 w2400 32x76 35mm 10mm 96 20 M12 89
VTE3617 P400 32x76 35mm 10mm 96 20 M12 89
VTE3623 w2500 36 x 89 35mm 10mm 105 25 M14 106
VTE3623 P500 36 x 89 35mm 10mm 105 25 M14 106

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.12 www.vapormatic.com



PTO German Type

Part no. Series Information

UJ size (mm) A C Bolt size
VTE3804 w1 27x70 25mm 8mm 102 18 80 mM12
VTE3808 w1 27 x70 30mm 8mm 102 18 80 M12
VTE3816 w220 30x92 35mm 10mm 122 20 106 M12
VTE3819 w220 30x92 40mm 12mm 122 20 106 M12
VTE3834 w220 30x92 1"1/4 5/16" 122 20 106 M12
VTE3839 w220 30x92 1"3/8 5/16" 122 20 106 M12
VTE3818 w240 35 x 106.5 35mm 10mm 125 20 117 M12
VTE3824 w240 35 x 106.5 45mm 14mm 125 20 117 M12
VTE3845 w2100 22 x55 30mm 8mm 92 16 65 mM12
VTE3803 W2200 24 x 61 25mm 8mm 97 18 71 mM12
VTE3807 W2200 24 x 61 30mm 8mm 97 18 71 mM12
VTE3828 W2200 24 x 61 1" 1/4" 97 18 71 M12
VTE3805 w2300 27 x74.6 25mm 8mm 109 18 85 M12
VTE3809 w2300 27 x74.6 30mm 8mm 109 18 85 M12
VTE3814 w2300 27 x74.6 35mm 10mm 109 18 85 M12
VTE3850 w2300 27 x74.6 1" 1/4" 109 18 85 mM12
VTE3832 w2300 27 x74.6 1"1/4 5/16" 109 18 85 mM12
VTE3858 W2400 32x76 35mm 10mm 112 20 89 mM12
VTE3858 P400 32x76 35mm 10mm 112 20 89 mM12
VTE3770 W2400 32x76 1"1/2 3/8" 112 20 89 M12
VTE3770 P400 32x76 1"1/2 3/8" 112 20 89 mM12

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.13



PTO German Type

Part no. Series Information

UJ size (mm) A Bolt size
VTE3708 w1 27x70 30mm 8mm 102 18 80 mM12
VTE3712 w1 27 x70 35mm 10mm 102 18 80 M12
VTE3715 w220 30x92 35mm 10mm 122 20 106 M12
VTE3718 w220 30x92 40mm 12mm 122 20 106 M12
VTE3722 w220 30x92 45mm 14mm 122 20 106 M16
VTE3740 w220 30x92 1.3/8" 12mm 122 20 106 M12
VTE3742 w220 30x92 1.3/4" 3/8" 122 20 106 M16
VTE3724 w240 35 x 106.5 45mm 14mm 125 20 117 M16
VTE3764 w2100 22 x55 25mm 8mm 92 16 65 mM12
VTE3765 w2100 22 x55 30mm 8mm 92 16 65 mM12
VTE3703 w2200 24 x 61 25mm 8mm 97 18 71 mM12
VTE3707 w2200 24 x 61 30mm 8mm 97 18 71 M12
VTE3766 W2200 24 x 61 3/4" 3/16" 97 18 71 M12
VTE3713 w2300 27 x74.6 35mm 10mm 109 18 85 M12

Part no. Series Information

UJ size (mm) Hole spacing
VTE4805 w220 30 x92 77 130 125 106 4 x90°
VTE4801 w2200 24 x 61 54 90 8.5 71 4 x90°
VTE4803 w2300 27 x74.6 64 100 10.5 85 4 x90°
VTE4823 W2300 27 x74.6 64 100 10.5 85 6 x 60°
VTE7800 P400 32x76 66 160 12.2 89 6 x 60°
VTE4810 w2500 36 x 89 72 160 12.2 106 6 x 60°
VTE4810 P500 36 x 89 72 160 12.2 106 6 x 60°
VTE7801 P600 42 x 104 130 160 12.2 121 12 x 30°

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.14 www.vapormatic.com



PTO German Type

Part no. Series Information

UJ size A X (mm) Ball diameter (mm)
VTE8091 w2380 27 x74.6/24x91 13/8", 6 114 23 85 24
VTE8093 w2380 27 x74.6/24x91 13/8", 21 114 23 85 24
VTE8090 w2480 32x76/27x98 13/8", 6 117 23 89 27
VTE8094 w2480 32x76/27x98 13/8", 21 117 23 89 27
VTE8092 w2580 36 x89/32x110 13/8", 6 124 23 106 30
VTE8095 w2580 36 x89/32x110 13/8", 21 124 23 106 30

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.15



PTO German Type

A

Part no. Series Information

UJ size (mm) A D (mm) L (mm) X (mm) Torque (Nm) Plates Spare plate
VTE7013 w220 30x92 13/8", 6 180 150 103 900 2 VTE7902
VTE7050 w220 30x92 13/8", 6 180 167 103 1450 4 VTE7902
VTE7051 w220 30x92 13/4", 6 180 173 103 1450 4 VTE7902
VTE7026 w220 30x92 13/8", 6 200 150 103 1200 2 VTE7903
VTE7052 w220 30x92 13/8", 6 200 167 103 1450 4 VTE7903
VTE7071 w220 30x92 13/8", 21 200 167 103 1450 4 VTE7903
VTE7066 w220 30x92 13/4", 6 200 150 103 1200 2 VTE7903
VTE7086 w220 30x92 13/4", 6 200 173 103 1500 4 VTE7903
VTE7008 w220 30x92 13/4", 20 200 150 103 1200 2 VTE7903
VTE7072 w220 30x92 13/4", 20 200 173 103 1450 4 VTE7903
VTE7054 w240 35 x 106.5 13/8", 6 180 170 121 1500 4 VTE7903
VTE7056 w240 35 x 106.5 13/4", 6 180 176 121 1500 4 VTE7902
VTE7028 w240 35 x 106.5 13/8", 6 200 154 121 1200 2 VTE7903
VTE7048 w240 35 x 106.5 13/8", 6 200 168 121 2000 4 VTE7903
VTE7075 w240 35 x 106.5 13/8", 21 200 168 121 2000 4 VTE7903
VTE7070 w240 35 x 106.5 13/4", 6 200 163 124 1200 2 VTE7903
VTE7088 w240 35 x 106.5 13/4", 6 200 174 121 2000 4 VTE7903
VTE7076 w240 35 x 106.5 13/4", 20 200 174 121 2000 4 VTE7903
VTE7014 w2300 27 x74.6 13/8", 6 180 143 90 900 2 VTE7902
VTE7022 P400 32x76 13/8", 6 180 139 88 900 2 VTE7902
VTE7022 W2400 32x76 13/8", 6 180 139 88 900 2 VTE7902
VTE7091 P400 32x76 13/8", 6 200 139 88 1200 2 VTE7903
VTE7091 w2400 32x76 13/8", 6 200 139 88 1200 2 VTE7903
VTE7092 W2400 32x76 13/8", 6 200 152 88 1450 4 VTE7903
VTE7092 P400 32x76 13/8", 6 200 152 88 1450 4 VTE7903
VTE7024 W2500 36 x 89 13/8", 6 180 160 103 1700 4 VTE7902
VTE7024 P500 36 x 89 13/8", 6 180 160 103 1700 4 VTE7902
VTE7029 P500 36 x 89 13/4", 6 180 166 103 1700 4 VTE7902
VTE7029 w2500 36 x 89 13/4", 6 180 166 103 1700 4 VTE7902
VTE7090 w2500 36 x 89 13/8", 6 200 158 103 1700 4 VTE7903
VTE7090 P500 36 x 89 13/8", 6 200 158 103 1700 4 VTE7903
VTE7096 P500 36 x 89 13/8", 21 200 158 103 1700 4 VTE7903
VTE7096 W2500 36 x 89 13/8", 21 200 158 103 1700 4 VTE7903
VTE7093 P500 36 x 89 13/4", 6 200 164 103 1700 4 VTE7903
VTE7093 w2500 36 x 89 13/4", 6 200 164 103 1700 4 VTE7903
VTE7094 w2600 42 x104 13/8", 6 200 187 121 2000 4 VTE7903
VTE7094 P600 42 x104 13/8", 6 200 187 121 2000 4 VTE7903
VTE7098 W2600 42 x104 13/8", 21 200 187 121 2000 4 VTE7903
VTE7098 P600 42 x104 13/8", 21 200 187 121 2000 4 VTE7903
VTE7095 P600 42 x104 13/4", 6 200 193 121 2000 4 VTE7903
VTE7095 w2600 42 x 104 13/4", 6 200 193 121 2000 4 VTE7903
VTE7099 w2600 42 x 104 13/4", 20 200 193 121 2000 4 VTE7903
VTE7099 P600 42 x 104 13/4", 20 200 193 121 2000 4 VTE7903

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.16 www.vapormatic.com



PTO German Type

Series Information

UJ size (mm) Torque rating
(Nm)
VTE7114 w1 27 x70 13/8", 6 95 142 57 86 600 2
VTE7174 w220 30x92 13/8", 6 95 171 76 106 900 3
VTE7150 w2100 22 x55 13/8", 6 95 119 38 73 300 1
VTE7160 w2100 22 x55 13/8", 6 95 138 57 73 600 2
VTE7101 w2200 24 x61 13/8", 6 95 119 38 73 300 1
VTE7161 w2200 24 x61 13/8", 6 95 138 57 73 600 2
VTE7171 w2200 24 x61 13/8", 6 95 157 76 73 900 8
VTE7162 w2300 27 x74.6 13/8", 6 95 142 57 86 600 2
VTE7172 w2300 27 x74.6 13/8", 6 95 161 76 86 900 3
VTE7182 w2300 27 x74.6 13/8", 6 95 180 95 86 1200 4
VTE7173 W2400 32x76 13/8", 6 95 165 76 93 900 3
VTE7173 P400 32x76 13/8", 6 95 165 76 93 900 3
VTE7183 w2400 32x76 13/8", 6 95 184 95 93 1200 4
VTE7183 P400 32x76 13/8", 6 95 184 95 93 1200 4
VTE7193 W2400 32x76 13/8", 6 95 203 114 93 1500 5
VTE7193 P400 32x76 13/8", 6 95 203 114 93 1500 5
VTE7103 w2500 36 x 89 13/8", 6 95 171 76 106 900 3
VTE7103 P500 36 x 89 13/8", 6 95 171 76 106 900 3
VTE7104 w2500 36 x 89 13/8", 6 95 199 95 106 1200 4
VTE7104 P500 36 x 89 13/8", 6 95 199 95 106 1200 4

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.17



PTO German Type

Series Information

UJ size (mm) Shear bolt
VTE7303 w1 27x70 13/8", 6 68 117 40 86 M8 x 50 1300
VTE7306 w220 30x92 13/8", 6 80 133 55 112 M10 x 60 2500
VTE7324 w220 30x92 13/8", 21 80 133 55 112 M10 x 60 2500
VTE7316 w220 30x92 13/4", 6 80 133 55 112 M10 x 60 2500
VTE7308 w240 35 x 106.5 13/8", 6 80 145 57 124 M12 x 70 3500
VTE7327 w240 35 x 106.5 13/8", 21 80 145 57 124 M12 x 70 3500
VTE7318 w240 35 x 106.5 13/4", 6 80 145 57 124 M12 x 70 3500
VTE7340 w2200 24 x 61 13/8", 6 68 106 42 71 M6 x 50 780
VTE7302 w2200 24 x 61 13/8", 6 68 106 48 71 M6 x 50 900
VTE7320 w2200 24 x 61 13/8", 21 68 106 48 71 M6 x 50 900
VTE7346 W2300 27 x74.6 13/8", 6 68 117 48 86 M8 x 50 1600
VTE7304 w2300 27 x74.6 13/8", 6 68 117 55 86 M8 x 50 1700
VTE7347 w2300 27 x74.6 13/8", 6 68 117 52 86 M8 x 50 1730
VTE7341 w2300 27 x74.6 13/8", 6 68 117 56 86 M8 x 50 1860
VTE7322 w2300 27 x74.6 13/8", 21 68 117 55 86 M8 x 50 1700
VTE7348 P400 32x76 13/8", 6 80 131 48 90 M8 x 50 1600
VTE7348 W2400 32x76 13/8", 6 80 131 48 90 M8 x 50 1600
VTE7310 P400 32x76 13/8", 6 80 131 56 90 M8 x 50 1860
VTE7310 w2400 32x76 13/8", 6 80 131 56 90 M8 x 50 1860
VTE7331 w2400 32x76 13/8", 6 80 131 48 90 M10 x 60 2500
VTE7331 P400 32x76 13/8", 6 80 131 48 90 M10 x 60 2500
VTE7342 P400 32x76 13/8", 6 80 131 56 90 M10 x 60 2920
VTE7342 w2400 32x76 13/8", 6 80 131 56 90 M10 x 60 2920
VTE7309 w2400 32x76 13/8", 21 80 131 56 90 M10 x 60 2920
VTE7309 P400 32x76 13/8", 21 80 131 56 90 M10 x 60 2920
VTE7349 w2500 36 x 89 13/8", 6 80 141 64 105 M8 x 50 2130
VTE7349 P500 36 x 89 13/8", 6 80 141 64 105 M8 x 50 2130
VTE7312 w2500 36 x 89 13/8", 6 80 141 48 105 M10 x 60 2500
VTE7312 P500 36 x 89 13/8", 6 80 141 48 105 M10 x 60 2500
VTE7300 P500 36 x 89 13/8", 6 80 141 56 105 M10 x 60 2920
VTE7300 w2500 36 x 89 13/8", 6 80 141 56 105 M10 x 60 2920
VTE7338 P500 36 x 89 13/8", 21 80 141 48 105 M10 x 60 2500
VTE7338 w2500 36 x 89 13/8", 21 80 141 48 105 M10 x 60 2500
VTE7313 w2500 36 x 89 13/4", 6 80 141 56 105 M10 x 60 2920
VTE7313 P500 36 x 89 13/4", 6 80 141 56 105 M10 x 60 2920
VTE7314 w2500 36 x 89 13/4", 6 80 141 64 105 M10 x 60 3330
VTE7314 P500 36 x 89 13/4", 6 80 141 64 105 M10 x 60 3330
VTE7350 P600 42 x104 13/4", 6 80 145 64 124 M12 x 70 4800
VTE7350 w2600 42 x104 13/4", 6 80 145 64 124 M12 x 70 4800
VTE7343 W2600 42 x104 1 3/4", 20 78 144 64 120 M12 x 70 4800
VTE7343 P600 42 x 104 13/4", 20 78 144 64 120 M12 x 70 4800

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.18 www.vapormatic.com



PTO German Type

Series Information

UJ size (mm) Shear bolt
VTE7339 w2380 27x74.6/23.8 13/8", 6 68 117 56 86 M8 x 50 1860
x 95
VTE7335 W2480 32x76/27x98 13/8", 6 80 131 64 90 M8 x 50 2130
VTE7315 w2480 32x76/27x98 13/8", 6 80 131 56 90 M10 x 60 2920
VTE7336 w2580 36 x89/32x 13/8", 6 80 141 48 105 M10 x 60 2500
110
VTE7337 w2580 36 x89/32x 13/8", 6 80 141 56 105 M10 x 60 2920
110

Part no. Series Information

UJ size (mm) A (Spline) Max shear ~ Max overrun

(Nm) (Nm)

VTE7344 w220 30x92 13/4", 6 68 - 55) 88 M10 x 60 2500 2500
VTE7345 w240 35 x 106.5 13/8", 6 78 199 57 120 M12 x 70 3500 3500

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.19



PTO German Type

Series Information

L1 (mm) Torque rating (Nm) Bolt size
VTE7400 w2300 13/8,6 168 145 83 2000 6xM12 RH
VTE7400 w2500 13/8,6 168 145 83 2000 6xM12 RH
VTE7400 P600 13/8,6 168 145 83 2000 6xM12 RH
VTE7400 P400 13/8,6 168 145 83 2000 6xM12 RH
VTE7400 P500 13/8,6 168 145 83 2000 6xM12 RH
VTE7401 w2300 13/8,6 168 145 83 2500 6xM12 RH
VTE7401 P600 13/8,6 168 145 83 2500 6xM12 RH
VTE7401 w2500 13/8,6 168 145 83 2500 6xM12 RH
VTE7401 P500 13/8,6 168 145 83 2500 6xM12 RH
VTE7401 P400 13/8,6 168 145 83 2500 6xM12 RH
VTE7402 w2300 13/8,21 168 145 83 2000 6xM12 RH
VTE7402 W2500 13/8,21 168 145 83 2000 6xM12 RH
VTE7402 P400 13/8,21 168 145 83 2000 6xM12 RH
VTE7402 P500 13/8,21 168 145 83 2000 6xM12 RH
VTE7402 P600 13/8,21 168 145 83 2000 6xM12 RH
VTE7403 W2500 13/4,6 168 145 83 2000 6xM12 RH
VTE7403 P400 13/4,6 168 145 83 2000 6xM12 RH
VTE7403 P500 13/4,6 168 145 83 2000 6xM12 RH
VTE7403 P600 13/4,6 168 145 83 2000 6xM12 RH
VTE7403 w2300 13/4,6 168 145 83 2000 6xM12 RH
VTE7404 P600 13/4,6 168 145 83 2500 6xM12 RH
VTE7404 w2300 13/4,6 168 145 83 2500 6xM12 RH
VTE7404 P500 13/4,6 168 145 83 2500 6xM12 RH
VTE7404 P400 13/4,6 168 145 83 2500 6xM12 RH
VTE7404 w2500 13/4,6 168 145 83 2500 6xM12 RH
VTE7405 P600 13/4, 20 168 145 83 2500 6xM12 RH
VTE7405 w2300 13/4, 20 168 145 83 2500 6xM12 RH
VTE7405 w2500 13/4, 20 168 145 83 2500 6xM12 RH
VTE7405 P400 13/4, 20 168 145 83 2500 6xM12 RH
VTE7405 P500 13/4,20 168 145 83 2500 6xM12 RH

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.20 www.vapormatic.com



PTO German Type

Series Information
UJ size (mm) Rotation
VTE7213 w1 27 x70 13/8", 6 91 154 54 86 RH 3000
VTE7226 W220 30 x92 13/8", 6 91 167 54 106 RH 3000
VTE7260 w220 30 x92 13/8", 21 91 167 54 106 RH 3000
VTE7271 w240 35 x106.5 13/8", 6 91 184 54 117 RH 3000
VTE7228 w240 35 x106.5 13/8", 6 91 184 54 117 RH 3000
VTE7250 w2100 22 x55 13/8", 6 91 149 54 73 RH 3000
VTE7251 w2200 24 x61 13/8", 6 91 149 54 73 RH 3000
VTE7252 w2300 27 x74.6 13/8", 6 91 154 54 86 RH 3000
VTE7203 w2400 32x76 13/8", 6 91 157 54 93 LH 3000
VTE7203 P400 32x76 13/8", 6 91 157 54 93 LH 3000
VTE7254 w2400 32x76 13/8", 6 91 157 54 93 RH 3000
VTE7254 P400 32x76 13/8", 6 91 157 54 93 RH 3000
VTE7202 w2400 32x76 13/8", 21 91 157 54 93 LH 3000
VTE7202 P400 32x76 13/8", 21 91 157 54 93 LH 3000
VTE7207 w2500 36 x 89 13/8", 6 91 167 54 106 LH 3000
VTE7207 P500 36 x 89 13/8", 6 91 167 54 106 LH 3000
VTE7209 P500 36 x 89 13/8", 6 91 167 54 106 RH 3000
VTE7209 w2500 36 x 89 13/8", 6 91 167 54 106 RH 3000
VTE7204 w2500 36 x 89 13/8", 21 91 167 54 106 LH 3000
VTE7204 P500 36 x 89 13/8", 21 91 167 54 106 LH 3000

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

6.21



PTO German Type

Part no. Series Information

UJ size (mm)  Tube Profile Shaft size
VTE1823 w1 27 x70 Oov 13/8", 6 345 40 58 187 10 80
VTE1828 wi1 34 x90 1b (1s) 13/8", 6 39.5 49 70 208 10 89
VTE1827 w220 30x92 1b (1s) 13/8", 6 39.5 49 70 227 10 106
VTE1820 w2100 22 x55 00a 13/8", 6 235 31 47 171 8 65
VTE1821 w2200 24 x 61 00a 13/8", 6 235 31 47 179 8 71
VTE1822 w2200 24 x 61 Oov 13/8", 6 345 40 58 179 10 71
VTE1824 w2300 27 x74.6 Oov 13/8", 6 345 40 58 207 10 85
VTE1825 w2300 27 x74.6 1b (1s) 13/8", 6 39.5 49 70 207 10 85
VTE1826 w2400 32x76 1b (1s) 13/8", 6 39.5 49 70 208 10 89

Part no. Series Information

UJ size (mm)  Tube Profile Shaft size
VTE1837 w220 30 x92 2a (2s) 13/8", 6 48 57.5 70 227 10 106
VTE1830 w2100 22 x55 Oa 13/8", 6 30 39 47 171 8 65
VTE1831 w2200 24 x 61 Oa 13/8", 6 30 39 47 179 8 71
VTE1832 w2200 24 x 61 1 13/8", 6 41 48 58 179 10 71
VTE1834 w2300 27 x74.6 1 13/8", 6 41 48 58 207 10 85
VTE1835 w2300 27 x74.6 2a (2s) 13/8", 6 48 57.5 70 207 10 85
VTE1836 W2400 32x76 2a (2s) 13/8", 6 48 57.5 70 208 10 89

Part no. Series Information
UJ size (mm)  Tube Profile Shaft size A (mm) B (mm) D (mm) S (mm)

VTE1863 w2500 36 x 89 s4 13/8", 6 51 37 70 227 10 106

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.22 www.vapormatic.com



PTO German Type

Yoke assembly

Quick release outer star tube

it te

Part no. es Information
UJ size (mm)  Tube Profile Shaft size

VTE1873 w2500 36 x 89 s5 13/8", 6 61 47

S (mm) X (mm)
70 227 10 106

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vapormatic.com 6.23

o
c
(o]
IS
g

Star by Type




PTO German Type

Part no. Series Information
UJ size (mm) Shaft size Profile

VTE1901 w2380 27x74.6/ 13/8", 6 Oov 345 40 58 155 302 10
23.8 x95

VTE1958 w2380 27x74.6/ 13/8", 6 1b 39.5 49 70 155 302 10
23.8 x95

VTE1900 W2480 32x76/27x 13/8", 6 1b 39.5 49 70 165 340 10
98

VTE1908 w2580 36x89/32x 13/8", 6 1b 39.5 49 70 180 345 10
110

Part no. Series Information
UJ size (mm) Shaft size Profile
VTE1911 w2380 27 x74.6/ 13/8", 6 1 41 48 58 155 302 10
23.8 x95
VTE1959 w2380 27 X746/ 13/8", 6 2a 48 57.5 70 155 302 10
23.8 x95
VTE1910 w2480 32x76/27x 13/8", 6 2a 48 57.5 70 165 340 10
98

Part no. Series Information
UJ size (mm) Shaft size Profile D (mm) D1 (mm)
VTE1962 W2480 32x76/27x 13/8", 6 s4 51 37 70 165 340 10
98
VTE1963 w2580 36x89/32x 13/8", 6 s4 51 37 70 180 345 10

110

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

6.24

www.vaporm atic.com



Series Information

PTO German Type

Shaft length (mm) L2 (mm) Inner guard OD (mm) Outer guard OD (mm)
VTE1502 w2200 860 160 603 145 61 x2.25 67 x2.5
VTE1502 w2300 860 160 603 145 61 x 2.25 67 x2.5
VTE1502 w1 860 160 603 145 61 x 2.25 67 x2.5
VTE1503 w1 1210 160 953 145 61 x 2.25 67 x2.5
VTE1503 w2300 1210 160 953 145 61 x2.25 67 x2.5
VTE1503 w2200 1210 160 953 145 61 x 2.25 67 x2.5
VTE1521 w2200 1760 160 1503 145 61 x 2.25 67 x2.5
VTE1521 w2300 1760 160 1503 145 61 x2.25 67 x2.5
VTE1521 wi 1760 160 1503 145 61 x2.25 67 x2.5
VTE1504 W2600 860 180 583 170 75.5x%x2.5 81.5x2.5
VTE1504 w240 860 180 583 170 75.5x%x2.5 81.5x2.5
VTE1504 w220 860 180 583 170 75.5x2.5 81.5x2.5
VTE1504 wi1 860 180 583 170 75.5x2.5 81.5x2.5
VTE1504 w2300 860 180 583 170 75.5x%x2.5 81.5x2.5
VTE1504 w2500 860 180 583 170 755x2.5 81.5x2.5
VTE1504 w2400 860 180 583 170 75.5x%x2.5 81.5x2.5
VTE1504 w230 860 180 583 170 75.5x%x2.5 81.5x2.5
VTE1505 w220 1210 180 933 170 75.5x%x2.5 81.5x2.5
VTE1505 w2600 1210 180 933 170 75.5x%x2.5 81.5x2.5
VTE1505 w240 1210 180 933 170 755x2.5 81.5x2.5
VTE1505 w2500 1210 180 933 170 75.5x%x2.5 81.5x2.5
VTE1505 w230 1210 180 933 170 75.5x%x2.5 81.5x2.5
VTE1505 w2400 1210 180 933 170 75.5%x2.5 81.5x2.5
VTE1505 wi1 1210 180 933 170 755x2.5 81.5x2.5
VTE1505 w2300 1210 180 933 170 75.5%x2.5 81.5x2.5
VTE1522 w240 1760 180 1483 170 755x2.5 81.5x2.5
VTE1522 w230 1760 180 1483 170 755x2.5 81.5x2.5
VTE1522 w220 1760 180 1483 170 755x2.5 81.5x2.5
VTE1522 w2500 1760 180 1483 170 755x2.5 81.5x2.5
VTE1522 wi1 1760 180 1483 170 75.5x2.5 81.5x2.5
VTE1522 w2400 1760 180 1483 170 75.5x2.5 81.5x2.5
VTE1522 w2600 1760 180 1483 170 75.5x2.5 81.5x2.5
VTE1522 w2300 1760 180 1483 170 75.5x2.5 81.5x2.5
VTE1500 w2200 860 135 645 130 55.8 x 2.25 61 x2.25
VTE1500 w2100 860 135 645 130 55.8 x 2.25 61 x2.25
VTE1501 w2100 1210 135 995 130 55.8 x 2.25 61 x2.25
VTE1501 w2200 1210 135 995 130 55.8 x2.25 61 x2.25
VTE1520 w2200 1760 135 1545 130 55.8 x2.25 61 x2.25
VTE1520 w2100 1760 85 1545 130 55.8 x 2.25 61 x2.25
VTE1510 w2600 860 205 563 190 90x2.5 96 x 2.5
VTE1511 w2600 1210 205 913 190 90x2.5 96 x 2.5

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

6.25



PTO German Type

Series Information

Shaft length L2 (mm) Inner guard OD Outer guard OD Information
(mm) (mm) (mm)

VTE1530 w2200 1160 160 160 903 145 61 x2.25 67 x 2.5 for friction clutch
VTE1530 w1 1160 160 160 903 145 61x2.25 67 x 2.5 for friction clutch
VTE1530 w2300 1160 160 160 903 145 61 x2.25 67 x 2.5 for friction clutch
VTE1560 w2200 1210 160 160 968 145 61 x2.25 67 x2.5 long cone
VTE1560 w1 1210 160 160 968 145 61 x2.25 67 x2.5 long cone
VTE1560 w2300 1210 160 160 968 145 61 x2.25 67 x2.5 long cone
VTE1531 wi1i 1160 180 180 883 170 75.5x2.5 81.5x 2.5 for friction clutch
VTE1531 w220 1160 180 180 883 170 755x2.5 81.5x 2.5 for friction clutch
VTE1531 w230 1160 180 180 883 170 755x2.5 81.5x 2.5 for friction clutch
VTE1531 w2600 1160 180 180 883 170 755x2.5 81.5x 2.5 for friction clutch
VTE1531 w2500 1160 180 180 883 170 755x2.5 81.5x 2.5 for friction clutch
VTE1531 w2300 1160 180 180 883 170 75.5x2.5 81.5x 2.5 for friction clutch
VTE1531 w2400 1160 180 180 883 170 75.5x2.5 81.5x 2.5 for friction clutch
VTE1531 w240 1160 180 180 883 170 75.5x2.5 81.5x 2.5 for friction clutch
VTE1561 w240 1210 180 180 938 170 755x2.5 81.5x2.5 long cone
VTE1561 w2500 1210 180 180 938 170 755x2.5 81.5x2.5 long cone
VTE1561 w2600 1210 180 180 938 170 755x2.5 81.5x2.5 long cone
VTE1561 w230 1210 180 180 938 170 755x2.5 81.5x2.5 long cone
VTE1561 w220 1210 180 180 938 170 755x2.5 81.5x2.5 long cone
VTE1561 w2300 1210 180 180 938 170 75.5%x25 81.5x25 long cone
VTE1561 wi1i 1210 180 180 938 170 75.5x2.5 81.5x2.5 long cone
VTE1561 w2400 1210 180 180 938 170 75.5x2.5 81.5x2.5 long cone

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.26 www.vapormatic.com



Series Information

PTO German Type

Shaft length (mm) L2 (mm) Inner guard OD (mm) Outer guard OD (mm)
VTE1512 wi1 1210 180 933 170 75.5x2.5 81.5x2.5
VTE1512 w220 1210 180 933 170 755x2.5 81.5x2.5
VTE1512 w230 1210 180 933 170 755x2.5 81.5x2.5
VTE1512 w240 1210 180 933 170 755x2.5 81.5x2.5
VTE1512 w2300 1210 180 933 170 755x2.5 81.5x2.5
VTE1512 w2400 1210 180 933 170 75.5x2.5 81.5x2.5
VTE1512 w2500 1210 180 933 170 75.5x2.5 81.5x2.5
VTE1515 w2300 1210 160 953 145 61 x2.25 67 x2.5
VTE1515 wi 1210 160 953 145 61 x2.25 67 x2.5
VTE1515 w2200 1210 160 953 145 61 x2.25 67 x2.5
VTE1514 w2100 1210 135 995 130 55.8 x2.25 61 x2.25
VTE1514 w2200 1210 135 995 130 55.8 x2.25 61 x2.25
VTE1516 P400 810 182 583 175 75.5x2.5 81.5x2.5
VTE1524 P400 1210 182 933 175 75.5x%x2.5 81.5x2.5
VTE1525 P400 1510 182 1088 175 755x2.5 81.5x2.5
VTE1517 P500 810 182 583 175 75.5x%x2.5 81.5x2.5
VTE1526 P500 1210 182 933 175 75.5x%x2.5 81.5x2.5
VTE1527 P500 1510 182 1088 175 75.5x%x2.5 81.5x2.5
VTE1513 w2600 1210 205 913 190 90x2.5 96 x 2.5
VTE1518 P600 810 234 583 223 90x2.5 96 x 2.5
VTE1528 P600 1210 235 913 223 90x2.5 96 x 2.5
VTE1529 P600 1510 235 1088 223 90x2.5 96 x 2.5
VTE1519 P700 810 235 583 223 90x2.5 96 x 2.5
VTE1533 P700 1210 235 913 223 90x2.5 96 x 2.5
VTE1534 P700 1510 235 1088 223 90x2.5 96 x 2.5

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

6.27



PTO German Type

Part no. Series Information

id (mm) Groove type
VTE1601 w2280 both 49.5 Square
VTE1601 w2200 both 49.5 Square
VTE1601 w2380 both 49.5 Square
VTE1601 w2300 both 49.5 Square
VTE1601 w1 both 49.5 Square
VTE1609 w2200 both 55.0 Round
VTE1609 w1 both 55.0 Round
VTE1609 w2300 both 55.0 Round
VTE1602 w2480 both 62.0 Square
VTE1602 w230 both 62.0 Square
VTE1602 w220 both 62.0 Square
VTE1602 w11 both 62.0 Square
VTE1602 w2380 both 62.0 Square
VTE1602 w2400 both 62.0 Square
VTE1602 w2600 both 62.0 Square
VTE1602 w2500 both 62.0 Square
VTE1602 w2300 both 62.0 Square
VTE1602 w2580 both 62.0 Square
VTE1610 w2400 both 66.5 Round
VTE1610 w230 both 66.5 Round
VTE1610 w2500 both 66.5 Round
VTE1610 wi1i both 66.5 Round
VTE1610 w220 both 66.5 Round
VTE1610 w2600 both 66.5 Round
VTE1610 w2300 both 66.5 Round
VTE1610 w240 both 66.5 Round
VTE1600 w2200 both 40.5 Square
VTE1600 w2100 both 40.5 Square
VTE1608 w2200 both 50.5 Round
VTE1615 P500 both 63 Square
VTE1615 P400 both 63 Square
VTE1612 w2600 both 80.0 Square
VTE1614 P700 both 95 Square
VTE1614 P600 both 95 Square

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.28 www.vapormatic.com



Series Information

PTO German Type

D (mm) L2 (mm) Inner guard OD Outer guard OD Information
(mm) (mm)

VTE1570 w2280 - 1210 897 - 61x2.25 64 x2.5 Single wide angle
VTE1571 w2380 - 1210 863 - 61 x 2.25 64 x2.5 Single wide angle
VTE1572 w2380 - 1210 883 - 75.5x2.5 81.5x2.5 Single wide angle
VTE1535 w2480 1210 75.5x2.5 81.5x2.5 Double wide angle
VTE1573 w2480 - 1210 848 - 75.5x2.5 81.5x2.5 Single wide angle
VTE1574 w2580 - 1210 806 - 75.5x2.5 81.5x2.5 Single wide angle

Series Information

VTE1554 w2280 171 132 148
VTE1557 w2380 188 149 160
VTE1558 w2480 197 164 170
VTE1555 w2580 213 170 210

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

6.29



PTO German Type

Part no. Series Information Part no. Series Information

Length (mm) Product range Length (mm) Product range
VTE1700 w2600 550 Energy VTE1701 w240 550 Evolution
VTE1700 w2500 550 Energy VTE1701 w2500 550 Evolution
VTE1700 w2400 550 Energy VTE1701 w2400 550 Evolution
VTE1700 w2300 550 Energy VTE1701 w2300 550 Evolution
VTE1700 w2200 550 Energy VTE1701 w2200 550 Evolution
VTE1700 w2100 550 Energy VTE1701 w2600 550 Evolution
VTE1700 w1 550 Energy VTE1701 w230 550 Evolution
VTE1700 w240 550 Energy VTE1701 w220 550 Evolution
VTE1700 w230 550 Energy VTE1701 wi1 550 Evolution
VTE1700 w220 550 Energy VTE1701 w1 550 Evolution
VTE1700 wi1 550 Energy VTE1701 w2100 550 Evolution

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.30 www.vapormatic.com



PTO German Type

Series Information

UJ size (mm) Profile Min length (mm)  Max length (mm) Tractor end Implement end
VTE1011 w2100 22 x55 Lemon 860 1290 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1012 w2100 22 x55 Lemon 1210 1755 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1013 w2200 24 x 61 Lemon 860 1235 13/8", 6 QR pin13/8", 6 20kW 355Nm
VTE1014 w2200 24 x 61 Lemon 1210 1760 13/8", 6 QR pin13/8", 6 20kW 355Nm
VTE1015 w2300 27 x74.6 Lemon 860 1220 13/8", 6 QR pin 13/8", 6 28kW 500Nm
VTE1016 w2300 27 x74.6 Lemon 1210 1745 13/8", 6 QR pin13/8", 6 28kW 500Nm
VTE1017 w2400 32x76 Lemon 860 1215 13/8", 6 QR pin13/8", 6 39kW 695Nm
VTE1018 w2400 32x76 Lemon 1210 1740 13/8", 6 QR pin 13/8", 6 39kW 695Nm
VTE1019 w2500 36 x 89 Lemon 860 1210 13/8", 6 QR pin 1 3/8", 6 66KkW 1175Nm
VTE1020 w2500 36 x 89 Lemon 1210 1735 13/8", 6 QR pin 13/8", 6 66KW 1175Nm
VTE1057 w2500 36 x 89 Star 860 1210 13/8", 6 QR pin 13/8", 6 66KW 1175Nm
VTE1058 w2500 36 x 89 Star 1210 1735 13/8", 6 QR pin13/8", 6 66KkW 1175Nm
VTE1059 w2600 42 x104 Star 860 1200 13/4",20 QR pin13/4", 20 79KW 1400Nm
VTE1060 W2600 42 x104 Star 1210 1725 13/4",20 QR pin13/4", 20 79KW 1400Nm

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.31



PTO German Type

Series Information

UJ size (mm) Profile Min length (mm)  Max length (mm) Tractor end Implement end
VTE1167 w2100 22 x55 Lemon 560 750 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1111 w2100 22 x55 Lemon 860 1230 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1112 w2100 22 x55 Lemon 1210 1755 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1113 w2200 24 x 61 Lemon 860 1235 13/8", 6 QR pin13/8", 6 20kW 355Nm
VTE1114 w2200 24 x 61 Lemon 1210 1760 13/8", 6 QR pin 13/8", 6 20kW 355Nm
VTE1149 w2300 27 x74.6 Lemon 510 700 13/8", 6 QR pin13/8", 6 28kW 500Nm
VTE1115 w2300 27 x74.6 Lemon 860 1220 13/8", 6 QR pin13/8", 6 28kW 500Nm
VTE1116 w2300 27 x74.6 Lemon 1210 1745 13/8", 6 QR pin 13/8", 6 28kW 500Nm
VTE1117 w2400 32x76 Lemon 860 1215 13/8", 6 QR pin 1 3/8", 6 39kW 695Nm
VTE1118 w2400 32x76 Lemon 1210 1740 13/8", 6 QR pin 13/8", 6 39kW 695Nm
VTE1119 w2500 36 x 89 Lemon 860 1210 13/8", 6 QR pin 13/8", 6 66KW 1175Nm
VTE1157 w2500 36 x 89 Star 860 1210 13/8", 6 QR pin13/8", 6 66KkW 1175Nm
VTE1120 w2500 36 x 89 Lemon 1210 1735 13/8", 6 QR pin13/8", 6 66KW 1175Nm
VTE1158 w2500 36 x 89 Star 1210 1735 13/8", 6 QR pin13/8", 6 66KW 1175Nm
VTE1160 W2600 42 x104 Star 1210 1725 13/4",20 QR pin13/4", 20 79KW 1400Nm
VTE1124 P500 36 x 89 Star 860 1215 13/8", 6 QR pin 13/8", 6 66KkW 1170Nm
VTE1126 P500 36 x 89 Star 1210 1740 13/8", 6 QR pin 13/8", 6 66KkW 1170Nm
VTE1127 P500 36 x 89 Star 1510 2100 13/8", 6 QR pin 13/8", 6 66KkW 1170Nm
VTE1125 P600 42 x104 Star 860 1215 13/8", 6 QR pin13/8", 6 92kW 1625Nm
VTE1128 P600 42 x104 Star 1210 1740 13/8", 6 QR pin 1 3/8", 6 92kW 1625Nm
VTE1129 P600 42 x104 Star 1510 2100 13/8", 6 QR pin 1 3/8", 6 92kW 1625Nm

Part no. Series Information

UJ size (mm) Min length (mm) Max length (mm) Tractor end Implement end Safety device rating
VTE1056 w2200 24 x 61 1360 1900 QR pin 1 3/8", 6 13/8",6 RC 700Nm
VTE1156 w2200 24 x 61 1360 1900 Collar 1 3/8", 6 13/8",6 RC 700Nm

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
6.32 www.vapormatic.com



PTO German Type

Series Information

UJ size (mm) Min length (mm) Max length (mm) Tractor end Implement end Safety device rating
VTE1055 w2300 27 x74.6 660 920 QR pin13/8", 6 13/8", 6 ORC 3000Nm
VTE1010 w2300 27 x74.6 1210 1740 QR pin13/8", 6 13/8", 6 ORC 3000Nm
VTE1110 w2300 27 x74.6 1210 1740 Collar 1 3/8", 6 13/8", 6 ORC 3000Nm

Series Information

UJ size (mm) Profile Min length (mm)  Max length (mm) Tractor end Implement end
VTE1142 w2280 23.8x61.3-22x Lemon 1210 1700 QRcollar 1 3/8", 6 QR pin13/8", 6 20kW 355Nm
80
VTE1143 w2380 27 x74.6-23.8x Lemon 1210 1700 QRcollar 1 3/8", 6 QR pin13/8", 6 28kW 500Nm
95
VTE1144 w2480 32x76-27x98 Lemon 1210 1690 QR collar 1 3/8", 6 QR pin13/8", 6 39kW 695Nm
VTE1146 w2580 36x89-32x110 Star 1210 1645 QR collar 1 3/8",21 QR pin 1 3/8", 21 66kW 1175Nm
VTE1145 w2580 36 x89-32x110 Star 1210 1675 QRcollar13/8", 6 QR pin13/8", 6 66kW 1175Nm
VTE1148 w2580 36x89-32x110 Lemon 1210 1700 QRcollar13/8",6 QR pin13/8", 6 66kW 1175Nm

Part no. Series Information
UJ size (mm) Profile Min length (mm)  Max length (mm) Tractor end Implement end

VTE1178 w2480 32x76-27x98 Lemon 1210 1690 QRcollar 13/8",6 QR collar 1 3/8", 6 39kW 695Nm

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 6.33



PTO German Type

Part no. Series Information

UJ Size (mm)

Profile Min length (mm)

Max length (mm)

Tractor end Implement end Safety device

rating

VTE1151 w2380 27x74.6- 23.8x Lemon 1210 1700 Collar 1 3/8", 6 13/8",6 SB 1860Nm
95

VTE1168 w2580 36x89-32x110 Star 1210 1645 Collar 1 3/8", 6 13/4",6 SB 2130Nm

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

6.34

www.vaporm atic.com



PTO Italian Type

Cross journal
Cross journal 7.1
Wide angle cross journal 7.1
Inner yoke
Inner triangular tube 7.2
Outer triangular tube 7.2
Inner splined bar 7.3
Outer round tube 7.3
Yoke tube and sleeve assembly 7.3
Double yoke 7.4
Profile tube
Inner triangular 7.5
Outer triangular 7.5
Splined bar 7.6
Splined sleeve 7.6
Guard missing safety sticker 7.6
Outer yoke
Quick release 7.7 (%
Retractable collar 7.9 %
Splined only 7.10
Splined yoke with interfering bolt 7.11
Splined yoke with non interfering bolt 7.12
Plain bore with pin hole 7.13
Plain bore with keyway & threaded hole 7.14
Plain bore with keyway & non interfering bolt 7.16
Plain bore with keyway & interfering bolt 7.17
Flange yoke 7.18
Safety device
Friction clutch 7.19
Ratchet clutch 7.20
Shear bolt unit 7.21
Shear bolt unit with over run 7.21
Automatic cam clutch 7.22
Over run clutch 7.23

Continued over page...

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com



PTO lItalian Type

Yoke assembly
Quick release inner triangular tube 7.24
Quick release outer triangular tube 7.24
Guards
Guard assembly 7.25
Safety device guard assembly 7.26
Guard kit 7.26
Guard retainer 7.27
Wide angle guard kit 7.27
Guard chain 7.28
Shaft assembly
Quick release shaft assembly 7.29 sq
Retractable collar shaft 7.29 N
Shear bolt with over run shaft 7.30
Shear bolt shaft 7.30
Auto cam clutch shaft 7.30

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com


http://www.vapormatic.com/

PTO Italian Type

Part no. Series Information Part no. Series Information

Endcap  Width (mm) Greaser Product End cap (mm) Width (mm) Greaser Location
Focation Wl VTE5036 2 22 76 End cap
VTES5011 1 22 54 Centre Energy
VTES5037 4 22 86 End cap
VTES5003 Cent E
2 24 ot e 1% VTE5037 sa 22 86 End cap
VTE5003 s2 24 61 Centre Energy
VTES5038 6 27 100 End cap
VTES5001 7 70 Cent E
3 2 e "% VTES038 s6 27 100 End cap
VTES5004 27 74.6 Cent E
* e 1% VTE5038 H7 27 100 End cap
VTE5004 s4 27 74.6 Centre Energy
VTES5039 8 30.2 106 End cap
VTES5007 5 30.2 80 Cent E
e %Y VTES039 ss 30.2 106 End cap
VTE5007 s6 30.2 80 Cent E
e 1% VTE5039 Hs 30.2 106 End cap
VTE5007 s5 30.2 80 Centre Energy
VTES5041 s9 30.2 122 End cap
VTES5005 H7 30 92 Cent E
e "% VTE5040 sH 34.9 112 End cap
VTE5005 6 30 92 Centre Energy
VTE5006 A7 30.2 106.5 Centre Energy
VTES012 7 35 94 Centre Energy
VTE5012 s8 35 94 Centre Energy
VTE5012 H8 35 94 Centre Energy
VTES009 A8 35 106.5 Centre Energy
VTES5009 8 35 106.5 Centre Energy
VTE5009 s9 35 106.5 Centre Energy
VTE5013 9 41 108 Centre Energy
VTE5014 10 41 118 Centre Energy
VTE5034 sH 42 107.5 End cap
VTE5035 S0 42 130 End cap

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.1



PTO Italian Type

jg

Part no. Series Information

UJ size (mm) D (mm)
VTE3215 1 22 x54 26.5 41
VTE3200 2 24 x 61 29 47
VTE3201 3 27 x70 36 54
VTE3202 4 27 x74.6 36 54
VTE3203 5 30.2 x 80 45 61
VTE3204 6 30x92 45 67
VTE3216 7 35x94 45 67
VTE3205 A7 30.2 x 106.5 45 67
VTE3206 A8 35 x106.5 45 67
VTE3217 8 35 x106.5 54 76
VTE3220 9 41 x 108 54 76
VTE3221 10 41x118 54 76

j@

Part no. Series Information

UJ size (mm) D (mm)
VTE3214 1 22 x54 325 47
VTE3207 2 24 x 61 36 54
VTE3208 3 27 x70 435 61 85 8 80
VTE3209 4 27 x74.6 435 61 98 8 85
VTE3210 5 30.2 x 80 51.6 70 96 10 89
VTE3211 6 30x92 54 76 105 10 106
VTE3218 7 35x94 54 76 105 10 106
VTE3212 A7 30.2 x 106.5 54 76 120 10 117
VTE3213 A8 35 x106.5 54 76 120 10 117
VTE3219 8 35 x 106.5 63 88 120 12 117
VTE3222 9 41 x 108 63 88 130 12 121
VTE3223 10 41x118 66 88 136 12 131

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.2 www.vapormatic.com



PTO Italian Type

Part no. Series Information
UJ size (mm)

VTE3400 5 30.2 x 80 35-2712 61 96 10 89
VTE3401 6 30 x 92 35-2712 67 105 10 106
VTE3402 7 35x94 40-2714 67 105 10 106
VTE3403 8 35x106.5 40 - 2714 76 120 12 117

| | ‘m il

Part no. Series Information

UJ size (mm)
VTE3412 7 35x94 61x3.5 76 105 - 106
VTE3413 8 35 x106.5 61x3.5 88 120 - 117

A
X
Part no. Series Information
UJ size (mm) A (mm)
VTE2154 5 30.2x 80 35-2712 280 89

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.3



PTO lItalian Type

Inner yoke

Double yoke

Part no. Series Information

UJ size (mm)
VTE2921 2 24 x 61 82 78
VTE2923 4 27 x74.6 96 90
VTE2925 6 30x92 103 108

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.4 www.vapormatic.com



PTO Italian Type

Series Information

Part no. Series Information

A (mm) S (mm) Length (mm) A (mm) S (mm) Length (mm)

VTE2309 1 26.5 35 1000 VTE2308 1 32.5 2.6 1000
VTE2311 2 29 4 1000 VTE2310 2 36 3.2 1000
VTE2310 3 36 3.2 1000 VTE2312 3 43.5 3.4 1000
VTE2313 4 36 45 1000 VTE2312 4 43.5 3.4 1000
VTE2315 5 45 4 1000 VTE2314 5 51.6 3 1000
VTE2317 A8 45 55 1000 VTE2316 A8 54 4 1000
VTE2317 A7 45 55 1000 VTE2316 A7 54 4 1000
VTE2317 7 45 515 1000 VTE2316 6 54 4 1000
VTE2316 8 54 4 1000 VTE2316 7 54 4 1000
VTE2320 10 54 6 1000 VTE2010 2 36 3.2 3000
VTE2009 1 26.5 35 3000 VTE2318 9 63 4 1000
VTE2011 2 29 4 3000 VTE2318 8 63 4 1000
VTE2010 3 36 3.2 3000 VTE2307 10 66 5.6 1000
VTE2013 4 36 45 3000 VTE2016 A8 54 4 3000
VTE2015 6 45 4 3000 VTE2016 7 54 4 3000
VTE2015 5 45 4 3000 VTE2016 A7 54 4 3000
VTE2017 7 45 5.5 3000 VTE2016 6 54 4 3000
VTE2017 A7 45 55 3000 VTE2008 1 325 2.6 3000
VTE2017 A8 45 55 3000 VTE2012 4 43.5 3.4 3000
VTE2016 8 54 4 3000 VTE2012 3 435 3.4 3000
VTE2020 10 54 6 3000 VTE2014 5 51.6 3 3000
VTE2018 8 63 4 3000

VTE2018 9 63 4 3000

VTE2007 10 66 5.6 3000

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.5



PTO Italian Type

Part no. Series Information

Part no. Series Information

A (mm) Length (mm) Inner diameter Splines Length (mm)
VTE2100 5 35 12 600 (mm)
VTE2900 5 35 12 100
VTE2100 6 85 12 600
VTE2900 6 85 12 100
VTE2101 7 40 14 530
VTE2901 7 40 14 120
VTE2101 8 40 14 530
VTE2901 8 40 14 120
VTE2101 A7 40 14 530
VTE2901 A7 40 14 120
VTE2101 A8 40 14 530
VTE2901 A8 40 14 120
VTE2104 9 45 16 500
VTE2904 9 45 16 120
VTE2104 10 45 16 500
VTE2904 10 45 16 120

Part no. Series Information

VTE2500 1 Safety sticker
VTE2500 2 Safety sticker
VTE2500 3 Safety sticker
VTE2500 4 Safety sticker
VTE2501 5 Safety sticker
VTE2501 6 Safety sticker
VTE2501 7 Safety sticker
VTE2501 8 Safety sticker
VTE2501 9 Safety sticker

VTE2501 10 Safety sticker

VTE2501 A7 Safety sticker

VTE2501 A8 Safety sticker

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.6 www.vapormatic.com



PTO Italian Type

Series Information
UJ size (mm)

VTE3040 s1 22 x54 11/8", 6 95 17 66
VTE3040 1 22 x54 11/8", 6 95 17 66
VTE3011 s1 22 x54 13/8", 6 95 17 66
VTE3011 1 22 x54 13/8", 6 95 17 66
VTE3027 1 22 x54 13/8" 21 95 17 66
VTE3027 s1 22 x54 13/8" 21 95 17 66
VTE3041 2 24 x61 11/8", 6 98 17.5 73
VTE3041 s2 24 x61 11/8", 6 98 17.5 73
VTE3001 2 24 x61 13/8", 6 98 173 73
VTE3001 s2 24 x61 13/8", 6 98 17 73
VTE3029 s2 24 x61 13/8" 21 98 17 73
VTE3029 2 24 x61 13/8" 21 98 17 73
VTE3002 3 27x70 13/8", 6 102 18 80
VTE3030 3 27x70 13/8" 21 102 18 80
VTE3003 4 27 x74.6 13/8", 6 109 18 85
VTE3003 s4 27 x74.6 13/8", 6 109 18 85
VTE3031 4 27 x74.6 13/8" 21 109 18 85
VTE3031 s4 27 x74.6 13/8" 21 109 18 85
VTE3004 s5 30.2x80 13/8", 6 112 20 89
VTE3004 5 30.2x80 13/8", 6 112 20 89
VTE3020 5 30.2x80 13/8" 21 112 20 89
VTE3020 s5 30.2x80 13/8", 21 112 20 89
VTE3068 5 30.2x80 13/4", 6 112 20 89
VTE3068 S5 30.2x80 13/4", 6 112 20 89
VTE3083 s5 30.2x80 13/4", 20 112 20 89
VTE3083 5 30.2x80 13/4", 20 112 20 89
VTE3006 H7 30x92 13/8", 6 122 24 109
VTE3006 6 30x92 13/8", 6 122 24 109
VTE3022 H7 30x92 13/8" 21 122 24 109
VTE3022 6 30x92 13/8", 21 122 24 109
VTE3060 H7 30x92 13/4", 6 122 24 109
VTE3060 6 30x92 13/4", 6 122 24 109
VTE3080 6 30x92 13/4", 20 122 24 109
VTE3080 H7 30x92 13/4", 20 122 24 109
VTE3012 7 35x94 13/8", 6 122 24 109
VTE3012 Hs 35x94 13/8", 6 122 24 109
VTE3012 s8 35x94 13/8", 6 122 24 109
VTE3028 s8 35x94 13/8", 21 122 24 109
VTE3028 7 35x94 13/8", 21 122 24 109
VTE3028 Hs 35x94 13/8", 21 122 24 109
VTE3061 s8 35 x 94 13/4", 6 122 24 109
VTE3061 7 35x94 13/4", 6 122 24 109
VTE3061 Hs 35 x 94 13/4", 6 122 24 109
VTE3008 A7 30.2x106.5 13/8", 6 125 20 117
VTE3084 A7 30.2x106.5 13/4", 20 125 20 117
VTE3009 A8 35x106.5 13/8", 6 125 20 117

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.7



PTO Italian Type

Part no. Series Information

UJ size (mm) A
VTE3009 8 35 x 106.5 13/8", 6 125 20 117
VTE3009 s9 35 x 106.5 13/8", 6 125 20 117
VTE3025 A8 35 x 106.5 13/8", 21 125 20 117
VTE3025 s9 35 x 106.5 13/8", 21 125 20 117
VTE3025 8 35 x 106.5 13/8", 21 125 20 117
VTE3062 8 35 x 106.5 13/4", 6 125 20 117
VTE3062 A8 35 x 106.5 13/4", 6 125 20 117
VTE3062 s9 35 x 106.5 13/4", 6 125 20 117
VTE3082 s9 35 x 106.5 13/4", 20 125 20 117
VTE3082 8 35 x 106.5 13/4", 20 125 20 117
VTE3082 A8 35 x 106.5 13/4", 20 125 20 117
VTE3013 9 41 x 108 13/8", 6 137 30 122
VTE3017 9 41 x 108 13/8", 21 137 85) 122
VTE3065 9 41 x 108 13/4", 6 137 30 122
VTE3087 9 41 x 108 13/4", 20 137 30 122
VTE3014 10 41x118 13/8", 6 157 31 138
VTE3018 10 41x118 13/8", 21 157 34 138
VTE3088 10 41x118 13/4", 20 157 34 138

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.8 www.vapormatic.com



PTO Italian Type

A
Part no. Series Information
UJ size A

VTE8011 1 22 x54 13/8", 6 99 225 66
VTE8011 s1 22 x54 13/8", 6 99 225 66
VTE8001 s2 24 x61 13/8", 6 103 225 71
VTE8001 2 24 x61 13/8", 6 103 225 71
VTE8029 2 24 x61 13/8", 21 103 225 71
VTE8029 s2 24 x61 13/8", 21 103 225 71
VTE8002 3 27 x70 13/8", 6 107 225 88
VTE8003 s4 27 x74.6 13/8", 6 112 235 85
VTE8003 4 27 x74.6 13/8", 6 112 235 85
VTE8031 s4 27 x74.6 13/8", 21 112 235 85
VTE8031 4 27 x74.6 13/8", 21 112 235 85
VTE8004 5 30.2 x 80 13/8", 6 115 235 94
VTE8004 s5 30.2 x 80 13/8", 6 115 235 94
VTE8020 5 30.2 x 80 13/8", 21 115 235 94
VTE8020 S5 30.2 x 80 13/8", 21 115 235 94
VTE8068 S5 30.2 x 80 13/4", 6 123 32 89
VTE8068 5 30.2 x 80 13/4", 6 123 32 89
VTE8083 S5 30.2 x 80 13/4", 20 123 32 89
VTE8083 5 30.2 x 80 13/4", 20 123 32 89
VTE8006 H7 30 x92 13/8", 6 124 235 106
VTE8006 6 30 x92 13/8", 6 124 235 106
VTE8022 6 30 x92 13/8", 21 130 36.5 106
VTE8022 H7 30x92 13/8", 21 130 36.5 106
VTE8060 H7 30x92 13/4", 6 130 32 106
VTE8060 6 30x92 13/4", 6 130 32 106
VTE8080 6 30x92 13/4", 20 130 32 106
VTE8080 H7 30x92 13/4", 20 130 32 106
VTE8012 Hs 35x94 13/8", 6 124 235 106
VTE8012 s8 35x94 13/8", 6 124 235 106
VTE8012 7 35x94 13/8", 6 124 235 106
VTE8028 7 35x94 13/8", 21 130 36.5 106
VTE8028 S8 35x94 13/8", 21 130 36.5 106
VTE8028 Hs 35x94 13/8", 21 130 36.5 106
VTE8061 S8 35x94 13/4", 6 130 32 106
VTE8061 Hs 35x94 13/4", 6 130 32 106
VTE8061 7 35x94 13/4", 6 130 32 106
VTE8009 8 35 x 106.5 13/8", 6 132.5 235 121
VTE8009 A8 35 x 106.5 13/8", 6 132.5 235 121
VTE8009 s9 35 x 106.5 13/8", 6 132.5 235 121
VTE8025 A8 35 x 106.5 13/8", 21 146 375 121
VTE8025 s9 35 x 106.5 13/8", 21 146 37.5 121
VTE8025 8 35 x 106.5 13/8", 21 146 37.5 121
VTE8062 8 35 x 106.5 13/4", 6 145 32 121
VTE8062 A8 35 x106.5 13/4", 6 145 32 121
VTE8062 S9 35 x106.5 13/4", 6 145 32 121
VTE8082 s9 35 x 106.5 13/4", 20 145 32 121

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.9



PTO Italian Type

A
X

Part no. Series Information

UJ size A
VTE8082 8 35 x 106.5 13/4", 20
VTEB082 A8 35 x 106.5 13/4", 20
VTE8013 9 41 x 108 13/8", 6
VTE8017 9 41 x 108 13/8", 21
VTE8B065 9 41 x 108 13/4", 6
VTE8014 10 41 x118 13/8", 6 150.5 36 130

A
Part no. Series Information
UJ size (mm) A

VTE4221 2 24 x 61 13/8", 21
VTE4221 s2 24 x 61 13/8", 21
VTE4203 4 27 x74.6 13/8", 6 98 85
VTE4203 s4 27 x74.6 13/8", 6 98 85

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.10 www.vapormatic.com



PTO Italian Type

Part no. Series Information

UJ size (mm) A [ (l)] Bolt size
VTE4001 s2 24 x 61 13/8", 6 97 18 71 M12
VTE4001 2 24 x 61 13/8", 6 97 18 71 M12
VTE4002 3 27 x70 13/8", 6 102 18 80 M12
VTE4003 4 27 x74.6 13/8", 6 109 18 85 M12
VTE4003 s4 27 x74.6 13/8", 6 109 18 85 M12
VTE4004 5 30.2x 80 13/8", 6 112 20 89 M12
VTE4004 s5 30.2x 80 13/8", 6 112 20 89 M12
VTE4024 s5 30.2x 80 13/8", 21 112 20 89 M12
VTE4024 5 30.2 x 80 13/8", 21 112 20 89 M12
VTE4005 H7 30x92 13/8", 6 122 20 106 M12
VTE4005 6 30x92 13/8", 6 122 20 106 M12
VTE4025 H7 30 x 92 13/8", 21 122 20 106 M12
VTE4025 6 30x92 13/8", 21 122 20 106 M12
VTE4060 H7 30x92 13/4", 6 122 20 106 M16
VTE4060 6 30 x 92 13/4", 6 122 20 106 M16
VTE4072 H7 30 x92 13/4", 20 122 20 106 M16
VTE4072 6 30 x92 13/4", 20 122 20 106 M16
VTE4006 s8 35x94 13/8", 6 122 20 106 M12
VTE4006 H8 35x94 13/8", 6 122 20 106 M12
VTE4006 7 35x94 13/8", 6 122 20 106 M12
VTE4007 8 35 x 106.5 13/8", 6 125 20 117 M12
VTE4007 A8 35 x 106.5 13/8", 6 125 20 117 M12
VTE4007 s9 35 x 106.5 13/8", 6 125 20 117 M12
VTE4062 8 35 x106.5 13/4", 6 125 20 117 M16
VTE4062 A8 35 x106.5 13/4", 6 125 20 117 M16
VTE4062 s9 35 x106.5 13/4", 6 125 20 117 M16
VTE4074 8 35 x 106.5 13/4", 20 125 20 117 M16
VTE4074 A8 35 x106.5 13/4", 20 125 20 117 M16
VTE4074 s9 35 x 106.5 13/4", 20 125 20 117 M16

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.11



PTO Italian Type

Part no. Series Information

UJ size (mm) A L (mm) Bolt size
VTE4102 3 27 x70 13/8", 6 102 18 80 M12
VTE4103 4 27 x74.6 13/8", 6 109 18 85 M12
VTE4103 s4 27 x74.6 13/8", 6 109 18 85 M12
VTE4105 6 30x92 13/8", 6 122 20 106 M12
VTE4105 H7 30x92 13/8", 6 122 20 106 M12
VTE4162 8 35 x 106.5 13/4", 6 125 20 117 M12
VTE4162 A8 35 x 106.5 13/4", 6 125 20 117 M12
VTE4162 s9 35 x 106.5 13/4", 6 125 20 117 M12

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.12 www.vapormatic.com



PTO Italian Type

Part no. Series Information

UJ size (mm) [ (l)]
VTE3500 s1 22 x54 20mm 79 15 6mm 65
VTE3500 1 22 x54 20mm 79 15 6mm 65
VTE3502 s1 22 x54 25mm 79 15 8mm 65
VTE3502 1 22 x54 25mm 79 15 8mm 65
VTE3506 S1 22 x54 30mm 79 15 10mm 65
VTE3506 1 22 x54 30mm 79 15 10mm 65
VTE3536 1 22 x54 1" 79 15 3/8" 65
VTE3536 Si1 22 x54 1" 79 15 3/8" 65
VTE3503 s2 24 x 61 25mm 82 15 8mm 71
VTE3503 2 24 x 61 25mm 82 15 8mm 71
VTE3507 s2 24 x 61 30mm 82 15 10mm 71
VTE3507 2 24 x61 30mm 82 15 10mm 71
VTE3537 s2 24 x61 1" 82 15 3/8" 71
VTE3537 2 24 x61 1" 82 15 3/8" 71
VTE3538 2 24 x61 1"1/4 82 15 3/8" 71
VTE3538 s2 24 x 61 1"1/4 82 15 3/8" 71
VTE3508 3 27 x70 30mm 85 20 10mm 80
VTE3505 s4 27 x74.6 25mm 98 20 8mm 85
VTE3505 4 27 x74.6 25mm 98 20 8mm 85
VTE3509 s4 27 X 74.6 30mm 98 20 10mm 85
VTE3509 4 27 x74.6 30mm 98 20 10mm 85
VTE3516 s4 27 x74.6 35mm 98 20 13mm 85
VTE3516 4 27 x74.6 35mm 98 20 13mm 85
VTE3540 4 27 x74.6 1"1/4 98 20 3/8" 85
VTE3540 s4 27 x74.6 1"1/4 98 20 3/8" 85
VTE3545 4 27 x74.6 1"3/8 98 20 3/8" 85
VTE3545 s4 27 x74.6 1" 3/8 98 20 3/8" 85
VTE3574 4 27 x74.6 1" 3/8 98 20 1/2" 85
VTE3574 s4 27 x74.6 1"3/8 98 20 1/2" 85

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.13



PTO Italian Type

Part no. Series Information
UJ size (mm) C

VTE3602 1 22 x54 25mm 8mm 79 15 M10 65
VTE3602 s1 22 x54 25mm 8mm 79 15 M10 65
VTE3606 1 22 x54 30mm 8mm 79 15 M10 65
VTE3606 Si1 22 x54 30mm 8mm 79 15 M10 65
VTE3637 1 22 x54 1" 1/4" 79 15 3/8" 65
VTE3637 Si1 22 x54 1" 1/4" 79 15 3/8" 65
VTE3601 s2 24 x 61 20mm 6mm 82 20 M8 71
VTE3601 2 24 x 61 20mm 6mm 82 20 M8 71
VTE3603 s2 24 x 61 25mm 8mm 82 20 M10 71
VTE3603 2 24 x 61 25mm 8mm 82 20 M10 71
VTE3607 S2 24 x 61 30mm 8mm 82 20 M10 71
VTE3607 2 24 x 61 30mm 8mm 82 20 M10 71
VTE3640 s2 24 x 61 1"1/4 5/16" 82 20 3/8" 71
VTE3640 2 24 x 61 1"1/4 5/16" 82 20 3/8" 71
VTE3604 3 27 x70 25mm 8mm 85 20 M10 80
VTE3608 3 27 x70 30mm 8mm 85 20 M10 80
VTE3641 3 27 x70 1"1/4 5/16" 85 20 3/8" 80
VTE3646 3 27 x70 1"3/8 5/16" 85 20 3/8" 80
VTE3605 4 27 x74.6 25mm 8mm 98 20 M12 85
VTE3605 s4 27 x74.6 25mm 8mm 98 20 M12 85
VTE3609 s4 27 x74.6 30mm 8mm 98 20 M12 85
VTE3609 4 27 x74.6 30mm 8mm 98 20 M12 85
VTE3616 s4 27 x74.6 35mm 10mm 98 20 M12 85
VTE3616 4 27 x74.6 35mm 10mm 98 20 M12 85
VTE3683 s4 27 x74.6 1"1/8 1/4" 98 20 3/8" 85
VTE3683 4 27 x74.6 1"1/8 1/4" 98 20 3/8" 85
VTE3642 27 x74.6 1" 1/4 1/4" 98 20 3/8" 85
VTE3642 s4 27 x74.6 1" 1/4 1/4" 98 20 3/8" 85
VTE3647 sS4 27 x74.6 1"3/8 5/16" 98 20 3/8" 85
VTE3647 27 x74.6 1" 3/8 5/16" 98 20 3/8" 85
VTE3610 5 30.2 x 80 30mm 8mm 96 20 M10 89
VTE3610 S5 30.2 x 80 30mm 8mm 96 20 M10 89
VTE3624 S5 30.2 x 80 40mm 12mm 96 20 M12 89
VTE3624 5 30.2 x 80 40mm 12mm 96 20 M12 89
VTE3648 S5 30.2 x 80 1" 3/8 5/16" 96 20 3/8" 89
VTE3648 5 30.2 x 80 1" 3/8 5/16" 96 20 3/8" 89
VTE3619 H7 30 x 92 35mm 10mm 105 20 M12 106
VTE3619 30 x 92 35mm 10mm 105 20 M12 106
VTE3626 6 30 x 92 40mm 12mm 105 20 M12 106
VTE3626 H7 30 x 92 40mm 12mm 105 20 M12 106
VTE3644 H7 30 x92 1"1/4 5/16" 105 20 3/8" 106
VTE3644 6 30 x92 1"1/4 5/16" 105 20 3/8" 106
VTE3649 H7 30x92 1" 3/8 5/16" 105 20 3/8" 106
VTE3649 6 30x92 1" 3/8 5/16" 105 20 3/8" 106
VTE3622 s9 35 x106.5 35mm 10mm 120 25 M12 117
VTE3622 8 35 x106.5 35mm 10mm 120 25 M12 117

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

7.14



PTO Italian Type

Outer yoke

Plain bore with keyway & threaded hole

Part no. Series Information
UJ size (mm)
VTE3622 A8 35 x106.5 35mm 10mm 120 25] M12 117

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.15

& S
=
32
=
o E
=&




PTO Italian Type

UJ size (mm)

VTE3802 s1 22 x54 25mm 8mm 92 16 65 M12
VTE3802 1 22 x54 25mm 8mm 92 16 65 M12
VTE3806 S1 22 x54 30mm 8mm 92 16 65 M12
VTE3806 1 22 x54 30mm 8mm 92 16 65 M12
VTE3827 1 22 x54 1" 1/4" 92 16 65 M12
VTE3827 si1 22 x54 1" 1/4" 92 16 65 M12
VTE3803 s2 24 x 61 25mm 8mm 97 18 71 M12
VTE3803 2 24 x 61 25mm 8mm 97 18 71 M12
VTE3807 s2 24 x 61 30mm 8mm 97 18 71 M12
VTE3807 2 24 x 61 30mm 8mm 97 18 71 M12
VTE3828 s2 24 x 61 1" 1/4" 97 18 71 M12
VTE3828 2 24 x 61 1" 1/4" 97 18 71 M12
VTE3804 3 27 x70 25mm 8mm 102 18 80 M12
VTE3808 3 27 x70 30mm 8mm 102 18 80 M12
VTE3805 s4 27 x74.6 25mm 8mm 109 18 85 M12
VTE3805 4 27 x74.6 25mm 8mm 109 18 85 M12
VTE3809 4 27 x74.6 30mm 8mm 109 18 85 M12
VTE3809 s4 27 x74.6 30mm 8mm 109 18 85 M12
VTE3814 4 27 x74.6 35mm 10mm 109 18 85 M12
VTE3814 s4 27 x74.6 35mm 10mm 109 18 85 M12
VTE3850 s4 27 x74.6 1" 1/4" 109 18 85 M12
VTE3850 4 27 x74.6 1" 1/4" 109 18 85 M12
VTE3832 s4 27 x74.6 1" 1/4 5/16" 109 18 85 M12
VTE3832 4 27 x74.6 1" 1/4 5/16" 109 18 85 M12
VTE3698 S5 30.2 x 80 40mm 12mm 112 20 89 M12
VTE3698 5 30.2 x 80 40mm 12mm 112 20 89 M12
VTE3816 H7 30x92 35mm 10mm 122 20 106 M12
VTE3816 6 30x92 35mm 10mm 122 20 106 M12
VTE3819 6 30x92 40mm 12mm 122 20 106 M12
VTE3819 H7 30 x92 40mm 12mm 122 20 106 M12
VTE3834 H7 30 x92 1"1/4 5/16" 122 20 106 M12
VTE3834 6 30 x92 1"1/4 5/16" 122 20 106 M12
VTE3839 H7 30 x92 1" 3/8 5/16" 122 20 106 M12
VTE3839 6 30 x92 1" 3/8 5/16" 122 20 106 M12
VTE3840 Hs 35x94 1" 3/8 5/16" 122 20 106 M12
VTE3840 7 35x94 1" 3/8 5/16" 122 20 106 M12
VTE3840 S8 35x94 1" 3/8 5/16" 122 20 106 M12
VTE3818 s9 35x106.5 35mm 10mm 125 20 117 M12
VTE3818 A8 35 x106.5 35mm 10mm 125 20 117 M12
VTE3818 8 35 x 106.5 35mm 10mm 125 20 117 M12
VTE3824 A8 35 x 106.5 45mm 14mm 125 20 117 M12
VTE3824 8 35 x 106.5 45mm 14mm 125 20 117 M12
VTE3824 s9 35 x106.5 45mm 14mm 125 20 117 M12

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.16 www.vapormatic.com



PTO Italian Type

Series Information
UJ size (mm)

VTE3702 s1 22 x54 25mm 8mm 92 16 65 M12
VTE3702 1 22 x54 25mm 8mm 92 16 65 M12
VTE3703 2 24 x61 25mm 8mm 97 18 71 M12
VTE3703 s2 24 x61 25mm 8mm 97 18 71 M12
VTE3707 2 24 x61 30mm 8mm 97 18 71 M12
VTE3707 s2 24 x61 30mm 8mm 97 18 71 M12
VTE3766 2 24 x61 3/4" 3/16" 97 18 71 M12
VTE3766 S2 24 x61 3/4" 3/16" 97 18 71 M12
VTE3708 3 27 x70 30mm 8mm 102 18 80 M12
VTE3712 3 27 x70 35mm 10mm 102 18 80 M12
VTE3713 s4 27 x74.6 35mm 10mm 109 18 85 M12
VTE3713 4 27 x74.6 35mm 10mm 109 18 85 M12
VTE3715 H7 30x92 35mm 10mm 122 20 106 M12
VTE3715 6 30x92 35mm 10mm 122 20 106 M12
VTE3718 H7 30x92 40mm 12mm 122 20 106 M12
VTE3718 6 30x92 40mm 12mm 122 20 106 M12
VTE3722 H7 30x92 45mm 14mm 122 20 106 M16
VTE3722 6 30x92 45mm 14mm 122 20 106 M16
VTE3740 H7 30x92 1.3/8" 12mm 122 20 106 M12
VTE3740 6 30x92 1.3/8" 12mm 122 20 106 M12
VTE3742 H7 30x92 1.3/4" 3/8" 122 20 106 M16
VTE3742 6 30x92 1.3/4" 3/8" 122 20 106 M16
VTE3724 A8 35x106.5 45mm 14mm 125 20 117 M16
VTE3724 s9 35x106.5 45mm 14mm 125 20 117 M16
VTE3724 8 35x106.5 45mm 14mm 125 20 117 M16

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.17



PTO Italian Type

Part no. Series Information

UJ size (mm) D (mm) Hole spacing
VTE4801 2 24 x 61 54 90 8.5 71 4 x90°
VTE4801 s2 24 x 61 54 90 8.5 71 4 x90°
VTE4803 4 27 x74.6 64 100 10.5 85 4 x90°
VTE4803 s4 27 x74.6 64 100 10.5 85 4 x90°
VTE4823 4 27 x74.6 64 100 10.5 85 6 x 60°
VTE4823 s4 27 x74.6 64 100 10.5 85 6 x 60°
VTE7915 4 27 x74.6 64 180 10.5 85 4 pairs x 90°
VTE7915 s4 27 x74.6 64 180 10.5 85 4 pairs x 90°
VTE4805 6 30x92 77 130 125 106 4 x90°
VTE4805 H7 30x92 77 130 125 106 4 x90°
VTE7917 6 30x92 77 200 10.5 106 4 pairs x 90°
VTE7917 H7 30 x 92 77 200 10.5 106 4 pairs x 90°
VTE7919 8 35 x 106.5 - 200 10.5 117 4 pairs x 90°
VTE7919 s9 35 x 106.5 - 200 10.5 117 4 pairs x 90°

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.18 www.vapormatic.com



PTO Italian Type

A

Part no. Series Information

UJ size (mm) A D (mm) L (mm) X (mm) Torque (Nm) Plates Spare plate
VTE7014 4 27 x74.6 13/8", 6 180 143 90 900 2 VTE7902
VTE7015 5 30.2 x 80 13/8", 6 180 143 90 900 2 VTE7902
VTE7049 5 30.2 x 80 13/8", 6 180 161 90 1200 4 VTE7902
VTE7025 5 30.2 x 80 13/8", 6 200 143 90 1200 2 VTE7903
VTE7013 6 30x92 13/8", 6 180 150 103 900 2 VTE7902
VTE7050 6 30x92 13/8", 6 180 167 103 1450 4 VTE7902
VTE7026 6 30x92 13/8", 6 200 150 103 1200 2 VTE7903
VTE7052 6 30x92 13/8", 6 200 167 103 1450 4 VTE7903
VTE7071 6 30x92 13/8", 21 200 167 103 1450 4 VTE7903
VTE7051 6 30x92 13/4", 6 180 173 103 1450 4 VTE7902
VTE7066 6 30x92 13/4", 6 200 150 103 1200 2 VTE7903
VTE7086 6 30 x92 13/4", 6 200 173 103 1500 4 VTE7903
VTE7008 6 30x92 1 3/4", 20 200 150 103 1200 2 VTE7903
VTE7072 6 30x92 1 3/4", 20 200 173 103 1450 4 VTE7903
VTE7047 7 35x94 13/8", 6 200 167 103 1700 4 VTE7903
VTE7073 7 35x94 13/8", 21 200 167 103 1700 4 VTE7903
VTE7055 7 35x94 13/4", 6 180 173 103 1500 4 VTE7902
VTE7067 7 35x94 13/4", 6 200 150 103 1200 2 VTE7903
VTE7087 7 35x94 13/4", 6 200 173 103 1700 4 VTE7903
VTE7054 8 35 x 106.5 13/8", 6 180 170 121 1500 4 VTE7903
VTE7054 A8 35 x 106.5 13/8", 6 180 170 121 1500 4 VTE7903
VTE7028 A8 35 x 106.5 13/8", 6 200 154 121 1200 2 VTE7903
VTE7028 8 35 x 106.5 13/8", 6 200 154 121 1200 2 VTE7903
VTE7048 8 35 x 106.5 13/8", 6 200 168 121 2000 4 VTE7903
VTE7048 A8 35 x 106.5 13/8", 6 200 168 121 2000 4 VTE7903
VTE7075 A8 35 x 106.5 13/8", 21 200 168 121 2000 4 VTE7903
VTE7075 8 35 x 106.5 13/8", 21 200 168 121 2000 4 VTE7903
VTE7056 A8 35 x106.5 13/4", 6 180 176 121 1500 4 VTE7902
VTE7056 8 35 x106.5 13/4", 6 180 176 121 1500 4 VTE7902
VTE7070 8 35 x 106.5 13/4", 6 200 163 124 1200 2 VTE7903
VTE7088 8 35 x 106.5 13/4", 6 200 174 121 2000 4 VTE7903
VTE7088 A8 35 x 106.5 13/4", 6 200 174 121 2000 4 VTE7903
VTE7076 A8 35 x 106.5 1 3/4", 20 200 174 121 2000 4 VTE7903
VTE7076 8 35 x 106.5 1 3/4", 20 200 174 121 2000 4 VTE7903
VTE7059 9 41 x108 13/4", 6 200 202 122 2000 4 VTE7903
VTE7060 9 41 x108 1 3/4", 20 200 202 122 2000 4 VTE7903
VTE7023 10 41x118 13/8", 6 200 188 132 2000 4 VTE7903
VTE7062 10 41x118 13/8", 21 200 188 132 2000 4 VTE7903
VTE7063 10 41x118 13/4", 6 200 194 132 2000 4 VTE7903
VTE7064 10 41x118 1 3/4", 20 200 194 132 2000 4 VTE7903

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.19



PTO Italian Type

Part no. Series Information

UJ size (mm) Torque rating

(Nm)
VTE7150 1 22 x55 13/8", 6 95 119 38 73 300 1
VTE7160 1 22 x55 13/8", 6 95 138 57 73 600 2
VTE7101 2 24 x 61 13/8", 6 95 119 38 73 300 1
VTE7161 2 24 x 61 13/8", 6 95 138 57 73 600 2
VTE7171 2 24 x 61 13/8", 6 95 157 76 73 900 8
VTE7114 3 27 x70 13/8", 6 95 142 57 86 600 2
VTE7162 4 27 x74.6 13/8", 6 95 142 57 86 600 2
VTE7172 4 27 x74.6 13/8", 6 95 161 76 86 900 3
VTE7182 4 27 x74.6 13/8", 6 95 180 95 86 1200 4
VTE7102 5 30.2 x 80 13/8", 6 95 142 57 93 600 2
VTE7138 5 30.2 x 80 13/8", 6 95 165 76 93 900 3
VTE7139 5 30.2x 80 13/8", 6 95 203 114 93 1500 5
VTE7174 6 30x92 13/8", 6 95 171 76 106 900 3

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.20 www.vapormatic.com



PTO Italian Type

Series Information

UJ size (mm) Shear bolt
VTE7340 2 24 x 61 13/8", 6 68 106 42 71 M6 x 50 780
VTE7302 2 24 x 61 13/8", 6 68 106 48 71 M6 x 50 900
VTE7320 2 24 x 61 13/8", 21 68 106 48 71 M6 x 50 900
VTE7303 3 27 x70 13/8", 6 68 117 40 86 M8 x 50 1300
VTE7346 4 27 x74.6 13/8", 6 68 117 48 86 M8 x 50 1600
VTE7304 4 27 x74.6 13/8", 6 68 117 55 86 M8 x 50 1700
VTE7347 4 27 x74.6 13/8", 6 68 117 52 86 M8 x 50 1730
VTE7341 4 27 x74.6 13/8", 6 68 117 56 86 M8 x 50 1860
VTE7322 4 27 x74.6 13/8", 21 68 117 55 86 M8 x 50 1700
VTE7305 5 30.2 x 80 13/8", 6 68 117 46 88 M10 x 60 2100
VTE7306 6 30x92 13/8", 6 80 133 55 112 M10 x 60 2500
VTE7324 6 30 x92 13/8", 21 80 133 55 112 M10 x 60 2500
VTE7316 6 30x92 13/4", 6 80 133 55 112 M10 x 60 2500
VTE7311 7 35x94 13/8", 6 80 133 49 124 M12 x 70 3000
VTE7326 7 35x94 13/8", 21 80 133 49 112 M12 x 70 3000
VTE7325 7 35x94 13/4", 6 80 133 49 112 M12 x 70 3000
VTE7308 8 35 x 106.5 13/8", 6 80 145 57 124 M12 x 70 3500
VTE7308 A8 35 x 106.5 13/8", 6 80 145 57 124 M12 x 70 3500
VTE7327 8 35 x 106.5 13/8", 21 80 145 57 124 M12 x 70 3500
VTE7327 A8 35 x 106.5 13/8", 21 80 145 57 124 M12 x 70 3500
VTE7318 8 35 x 106.5 13/4", 6 80 145 57 124 M12 x 70 3500
VTE7318 A8 35 x 106.5 13/4", 6 80 145 57 124 M12 x 70 3500

|I|'l‘-.|||

]

Part no. Series Information

UJ size (mm) A (Spline) Max shear ~ Max overrun

(Nm) (Nm)

VTE7230 5 30.2x80 13/8", 6 68 180 56 88 M8 x 50 1860 3000
VTE7344 6 30x92 13/4", 6 68 - 55 88 M10 x 60 2500 2500
VTE7345 8 35 x 106.5 13/8", 6 78 199 57 120 M12 x 70 3500 3500
VTE7345 A8 35 x 106.5 13/8", 6 78 199 57 120 M12 x 70 3500 3500

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.21



PTO lItalian Type

Part no. Series Information

L1 (mm) Torque rating (Nm) Bolt size
VTE7400 4 13/8,6 168 145 83 2000 6xM12 RH
VTE7401 4 13/8,6 168 145 83 2500 6xM12 RH
VTE7402 4 13/8,21 168 145 83 2000 6xM12 RH
VTE7403 4 13/4,6 168 145 83 2000 6xM12 RH
VTE7404 4 13/4,6 168 145 83 2500 6xM12 RH
VTE7405 4 13/4,20 168 145 83 2500 6xM12 RH

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.22 www.vapormatic.com



Series Information

PTO Italian Type

UJ size (mm) Rotation
VTE7250 1 22 x55 13/8", 6 91 149 54 73 RH 3000
VTE7251 2 24 x 61 13/8", 6 91 149 54 73 RH 3000
VTE7213 3 27 x70 13/8", 6 91 154 54 86 RH 3000
VTE7252 4 27 x74.6 13/8", 6 91 154 54 86 RH 3000
VTE7201 5 30.2 x 80 13/8", 6 91 157 54 93 LH 3000
VTE7225 5 30.2x 80 13/8", 6 91 157 54 93 RH 3000
VTE7205 5 30.2x 80 13/8", 21 91 157 54 93 LH 3000
VTE7208 6 30x92 13/8", 6 91 167 54 106 LH 3000
VTE7226 6 30x92 13/8", 6 91 167 54 106 RH 3000
VTE7206 6 30x92 13/8", 21 91 167 54 106 LH 3000
VTE7260 6 30x92 13/8", 21 91 167 54 106 RH 3000
VTE7258 7 35x94 13/8", 6 91 167 54 106 RH 3000
VTE7228 8 35 x 106.5 13/8", 6 91 184 54 117 RH 3000
VTE7228 A8 35 x 106.5 13/8", 6 91 184 54 117 RH 3000
VTE7271 8 35 x 106.5 13/8", 6 91 184 54 117 RH 3000
VTE7271 A8 35 x 106.5 13/8", 6 91 184 54 117 RH 3000

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com

7.23



PTO Italian Type

Part no. Series Information

UJ size (mm) Shaft size A (mm)
VTE1801 2 24 x 61 13/8", 6 29 47 179 8 73
VTE1803 4 27 x74.6 13/8", 6 36 54 207 8 86
VTE1804 5 30.2 x 80 13/8", 6 45 61 208 10 93
VTE1805 6 30x92 13/8", 6 45 67 227 10 106
VTE1806 7 35x94 13/8", 6 45 67 227 10 106
VTE1840 A7 30.2 x 106.5 13/8", 6 45 67 245 10 117
VTE1841 8 35 x 106.5 13/8", 6 54 76 245 12 117

Part no. Series Information

UJ size (mm) Shaft size L (mm) S (mm)
VTE1810 1 22 x54 13/8", 6 325 47 171 8 73
VTE1811 2 24 x 61 13/8", 6 36 54 179 8 73
VTE1812 3 27 x70 13/8", 6 435 61 187 8 86
VTE1813 4 27 x74.6 13/8", 6 435 61 207 8 86
VTE1814 5 30.2 x 80 13/8", 6 51.6 70 208 10 93
VTE1815 6 30 x92 13/8", 6 54 76 227 10 106
VTE1816 7 35x94 13/8", 6 54 76 227 10 106
VTE1868 8 35 x 106.5 13/8", 6 63 88 245 12 117
VTE1818 A8 35 x 106.5 13/8", 6 54 76 245 10 117

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.24 www.vapormatic.com



PTO Italian Type

Series Information

Shaft length (mm) L2 (mm) Inner guard OD (mm) Outer guard OD (mm)
VTE1500 2 860 135 645 130 55.8 x2.25 61 x2.25
VTE1500 1 860 135 645 130 55.8 x2.25 61 x2.25
VTE1501 1 1210 135 995 130 55.8 x2.25 61 x2.25
VTE1501 2 1210 135 995 130 55.8 x2.25 61 x2.25
VTE1520 1 1760 135 1545 130 55.8 x2.25 61 x2.25
VTE1520 2 1760 135 1545 130 55.8 x2.25 61 x2.25
VTE1502 4 860 160 603 145 61 x 2.25 67 x2.5
VTE1502 3 860 160 603 145 61 x2.25 67 x2.5
VTE1503 3 1210 160 953 145 61 x2.25 67 x2.5
VTE1503 4 1210 160 953 145 61 x2.25 67 x2.5
VTE1521 3 1760 160 1503 145 61 x2.25 67 x2.5
VTE1521 4 1760 160 1503 145 61 x2.25 67 x2.5
VTE1504 7 860 180 583 170 75.5x2.5 81.5x2.5
VTE1504 A7 860 180 583 170 75.5x%x2.5 81.5x2.5
VTE1504 6 860 180 583 170 755x2.5 81.5x2.5
VTE1504 5 860 180 583 170 75.5x%x2.5 81.5x2.5
VTE1505 A7 1210 180 933 170 75.5x%x2.5 81.5x2.5
VTE1505 5 1210 180 933 170 75.5x%x2.5 81.5x2.5
VTE1505 7 1210 180 933 170 75.5x%x2.5 81.5x2.5
VTE1505 6 1210 180 933 170 755x2.5 81.5x2.5
VTE1522 A7 1760 180 1483 170 75.5x%x2.5 81.5x2.5
VTE1522 5 1760 180 1483 170 75.5x%x2.5 81.5x2.5
VTE1522 7 1760 180 1483 170 755x2.5 81.5x2.5
VTE1522 6 1760 180 1483 170 755x2.5 81.5x2.5
VTE1510 8 860 205 563 190 90x2.5 96 x 2.5
VTE1510 10 860 205 563 190 90x2.5 96 x 2.5
VTE1510 A8 860 205 563 190 90 x2.5 96 x 2.5
VTE1510 9 860 205 563 190 90 x2.5 96 x 2.5
VTE1511 9 1210 205 913 190 90x2.5 96 x 2.5
VTE1511 10 1210 205 913 190 90x2.5 96 x 2.5
VTE1511 A8 1210 205 913 190 90x2.5 96 x 2.5
VTE1511 8 1210 205 913 190 90x2.5 96 x 2.5

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.25



PTO Italian Type

Series Information

Shaft length L2 (mm) Inner guard OD Outer guard OD Information
(mm) (mm) (mm)

VTE1560 3 1210 160 160 968 145 61 x 2.25 67 x2.5 long cone
VTE1560 4 1210 160 160 968 145 61 x 2.25 67 x2.5 long cone
VTE1561 5 1210 180 180 938 170 75.5x2.5 81.5x2.5 long cone
VTE1561 6 1210 180 180 938 170 75.5x2.5 81.5x2.5 long cone
VTE1561 7 1210 180 180 938 170 75.5%x2.5 81.5x2.5 long cone
VTE1561 A7 1210 180 180 938 170 75.5%x2.5 81.5x2.5 long cone
VTE1561 A8 1210 180 180 938 170 75.5%x2.5 81.5x2.5 long cone

Series Information

Shaft length (mm) L2 (mm) Inner guard OD (mm) Outer guard OD (mm)
VTE1514 1 1210 135 995 130 55.8 x2.25 61 x2.25
VTE1514 2 1210 135 995 130 55.8 x2.25 61 x2.25
VTE1515 3 1210 160 953 145 61 x2.25 67 x2.5
VTE1515 4 1210 160 953 145 61 x2.25 67 x2.5
VTE1512 5 1210 180 933 170 755x2.5 81.5x2.5
VTE1512 6 1210 180 933 170 755x2.5 81.5x2.5
VTE1512 7 1210 180 933 170 755x2.5 81.5x2.5
VTE1512 A8 1210 180 933 170 755x2.5 81.5x2.5
VTE1512 A7 1210 180 933 170 755x2.5 81.5x2.5
VTE1513 10 1210 205 913 190 90x2.5 96 x 2.5
VTE1513 9 1210 205 913 190 90x2.5 96 x 2.5
VTE1513 8 1210 205 913 190 90x2.5 96 x 2.5
VTE1536 s2 1210 146 1072 102 75 81
VTE1536 s4 1210 146 1072 102 75 81
VTE1536 S5 1210 146 1072 102 75 81
VTE1537 s6 1210 160 1069 101 90 96
VTE1537 H7 1210 160 1069 101 90 96
VTE1538 s8 1210 160 1055 120 90 96
VTE1538 H8 1210 160 1055 120 90 96
VTE1539 s9 1210 180 1043 130 102 108
VTE1543 SH 1210 201 1036 116 102 108
VTE1543 S0 1210 201 1036 116 102 108

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.26 www.vapormatic.com



PTO Italian Type

Part no. Series Information

id (mm) Groove type
VTE1607 1 33.0&41.0 Square
VTE1603 2 40.5 & 47.0 Square
VTE1604 3 45.0 & 52.0 Square
VTE1604 4 45.0 & 52.0 Square
VTE1605 5 52.0 & 61.5 Square
VTE1606 6 59.0 & 67.0 Square
VTE1606 7 59.0 & 67.0 Square
VTE1606 A7 59.0 & 67.0 Square
VTE1611 8 67.0 & 79.5 Square
VTE1611 9 67.0 & 79.5 Square
VTE1611 10 67.0 & 79.5 Square
VTE1611 A8 67.0 & 79.5 Square

Part no. Series Information

Shaft length (mm) L2 (mm) Inner guard OD (mm) Outer guard
VTE1548 4 1210 140/ 190 950 140/ 210 60 66
VTE1549 6 1210 160/ 200 930 140/ 220 75 82
VTE1553 8 1210 190/ 240 880 190/ 260 90 96
VTE1544 s2 1210 146/ 181 1072 102/ 222 75 81
VTE1544 s4 1210 146 /181 1072 102/ 222 75 81
VTE1545 s6 1210 160/ 211 1069 101/ 255 90 96
VTE1545 H7 1210 160/ 211 1069 101/ 255 90 96
VTE1546 s8 1210 160/ 233 1055 120/ 283 90 96
VTE1546 H8 1210 160/ 233 1055 120/ 283 90 96
VTE1547 s9 1210 201/ 233 993 116/ 306 102 108
VTE1547 SH 1210 201/ 233 993 116/ 306 102 108

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 7.27



PTO Italian Type

Part no. Series Information Part no. Series Information

Length (mm) Product range Length (mm) Product range
VTE1700 6 550 Energy VTE1701 A7 550 Evolution
VTE1700 A8 550 Energy VTE1701 10 550 Evolution
VTE1700 A7 550 Energy VTE1701 9 550 Evolution
VTE1700 10 550 Energy VTE1701 8 550 Evolution
VTE1700 9 550 Energy VTE1701 7 550 Evolution
VTE1700 8 550 Energy VTE1701 A8 550 Evolution
VTE1700 1 550 Energy VTE1701 6 550 Evolution
VTE1700 5 550 Energy VTE1701 5 550 Evolution
VTE1700 4 550 Energy VTE1701 4 550 Evolution
VTE1700 3 550 Energy VTE1701 3 550 Evolution
VTE1700 2 550 Energy VTE1701 2 550 Evolution
VTE1700 7 550 Energy VTE1701 1 550 Evolution

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.28 www.vapormatic.com



Series Information

PTO Italian Type

UJ size (mm) Profile Min length (mm)  Max length (mm) Tractor end Implement end
VTE1089 1 22x54 Triangular 510 700 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1092 1 22 x54 Triangular 610 860 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1090 1 22 x54 Triangular 760 950 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1008 1 22 x54 Triangular 860 1215 13/8", 6 QR pin13/8", 6 12kwW 210Nm
VTE1009 1 22 x54 Triangular 1210 1755 13/8", 6 QR pin 13/8", 6 12kwW 210Nm
VTE1000 2 23.8x61.3 Triangular 860 1215 13/8", 6 QR pin13/8", 6 15kW 270Nm
VTE1001 2 23.8x61.3 Triangular 1210 1740 13/8", 6 QR pin13/8", 6 15kW 270Nm
VTE1002 4 27 x74.6 Triangular 610 845 13/8", 6 QR pin 13/8", 6 26kW 460Nm
VTE1003 4 27 x74.6 Triangular 860 1215 13/8", 6 QR pin 1 3/8", 6 26kW 460Nm
VTE1004 4 27 x74.6 Triangular 1210 1740 13/8", 6 QR pin 13/8", 6 26kW 460Nm
VTE1036 5 30.2 x 80 Triangular 860 1215 13/8", 6 QR pin 13/8", 6 35kW 620Nm
VTE1005 6 30 x 92 Triangular 860 1215 13/8", 6 QR pin13/8", 6 47KW 830Nm
VTE1006 6 30x92 Triangular 1210 1740 13/8", 6 QR pin13/8", 6 47KW 830Nm
VTE1054 6 30x92 Triangular 1610 2254 13/8", 6 QR pin13/8", 6 47KW 830Nm
VTE1007 8 35 x 106.5 Triangular 860 1215 13/8", 6 QR pin13/8", 6 70kW 1249Nm
VTE1063 8 35 x 106.5 Triangular 1210 1740 13/8", 6 QR pin 13/8", 6 70kW 1240Nm

Series Information

UJ size (mm) Profile Min length (mm)  Max length (mm) Tractor end Implement end
VTE1108 1 22 x54 Triangular 860 1215 13/8,6 QRpinl3/8",6 12kwW 210Nm
VTE1109 1 22 x54 Triangular 1210 1755 13/8,6 QRpinl3/8",6 12kW 210Nm
VTE1100 2 23.8x61.3 Triangular 860 1215 13/8,6 QRpinl3/8",6 15kW 270Nm
VTE1101 2 23.8x61.3 Triangular 1210 1740 13/8", 6 QR pin13/8",6 15kW 270Nm
VTE1102 4 27 x74.6 Triangular 610 845 13/8,6 QRpinl3/8",6 26KW 460Nm
VTE1103 4 27 x74.6 Triangular 860 1215 13/8",6 QRpinl3/8",6 26KW 460Nm
VTE1104 4 27 x74.6 Triangular 1210 1740 13/8", 6 QR pin13/8", 6 26kW 460Nm
VTE1136 5 30.2 x 80 Triangular 860 1215 13/8", 6 QR pin13/8",6 35kW 620Nm
VTE1105 6 30 x 92 Triangular 860 1215 13/8", 6 QR pin13/8", 6 47kW 830Nm
VTE1106 6 30 x 92 Triangular 1210 1740 13/8",6 QRpinl3/8",6 47KW 830Nm
VTE1154 6 30 x 92 Triangular 1610 2254 13/8", 6 QR pin13/8",6 47kW 830Nm
VTE1107 8 35 x 106.5 Triangular 860 1215 13/8", 6 QR pin13/8", 6 70kW 1240Nm

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com

7.29



PTO Italian Type

Part no. Series Information

UJ size (mm) Min length (mm) Max length (mm) Tractor end Implement end Safety device rating
VTE1038 5 30.2x 80 860 1215 QR pin13/8", 6 13/8",6 SB & ORC 1860Nm
VTE1138 5 30.2x 80 860 1215 Collar 1 3/8", 6 13/8",6 SB & ORC 1860Nm

Series Information

UJ size (mm) Min length (mm) Max length (mm) Tractor end Implement end Safety device rating
VTE1085 4 27 x74.6 1010 1415 1 3/8" plain shaft 13/8",6 SB 1700Nm
VTE1039 4 27 x74.6 1110 1595 QR pin13/8", 6 13/8",6 SB 1700Nm
VTE1088 4 27 x74.6 1110 1595 QR pin13/8", 6 13/8",6 SB 2920Nm
VTE1139 4 27 x74.6 1110 1595 Collar 1 3/8", 6 13/8",6 SB 1700Nm
VTE1037 5 30.2 x 80 860 1215 QR pin13/8", 6 13/8",6 SB 2100Nm
VTE1137 5 30.2 x 80 860 1215 Collar 1 3/8", 6 13/8", 6 SB 2100Nm
VTE1050 6 30 x92 860 1210 QR pin13/8", 6 13/8", 6 SB 2500Nm
VTE1069 6 30 x92 1210 1740 QR pin13/8",6 13/8",6 SB 2500Nm
VTE1053 6 30 x 92 1510 2200 QR pin13/8", 6 13/8",6 SB 2500Nm
VTE1084 6 30x92 1210 1740 QR pin13/8", 21 13/4", 20 SB 2500Nm
VTE1150 6 30x92 860 1210 Collar 1 3/8", 6 13/8",6 SB 2500Nm
VTE1153 6 30x92 1510 2200 Collar 1 3/8", 6 13/8",6 SB 2500Nm

Part no. Series Information
UJ size (mm) Min length (mm) Max length (mm) Tractor end Implement end Safety device rating

VTE1040 6 30x92 1010 1415 QR pin13/8", 6 13/8",6 ACC 2000Nm

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
7.30 www.vapormatic.com



PTO Components

Yoke parts
QR pin kits 8.1
Collar kit 8.1
Roll pins 8.2
Shear bolt unit parts
Shear bolt 8.2
Shear bolt nut 8.2
QR pin kit 8.2
Over run clutch parts
Collar kit 8.3
Spring & key kit 8.3
Shear bolt unit with over run
Collar kit 8.3
Spring & key kit 8.3
Shear bolt 8.3
Shear bolt nut 8.3
Ratchet clutch parts
Spring & cam kit 8.4
Collar kit 8.4
Sealing ring 8.4
Supporting ring 8.4
Circlip 8.4
Friction clutch parts
Collar kit 8.5
Conic bolt 8.5
Friction plate 8.5
Inner plate 8.5
Spring 8.5
Sleeve 8.5
Flange yoke 8.6

Continued over page...

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

www.vaporm atic.com



PTO Components

Automatic cam clutch parts
Flange yoke 8.6
Cam 8.6
Circlip 8.6
Cam sleeve 8.7
Conic bolt 8.7
Cam and spring pack 8.7
Seal 8.7

Universal over run clutch

Collar kit 8.7
Spring & key kit 8.7

Universal friction clutch

Spring 8.8
Sleeve 8.8
Splined hub 8.8
Inner plate 8.8
Friction plate 8.8
Conic bolt 8.8

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com


http://www.vapormatic.com/

PTO Components

zé e e Ny
j o0 R
| ii o o

Part no. Series Information Part no. Series Information

Suitable for Suitable for

VTE3900 + Hardy Spicer yokes VTE3902 + Bypy yokes

Part no. Series Information Part no. Series Information
Suitable for Suitable for
VTE3904 + Bypy yokes VTE3907 + Walterscheid yokes

Part no. Series Information Part no. Series Information
Suitable for Suitable for

VTE3901 + Vapormatic/Benzi 1 1/8" and 1 3/8" yokes VTE3908 + Vapormatic/Benzi 1 /3/4" yokes

Part no. Series Information Part no. Series Information
Suitable for Suitable for
VTE3920 + Vapormatic/Benzi 1 3/8" plastic collar VTE3909 + Vapormatic/Benzi 1 3/8" steel collar
VTE3921 + Vapormatic/Benzi 1 3/4" steel collar

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 8.1



PTO Components

N\

Part no. Series Information

Diameter (mm) Length (mm)
VLF1316 + 8 50
VLF1317 + 60 8
VLF1318 + 8 70
VLF1320 + 10 80
VLF1321 + 10 65
VLF1322 + 10 75
VLF1325 + 12 80

Series Information Part no. Series Information
Thread Length (mm) Thread
VLG1833 + M6 50 8.8 VLG4234 + M6 8.8
VLG1838 + M8 50 8.8 VLG4235 + M8 8.8
VLG1847 + M10 60 8.8 VLG4236 + M10 8.8
VLG1859 + M12 70 8.8 VLG4237 + M12 8.8

Part no. Series Information Part no. Series Information
Suitable for

VTE3901 + Vapormatic/Benzi 1 1/8" and 1 3/8" yokes VTE3908 + Vapormatic/Benzi 1 /3/4" yokes

Suitable for

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
8.2 www.vapormatic.com



PTO Components

Part no. Series Information Part no. Series Information
Suitable for Length (mm) Width (mm) Step size (mm)

VTE7931 + Vapormatic/Benzi 1 3/8" VTE7951 + 37.8 13 7mm x5

Part no. Series Information Part no. Series Information
Suitable for Length (mm) Width (mm) Step size (mm)

VTE7931 + Vapormatic/Benzi 1 3/8" VTE7951 + 37.8 13 7mm x5

Part no. Series Information Part no. Series Information

Thread Length (mm) Thread Grade
VLG1833 + M6 50 8.8 VLG4234 + M6 8.8
VLG1838 + M8 50 8.8 VLG4235 + M8 8.8
VLG1847 + M10 60 8.8 VLG4236 + M10 8.8
VLG1859 + M12 70 8.8 VLG4237 + M12 8.8

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 8.3



PTO Components

Part no. Series Information

Pawl size (mm) Pawl quantity Spring size - large (mm) Spring size - small (mm) Spring quantity
VTE7930 + 15.75 x 16.75 8 21x12.2 21x6.9 16

Part no. Series Information Part no. Series Information

Internal Maximum Thickness Number of

diameter outer (mm) lugs (mm)
(mm) diameter
(mm)

VTE7932 + 75 85 3.75 8

Suitable for

VTE7931 + Vapormatic/Benzi 1 3/8"

Part no. Series Information
Internal Maximum Thickness Number of

Part no. Series Information

Inner Diameter Outer Diameter Width (mm)
(mm) (mm)

diameter _ outer (mm) lugs (mm)
NI VTE7934 + 65 73 24

VTE7933 + 70 85 5} 8

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

8.4 www.vapormatic.com



PTO Components

Part no. Series Information Part no. Series Information

Suitable for Thread Length (mm) Suitable for
VTE7931 + Vapormatic/Benzi 1 3/8" VTE7812 + M12 71 Vapormatic 1 3/8"
VTE7813 + M14 71 Vapormatic 1 3/4"

a £

Part no. Series Information Part no. Series Information

ID (mm) OD (mm)  Thickness (mm) ID (mm) OD (mm)  Thickness (mm)
VTE7902 + 85 140 3.2 VTE7910 + 85 140
VTE7903 + 97 160 3.2 VTE7913 + 98 200 &
VTE7920 + 91 153 3

@ O

Part no. Series Information

Part no. Series Information
Overall length (mm) Overall diameter (mm)

Inner Diameter Outer Diameter Width (mm)
VTE7900 + 306 222 (mm) (mm)

VTE7912 + 56.1 64 12.5

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 8.5



PTO Components

Part no. Series Information

UJ size (mm) B (mm) D (mm) Hole spacing
VTE7915 + 27 x74.6 64 180 10.5 85 4 pairs x 90°
VTE7917 + 30x92 77 200 10.5 106 4 pairs x 90°
VTE7919 + 35 x 106.5 - 200 10.5 117 4 pairs x 90°

Part no. Series Information

UJ size (mm) B (mm) D (mm) Hole spacing
VTE7805 + 35 x 106.5 - 160 12.2 117 12 x 30°
VTE7800 + 32x76 66 160 12.2 89 6 x 60°
VTE7801 + 42 x104 130 160 12.2 121 12 x 30°

Part no. Series Information Part no. Series Information

VTE7802 + VTE7804 +

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
8.6 www.vapormatic.com



PTO Components

Part no. Series Information Part no. Series Information
Thread

VTE7803 + Length (mm) Suitable for
VTE7812 + M12 71 Vapormatic 1 3/8"
VTE7813 + M14 71 Vapormatic 1 3/4"

Part no. Series Information Part no. Series Information
Rated Torque (Nm) VTE7811 +

VTE7806 + 1500

VTE7807 + 1800

VTE7808 + 2000

VTE7809 + 2500

VTE7810 + 2900

Part no. Series Information Part no. Series Information
Suitable for Length (mm) Width (mm) Step size (mm)

VTE7931 + Vapormatic/Benzi 1 3/8" VTE7951 + 37.8 13 7mm x5

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 8.7



PTO Components

@

Part no. Series Information Part no. Series Information

Overall length (mm) Overall diameter (mm) Inner Diameter Outer Diameter Width (mm)
VTE7900 + 306 222 (mm) ()

VTE7912 + 56.1 64 11225

Part no. Series Information Part no. Series Information

Shaft size Outer diameter (mm) ID (mm) OD (mm)  Thickness (mm)
VTE7905 + 13/8"x6 140 VTE7910 + 85 140
VTE7906 + 13/8"x6 160 VTE7913 + 98 200 8
VTE7908 + 13/8"x6 160

Part no. Series Information Part no. Series Information

ID (mm) OD (mm)  Thickness (mm) Thread Length (mm) Suitable for
VTE7902 + 85 140 32 VTE7812 + M12 71 Vapormatic 1 3/8"
VTE7903 + 97 160 3.2

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment

8.8 www.vapormatic.com



PTO Accessories

Gearbox
90 Degree gearbox 9.1
180 Degree gearbox 9.1
Safety device
Friction clutch 9.2
Over run clutch 9.2
Automatic cam clutch 9.2
PTO equipment
Pressure washer kit 9.3
Pump 9.3
Pressure washer 9.3
Pump bearing 9.3
Drive coupling 9.3
Guard
Implement guard cone 9.4

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com


http://www.vapormatic.com/




PTO Accessories

Part no. Series Information
Ratio X (spline) Y (spline) Z (spline) Input Power (hp) Torque (Nm)  Speed (rpm)
VTES5801 + 11 25mm - 1.3/8"x 6 z 18-24 240 - 170 570 - 1000 Aluminium

Part no. Series Information

Ratio X (spline) Y (spline) Z (spline) Power (hp) Torque (Nm)  Speed (rpm)
VTE5803 + 1:1.92 1.3/8"x 6 1.3/8"x 6 1.3/8"x 6 X-Y-Z 46 - 71 610 - 510 540 - 1000 Cast
VTES5805 + 11 1.3/8"x 6 1.3/8"x 6 1.3/8"x 6 X-Y-Z 122-183 1620 - 1310 540 - 1000 Cast
VTE5806 + 1:3.08 1.3/8"x 6 1.3/8"x 6 1.3/8"x 6 X-Y 46 - 69 610 - 500 540 - 1000 Cast

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 9.1



PTO Accessories

Part no. Series Information

Male (spline) Female (spline) Max Torque (Nm) Plates Friction disc
VTE7005 + 1.3/8"x 6 1.3/8"x 6 900 2 VTE7902
VTE7006 + 1.3/8"x 6 1.3/8"x 6 1200 2 VTE7903
VTE7007 + 1.3/8"x 6 1.3/8"x 6 2000 4 VTE7903

Part no. Series Information
Female

VTE7200 + 1.3/8"x 6 1.3/8"x 6 174 RH

Part no. Series Information

mm) Torque rating (Nm) Bolt size Rotation
VTE7400 + 13/8,6 168 145 83 2000 6xM12 RH
VTE7401 + 13/8,6 168 145 83 2500 6xM12 RH
VTE7402 + 13/8,21 168 145 83 2000 6xM12 RH
VTE7403 + 13/4,6 168 145 83 2000 6xM12 RH
VTE7404 + 13/4,6 168 145 83 2500 6xM12 RH
VTE7405 + 13/4, 20 168 145 83 2500 6xM12 RH

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
9.2 www.vapormatic.com



PTO Accessories

Heavy duty PTO pressure washer kit. A high volume roller-vane pump, operates from
standard 1 3/8in 6 spline PTO shaft at up to 540rpm. Complete with 3m x 38mm (10ft x 1
1/2in) intake hose and 6m x 38mm (20ft x 1 1/2in) delivery hose and VTB1350 pump.

Part no. Series Information
VTB1250 + Pressure washer kit

PTO roller-vane pump c/w 1 3/8iin 6 spline quick release coupling. Output 53.4l//min at 0 PSI
to 31.61/min at 300 PSI. As used and supplied in VTB1050.

Part no. Series Information

VTB1150 + Pump c/w quick coupler

Part no. Series Information

VTB1050 + PTO pump pressure washer kit. A high quality roller-vane pump, operates from standard 1 3/8in 6 spline PTO shaft at up to
540rpm. Complete with 3m x 19mm (10ft x 3/4in) intake hose and 6m x 12.7mm (20ft x 1/2in) delivery hose and VTB1150

pump.

o

Part no. Information Part no. Information
OD (mm) ID (mm) OD (mm) ID (mm)

VLD3204 e 20 VLD3206 = = VTB1054 Fits keyed round shaft 24mm

diameter. 6.5mm keyway. Keyway length
51mm

Part no. Information

VTB1054 PTO coupling

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
www.vapormatic.com 9.3



PTO Accessories

Part no. Series Information

Cone length (mm)

VTE1540 + 58 200 200 150 150
VTE1541 + 58 240 240 150 160
VTE1542 + 58 275 350 250 150

ccess,

suitable for
Agricultural and
Industrial applications

See the full range and order online at: www.vapormatic.com

Original equipment manufacturers names and part numbers are quoted for reference purposes only and are only and are not intended to infer that our replacement parts are used as original equipment
9.4 www.vapormatic.com



	Blank Page
	Blank Page

